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¢ Fluids (ol ¢ blood, water, oil, coffee, tea, gasoline....

® Foods (l3¢) : rice, sugar, fruit, milk, bread, butter, cheese ....

® Raw materials (o> 5150) : wood, paper, glass, iron, silver, wool ....

® Gases (1) : oxygen, nitrogen, air, pollution, steam....

® General (_.30c) : furniture, mail, money, traffic....

® Academic subjects (225l slaars ) : chemistry, mathematics, physics, psychology, linguistics....

® Languages (l»,L;) : English, Chinese, Japanese, Spanish ....

® Abstract things ( !5 s.»lic) ¢ education, health, beauty, intelligence, knowledge, sleep, hope, music, time....
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aboy = boys = four boys
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Statistics is a branch of mathematics. ol Sl 5l slasles LT

To me, physics is a fascinating subject. I N FAPLT. IR A PRI
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Several police were injured during the rioting. LAk pghean ygd S el A1z

At least 40 people were killed. Aad 41aY i Fo Jils
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8. Example 1: The people attending the MBA conference in Tehran are not ......cooe.  (4F 5%+ (55wl MBA)

1) mathematic's professors 2) mathematics professor
3) mathematics professors 4) mathematic professors
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The boy is a teacher. = The boys are teachers.
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The boy is 25 years old. The boy is married ol Jobie sy oVl s Sl YOy o
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The boy is 25 years old. He is married. aad foloo 3f 3 )05 o fls YD puus T
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We live in Tehran. S o S5 ol o b
My wife and | are related. ol o laiglds g3 5l @ o
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He loves me. 3508 Cawgd 1y cyo gl
We buried him. 29,5 95 15 ol Lo
Between you and me (netl), he is smoking. SAS o M gl il HlesgS oy
Leaming English is easy for us. ol Sl Lo (sl oSl (5 50l

8. Example 2: Moby Dick is a mythical account of evil and revenge as shown by Captain Ahab’s pursuit of
P g p P

the whale that had wounded ......... earlier in life.
1) he 2) his 3) him 4) to him
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72 Example 3: For they, the most rewarding shipwreck found was the HMS Associated. (Y syl -MBA)
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The purse is hers. e o) Jlo S
I couldn't work in Mary's room. Hers is even smaller than yours or mine.
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Whose book is this? This book is mine. aal o Jlo QS ol Siial S st Jlo a8
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3 yha aa
wasd Jof myself ourselves
LAk g0 yourself yourselves

el oqw | himself / herself / itself | themselves
You yourself answered the telephone.

You answered the telephone yourself. 3 Sl il a4y @5 43
You yourselves are the guilty ones. A2d aia bt 345
He himself takes care of the baby. IS o il e doy 3 g5
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They amused each other by telling stories. UYL PN FK PP SN C KR P PE
Many witnesses contradicted one another. A2 O plia oo s lasals
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(k) It's eleven o'clock. FOWR | | P )
(4Loti) It's two miles to the town. sl pikile b &5 Jile g0
(Iy» asy) It i8 raining. Sl Gl lam
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There are two ways to do it. 3510 3925 o sl plagh (s, o 9
There seems to be two reasons for her success. sl 422N 3929 gl Ciiibga 51y SIS 98ty ga i 4y
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Correct: There's a lot of crime now in the city center.
Incorreet: It's a lot of crime now in the city center.
)13 3929 ped 35 pa 33 (Gibs pllp2 pol> Jl> o
Correct: There isn't much room inside his car.
Incorrect: It isn't much room inside his car.
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Incorrect ; Myteacherhesaid-the
eamprdacaston™

Correct : My teacher said that “listen to the news on the radio in order to practice listening
comprehension™,
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9. Example 4: 1 was very shocked to see how much my grandmother she had aged since that last time we visited.
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= FExample 5: The plants that they belong to the family of Ferns are quite varied in their size and structure.
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My wife sent me a flowe Sl yd J5 ope Sl pynod
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Send, bring, cook, buy, make, give, lend, sell, tell, post etc. souiS 0,L3] G gilinie 4 bxiy] i, o - Comeni Ob
1. We gave them a Chrismas card. o2 a5 0,15 b5 45 Lo
2. He bought his mother some flowers. w2 JE 5 0le sl of
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My wife sent a flower to me // We gave a Chrismas card to them // He bought some flowers for his mother.
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1. I asked her a lot of questions, but she didn’t answer. Sl lga gl (Jg pos 3 (ke SY15as ol 51 o0
2. He always went to the same park every evening. Cdy e Sk Gled 4y o gl jlasy aden of
3. We won a gold medal last year. o2 00y Mo Jloo G 4238l
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1.1 see him in the class every day. ieise NS 50 1 9l 59, 52
2. The sun rises in the East. WS g galb (5,0 5l and e
3. I run every morning. PIdse T R (0
4. The bank opens at 8:00. S oo 5y £o,8 A Cells SOl

5. You have a brother. Sl ol S g
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He will do the job well. Sl anlgs alowl o954y 1) 15 4
We will stay home tomorrow. Aile panlys a5 ;15,5 Lo
I will eat lunch at 12:00. 5,95 aoly> LY celo (e
You will win the race. [ know it. il 0 po 0y Bly 1) allue 55

8. Example 6: During the two centuries between Herschel and Voyager, relatively little is learned about the Planet
1 2 3 4

Uranus. () sl -MBA)

o @i gal Gugilygl o)l 030 (Tl s Sz cy2ly 5 J2ym loe alol )5 90 b €F anyF gy

Sppod wbis learned . . us pged 450 5 5 ol 7y 42idS 57 Jol3 Gloj 4 357 45 5090 (aldd Sy g0lo g0 420l 5 b0 :1GABIS 2uisgT

Lt A5G O gy SolS” 55 > 45T oo dlor dar i 4 4L Was learned

€5 31 ot 03y g (55 posaal Jlo 1.6 poias] ALBITH 2 s &y sools slnciley Jro Tads g cylos a4y Jlyored simapigiti balej ol 25 o ol 5l ske

S (0 (s 9) P95 dald )0 (ple S
slos 4 a5 oo (985 fode 9 gy (7 alex (a) Kpdidion el @R iy gy dlex (ol baazy 6l pet] 4RBAS (4o Y
& 55 o5 aslej (6 potal 41235 o) 0 pigiign g o o planl (6 el Sy & (s 3l e 3900 e 2236) e & 8 (Oaieal (sLaked)

omis 2 0 g es p@ 9y Sl g oI Al den T € g S (R BIY Oy 4 o Cpal oo plodil (6ol Oojpuo 4 4208 g L0l5 e

Jeld + was / were + Jai+ ing

He was watching TV when I went home last night. 5,5 oo Liles (1500l cultly of (p2d, A5 4y culyd 25
I was making many new friends at the Olympic village. P o Cagd Spall 0020 50 (g0l ol 3l b prdls e
While I was taking a shower, the telephone rang. 23 53 ol n3d 8 o D0 el 4T adge
While you were speaking, I was not working. 20,5 505 YIS Cpo add )T o Cummo Azl Lot 24
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I am reading a novel right now. it yley G qailgs Jb 50 59551 e
He is studying English at the present time. ol Sl gadlllan > 50 y5l> > 0
They are playing ping-pong now. i Sigy S (g3b Jlo 0 a8 sl
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This time next week I will be studying for the exam. D wolys (ylovel (gl anlllae Jl> 10 (o aBge raod 0diy] dzin
They will be bringing up their kid this time next year. Dy azplgs LBaisyh 50,5 )5 b o Ll Gl i 0 sas Jle



Jd gy paol 39 Joab A f gulid IS 5 43y i g3 ol ke A @

el 0dsagd 9) (5 el slaglej b ools (glagyle; glis Wil (Y1 a0 Yy (glalte (gusyp b oy (Mo s sl Jal5 (slapsle; &y &Sl 51 .3
G235 58 5 Canled Hto gyl pue S0 g ouse (33 5, el (Ko oS an) 53 59 (ol liS S g0 A Az ke o lapygl (sl 43 b ¢
ool cpal 457 2mis 002355 g oo gl Cawd (pl g AL S g Al pend (S (Jg poldl Glasl AnbiT o7 90 b aS Ayl (5] pen] aBAT L ol
e dlee (o5e hrian Ll 2uiS (290 (6] petusl ALLIS o) ool ALDAT (gl euigi o0 e (ST AL 0y (93

I watched TV yesterday (ssl. 4535) I was watching TV yesterday.(s,) jorwl 41235)
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When I came, they had eaten lunch. Aidgs 03,95 b oyl aaal (o a5 234
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1. The city centre has altered beyond recognition. s gl B a5 ol 00, juis Lz 4 3550
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3. They have walked since this morning. iled; pad o i oy
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8. Example 7: Even though a member has ate too much the night before, the counselors will try to convince
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him or her to stop eating again. (A¥ &l -MBA)
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Mozart was an Austrian musician. He lived from 1756 to 1791.
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I am looking for a job at the moment. i Jad Jlis 4 yol> b 50
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I was listening to the news while she was reading a book. 23,550 55 L prls e ilgs o LIS Culls of 23y
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8. Example 8: The property was ours. It ......... to us. (A+ gyl su— MBA)
1) belongs 2) belonged 3) belonging 4) does not belong
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2. Example 9: He was working in the office while I ......... in the library. (AY (5ol - MBA)
1) was 2) am 3) had been 4) have been
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8. Example 10: The popularity of game theory has varied......... economics. () (&l - MBA)
1) to be introduced by 2) in order to introduce into
3) since its introduction into 4) from its introduction by
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He can speak English = He can not speak English
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He can speak English = Can he speak English?
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I have washed the dishes. / Has the boy finished his food? // They had not watched TV.
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The boy does not study English. " Does the boy study English?
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The boys study English. =  The boys do not study English = Do the boys study English?
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The boy studied English = the boy did not study English = Did the boy study English?
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Rowling did not write Harry Potter. adigti |y 3l g0 K2
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He cans sing. %
He can sings. x
He may can sing. %
He can sing. v
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can, could, may, might, should, ought to, must, have to, had to, had better, used to, would ...
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Can you speak English? S Cumme e i e LT /1 You can swim, can't you? $4i 4o o 35 Lt 1o oa
Can | ask you a question? S g2 Lo 5| I pilg7 o /1 Can I help you? foif (LKaS oifas g0
€ g (Ghaigi g apiunisi ¥ Oyt (yrad duly ALISE oo 53y 00ra (3920 gy bl (gimy fpin €A Jta lids (gl 38" 10y} scoUN -

odsa (g gy Canlyd 3 g ojlerl g Aus CAN e Sl s IS ey dles dazr
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You have fever, you should visit your doctor. U TOVY JCHCT ANV P N %
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You must obey traffic laws. WSS Coley 1) 5900 9 900 yuiled Wl Loty
You have to obey the law. &S caley )y ogild wb
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You ought to study harder. (Sl o0 Fsaz ol g
It might rain. We had better take an umbrella. IPOYVPRCESICIN PPN FPREK FURCIE X OO
It is 5 o’clock. We had better leave now before it gets dark. 29y o oyl 4l 5 il 2 el O cels
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You should study harder

It might rain. We should take an umbrella
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I am used to driving in London now, but it was hard at the beginning.
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I would rather stay home and do my homework. w20 bl 1) iS5 piley A3 )0 @B o0 ez 5

If you don’t mind, I’d rather not go. P9y PRI 50 a5 13,5 JIKS! ST
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I'd rather that students made appointments instead of dropping by.
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My roommate would rather that I didn’t keep the lights on after 10 o’clock.
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should / could / might + have + PP
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Now it’s late. You should have seen the doctor yesterday.
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I have a stomachache. I shouldn’t have eaten too much.
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I could have married anybody I wished when I was young. 55 =35  Aladazy o b Jlho oy - 4
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I was free last night. I could have gone to cinema.
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I could have helped her if I wanted to.
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I can’t find my keys. I might have left them in the car.
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I can’t find my keys. I must have left them in the car. Nedzat 9y ez 3
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The police arrested the burglar. 3)5 pSand |y Gyl ey
The burglar was arrested by the police. it &30 el Jangs 35l
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He is walking in the park.
Ada Joiome &i g Slgnen Jyado &5 oy 4aj¥ €0y 8P et WalK fud
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72 Example 11: When the technique known as gene-splicing ......... in the early 1970's, it was feared that

the scientists might inadvertently create an " Andromeda strain", a microbe never before seen on Earth.
1) was invented 2) which invented 3) they invented 4) invented

[) og il (oo jue &jgo 4y (laiatils a5 Cotls 352y yi Gl ad gl VAY e ams bilgl jo o (b o8 a5 Sley €V anF Rl
ol 0025 0333 (32 (53 12 550 B 4 (029 Sem (gims w3 jol D929,

Opeled & o oo sz 00 93 B9y b S Gl Lol 50T Iy 5y e Sz eigies dopdido doz )T ST pte ol ST L <1620l ZudeT
e g iy ool paiia intes oz wil ol polen dlo 37 Jub ol 45T 4Kl piny G (imr tribato 50,5 BN (ine 4 INVENL o 1S, o ol
oo (1) 4o j5 g a3l Jpgzmo wil (ipalad oy ool Jpado gt sipciem 5 I Sl ST Y o5 adl Jogomo Ggaled wl &9 o

s Caodle g gt 95 Jopmee Hlisles Yoane 1 gh2me jhsle saiLLS
0 yod 54 alox o5 ddron 5 a4y LSt Sl aigts cpl 4zl S o Jsgame Jud 5l o With L by aslsl &> )

alige a3l 5 S9N L adinn Jogme Jad ¥

Be + P.P.

All the new words were looked up (by him).
5 o e o8 Jgime (ygealez (b 5] eylge il JBI 55 gl eyl Dy DML jpi> (g2 cgeme stlozr 0l § wdtein 45 5l cygen
28,5 ool be + looked up (oS!

. Example 12: It should not be assume that the lower the price, the happier the buyer. (Y (s yl s -MBA)
1 2 3 4

gt dalgd 08l B Wl SOl Ced 4z e 45 398 jead ez Wl €V 4y Ewl

dxxo be assumed .y s Lide fsgzxo Ll 64018 padgl

ot ot e ighsel p9aS e (k) sl g p3Y (sladed des Jphme gaxte Sl Jad Ll 0235 45 jbcygan fgeme Jab (sl 0l
Adl odogl Jorio (how unls gy a1 Lol oan a5 5905 a5 .4 | Condd 45000 ygealnd padam a5 A} Jud 00,5 Jsaze 61 )15 eyl paigd o0
peiSieo Jas Jpa b on 51 50 enlee dler Jol 4 iJolb i Glsisas g aler Jprhe g peiSg0 B3> g alex Jobb mle gl 5l om
w3l 990 (il 50 (20 g U (S 3 g g0 8 5 Inle 055 Ui (pras @uilS 115 Gl 5 Jlo b iz ol pem o Joome (sloge)d

el
1o0lw slo o Jaeme s le B
[ am / is / are + PP ] _ :Jogas soalw Ja
[ was / were + PP ] e o sogns Soslw (saSibr5
[ will + be + PP ] = 1J0408 (503l ¢soalyT
palro Jotxe
4 1 do a good work. ools J- A good work is done.
3 % .
P30 plil g3 15 Sy g g0 plndl 0g> )15 S
4 1did a good work. oolw azids A good work was done.

_—>

4 I will do a good work. osloosnl A good work will be done.

Sl palys ol s IS S ope T > A sl plodl g3 S Sy



J2d g yaes il 3091 Joab s gl 15 5 43y i g ol gt \$ @

155 ol S GL; Jatmo )l B

(am / is / are + being + PPJ = sJoeas )hadml Jla

[ was / were + being + PP ] = 3Joeas s)yalml (saiibds

( will + be + being + PP j —_— :Joens s)paliml soalyl

peleo Jatze
I am doing a good work. il J- A good work is being done.
— >
it g5 IS K plonl b 4o gl ga aloeil 0> gz IS K
I was doing a good work. Slyeiul 435 A good work was being done.
pols o ploxil Ggs IS S pndlo > A g plomil cudls g5 IS S
By 8 PM tomorrow, I will be doing a good work. & lyeiel sans] - By 8 PM tomorrow, a good work will be being done.
g plgz g3 15 S alowl Sl 10 (pe cppbiiloay A el blop —> Dy g0 plovl g 5 Sy ebilam A el Bl 3
Jals sale; Jsaora sl B
( has / have + been + PP ] —_— 1Josas Jol5 Jlo
[ had + been + PP ] =  Wues JolS saidns
poleo Jatoeo
I have done a good work. S J A good work has been done.
>
plosls ploxil ags IS Sy e sl ot plonil g5 IS
I had done a good work. Jols asis A good work had been done.

'f‘>91‘ aols fL”u‘ 9> )lS s_{._v' e ..),.'\ o fL”u‘ Ll d )lS s_{._v‘

2. Example 13:Fortunately, a group of astrophysicists has been proposed a means of detecting cosmicNeutrinos
1 2
by harnessing the mass of the ocean. (A0 &yl s - MBA)
3 4
Wlos 5 Slgrey e Stz 555 (lolid 5l 53 scgmopiledl 0095 oo bt g5 Su3ed e | 2,8 Wliiadiss €V aiy3 gealy
Sygody Job ol (1) 435 57 0lo Jsrde ) j de L palee SMloz ;0 Ly SETws (suale € 50,5 Slgiiod _ire 4 PYOPOSE :150l)S uagy
has proposed  ix; 55 polao Sppots 5y o5 il g wodag] JJy Sley o 5l 1 s b ol Sl b 42y 04 ogmo JolS Sl

78 FExample 14: The fundamental similarity of liquids and gases becomes clearly apparent when the

temperature and pressure ......... . (AF sl - MBA)
1) raise somewhat 2) are raised somewhat 3) somewhat raising 4) somewhat raised

Nigd 08y Wb Sl )Lad g Led a5 398 o0 palas ooy s (285 jlS 5 Slagle cwlesd Conlil €V a5y 58 il

o 43 bl oy A haZo YAISE 45 02K iz o o s LT 5, oz g 5T Lol ppasy oo (1) 4 j5 0 Sl dlor (pino @ dgi b :1Gp01S paaisgl

S 00ldzul Jsgzeo fuS I b Gy odoge Jprdo JIF (sl jl e (52 Iy ol Jprdo (gl jl A oyl
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72 1- This fabric ......... made of cotton. A+ (il = ;2] S pike dogaine ¢ MBA)
1)is 2) are 3) be 4) was

2. 2- Our chief executive officer ......... like coffee at all. A+ Gyl pws— ol Cu e dcgane s MBA)
1) do 2) don’t 3) doesn’t 4)isn’t

7@ 3-1didn’t ......... the check. A+ Syl = (gihy2! S ppia dsgazme y MBA)
1) pay 2) paid 3) paying 4) to pay

72, 4- A: I wish I didn't have to go away. (AF (6l yoo - MBA)

B: I'm sure you ......... your stay in the countryside next weekend.

1) enjoy 2) will enjoy 3) have to enjoy 4) will have enjoyed

72 5- A: Why isn't Mary driving to work this week? (A syl pw - MBA)

B: She has been taking the bus recently because her car ......... .

1) be repaired 2) needs to repair 3) is being repaired 4) has been repairing

7% 6-In most systems of the conflict of laws, questions concerning the personal and proprietary

relationships between members of a family ......... as a general rule by the personal law. (A (s sl o - MBA)
1) were governing 2) was governing 3) is governed 4) are governed

7. 7- The Ford Theater where Lincoln was shot must ......... . (A (5l - MBA)
1) restore 2) restored 3) be restoring 4) have been restored

72 8- Ancient civilizations such as Phoenicians and the Mesopotamians ......... trade goods rather than

use money. A+ 5wl - MBA)
1) used to 2) use to 3)is used to 4) was used to

2. 9- The surface of the moon was shaped by the meteorites whose impact ............. craters of all sizes.
MY & _.l""l;"")

1) form 2) formed 3) are forming 4) forming

72 10-The discovery that dreams take place primarily during a distinctive state of sleep, to_identify by
1 2
objective criteria, led to a rebirth of interest in dreams. No Error. (A) &559)

3 4

72 11- Travelers ........ their reservation beforehand if they want to go on a journey during the Nowruz holidays.

(AY 3%+ (5l )

1) had better got 2) had better get 3) has better to get 4) has to get better
2. 12-Most insurance agents would rather you ........ anything about collecting claims until they investigate
the situation. O § Ve ol

1) didn't do 2) didn't 3) don't 4) do
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0Old house, new teacher, expensive book ol 51 B -
o slee (hayy Jladl oy Jladl 51 amy =¥

appear Oy a5 4 look Oy k5 4 prove b (50,5 el

feel 0055 psluw! seem Oy A5 &y smell Ols g

taste oRblo 030 sound Oy A5 & be o9

He is old / She seems tired. / The idea sounds great.

Ko chosi g, the idea gshe he iy 4 0505 0 great gtired old . Jlo b 4w 5] 35 ;pudes
ﬁﬁ.:noél.ﬂlm‘di_{éu\gsda_gbQ,&Mcdﬂju.:-o,idlﬁJ’@bbm)‘ywd@)é‘wmJln..\:.;cdrsda.p._..u)‘salﬂ
Je ol st sl

It's nearly complete. / She did it fairly easily. /  Carefully analyze the data.
o oyl g, analyze o5 5 easily o5 complete cio i, 4 carefully 4 fairly aearly i Jlio b 4w 55/ clods puael

097 prdien Ju3 s 45 55 sl 83 B g0 5T (I g > 08 5 (180 wd il b e 10 0 (6w 4 1S g0 gledal; g0 5 0l (g0l
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bl el Fate (ot oals all) g s 4ol 593 Lt 1Y Ga Gtee 035 1Y 4 4T )00 op Cdo b sz 4l auly Sas s 44
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cowardly .5 friendly aliwgs likely Jozora motherly ol

lively odijw  lovely  zslscag sickly laws silly &lias]

ly 05237 1z o Sades a0 3.3 o Well  fast o5 (238 o (ygate (lodal) 95 paiins 5) Comua nl 5 0 o0 9 4500 Az gS slitind 4

s (o) hard (o) late (e, 4) fast (5197 @) well Jio . yun e 0aclB opl 5l a5 sl Sl (slaad aSl auly Solas

et o, b Jlte &1, 50 4z lately o« nam ass hardly aiSie 5,5 ptaies Jg uoyls lately o hardly acdi o, o fastly S

He needs medical help fast. Byl i K oS 4 Lag oo
My sister went to the class late yesterday. by S 4y CBg 0 390 peles
He played hard. (S0 &3k o9 oz 1) 0,5 00 53k s o
He hardly played at all. 5,5 50 53k O ey ol

OetS E80 0 3 o b g0 alino Ciglis 4y iS50 chuogi g, WenL a3 late gneed Jeifast . Jyl Jlio b g0 57 :pmded
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9. Example 1: Some people like raw meat, while others like meat only if it is well-cooked. Many people like

1 2
butter freshly and firmly, but there are people in India who like it melted into an oil. AY 5 yulps - MBA)
3 4

03 3}t w8 g Bl 45 g T ey g )50 45 Jlo 5 il s (15 EuBS 0y0 | pimy €1 ;S sty A
Bgd gd BEg, JKD ar ald Cangd Y Bitus aza ;0 (5,50 O3l Ll 1)y Canys danie g ojli Ty o)

OBl Cgsb Ly s €l asnio g o)1 o3 JLii &) laf chozmio g o5l dito b ypulaine Ftsyd 4G ot freshly and firmly wgpols guaes
Koipy sy (fresh and firm) o ciposs b (freshly Gnd firmly) o (BUIEr) o5 ipz ey )5 b 45 bt 6,59 b b o 13 g2
A"ty o5 ms Slad oo g0 (5 (Mo sy 453y meiy? ooyl o j ny lwis] g dusly g Blen o 1 5 s 28”45 Lo

9. Example 2: The concept of contract is ......... arising from voluntary agreement or promises made by
persons to each other. (AA (5l s - MBA)
1) legal obligatory 2) of a legal obligation 3) legally obligation 4) of legal obligatory

ool (018 ay o3 45 ol gl 15 5 JoB L g alellogs 055 51 3l 45 ol igilh gager sl oho 1 pppie €Y 438 crasly B

Ao 2 oS Mg LB L le p b e s Ziio igli dets LS o] 26ty Ly (33l pe o) .dzic ODIigatory ygpalsS ppuies
syt ine ODIIGALION (V) i85 Lol 550 > (F) 5 (1) (sloais; oy d€GANY i jtar o8 0lizin] 1.3 ) ooy dusly sl
A7) 4338 digo, o hai yy Jegally ud & o5 solizullegal cuiv jI oy duly b dewl 53 5 Xagar®

8. Example 3: There was once a king who had three daughters, all lovely maidens, but the youngest,

1
Psyche, excelled her sisters so great that beside them she seemed a very goddess consorting with mere mortals.
2 3 4
(M (5ol e - MBA)
.-Lbc,.dJ‘ol,_Qu_I, nLLS’g L E K L.A_u‘,bdlfru’éu_ghlf hf’ﬁ‘uJ ‘QQP‘, GDLM GJU)’.) ‘5)” «‘u, M.; Eﬂl‘z

g1 088 (prtiien pylid Fogrge b e &5 o pilate agll G wiile o) s LS 0 45 09y 20 i al3 51 080T o Kol gimy
greatly y iz w,oLigreat u oi,b L ud 4 Jfab oy duly paZif  22ub €300 2gs (52,8 Gk | ina & €XCEL fai 1i520lS prigd
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oetert 9 13 JBo (o9 4iSen oy o, tired e cOmpletely ad 4 asie LIS completely tired
A big Iranian car factory Silwgyoe> lul &5 a5 I8

33,0 Tranian cis e o big i e &KL @i i duey 5, Iranian cio big cis Jte o) 5 St
2 bigly Iranian car factory : .8 =dy a4, .25 e canoys o, factory
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0300 354 03l & jp0 &) Cuboo 4 45 Glaj 1S 2920 o b inby Ale 43 Cdo g JlodadS 0B [ Cde oillan 4T e O jpot b guiinends
55 Ypano g 45 duslin b gy (B 1 05 g3 oF adio i o yillas G Kan OMd 5 yOUNE, ClEVET 0.8 o0 Hllae Siio (i
F S adio e Cis Colyg ) g plleais Cio (Sea mOTE €XpENSive L il,8 older b iy better b i 4slies € L ot
3 il o 45 97 (i b the Dest . ise; b the oldest . yi,F | the most eXpensive Jia asfyen €p b Ygee (g li
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cadly glown 4y Mol 43 b BgS (ppatis 4570 43 )
old— older bright— brighter young — younger
ad 0I5 Y 4 (g Analomd 50 (ypalio 45 5 e 40 Y
happy — happier likely — likelier casy —> easier
Adis S L4y Adon Sl (gl €T 235 o ol 8
14l oo &55-Lo l€SS L, MOTE U | Lobil Cidio o (22un o jpe 90 50 lino (gluzsf 4 less b more (o938 b o
o W35 Y 4y 1oy detld 99 (pgatio )
careful — less / more careful , pleasant—> less / more pleasant
adly s b g0 5l luy getie Y
interesting —> more / less interesting ,  difficult— more / less difficult
Ogalie (o7 0 adee gz ble 25145 (0S0n U5 00ll & udigad (030 9idled (ol o Lo g o)1 (yailyd (G 41 A5 0yl L (g7 Razy
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(el & (aiess o Alex

Al is taller than his brother. Camdl gacly 8ol 5l e
My house is more expensive than his house. sl g ils ) i e il
Today’s warmer than yesterday. sl 39520 51 S8 50l
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. Example 4: From universal to specific essays, biochemical to cell-based, no one gives you a broader

range of tools to research enzymatic targets in epigenetic ........... . (A8 (5puly - MBA)
1) as Cisbio does 2) as does Cisbio 3) with Cisbio 4) than Cisbio

TSN PURIURTOR LY SRS PR GORS IEYREY IV VK -0 O SUPCK. -0 PR PRCLY/ IR EJR [N RPN - R s ¢ SPETRT e N 7]

e )8 Lk Lo ps il 9 96 48 Buiod sl ) ol 5l g Ty asals

azhy S than b &8 5.5 oo oliiiil g, (F) 40438 g € pipamigh disa iiina &5 duloisis Cudeo BTOBAECT :iganl)S paigl

79, Example 5: According to the graduate catalog, student housing is more cheaper than housing off campus.
1 2 3 4 (¢ & ol MBA)

ot oREHS gaboyzee I 2,15 50 Sl 5l Sl et sl ISl o emmcllp B Y b €FD 4538 shwl
4ony0 ChEAPET <oy )\ MoOTE Cheaper :igsalsS zudpl

b5 5 9 dage b (b oS cnl S0 Job 5 Jord Gebo e eolitul ludil Che 50 51 palytge (s tielie (Padil Cdis
2y DMader T 5 iln e Alie daz T €53 e T d B Oppody ldil Cihio oS l o Vgean S (Rl g5 g 0ad b B

Wy

The + ladii Cudas + v 5+ The + oLudii Cieo

The sooner, the better. o Sy A
The more coffee physicians drink, the greater is the likelihood to have coronary diseases.

ol ot (Bl ys Slagslons 4y S Jlaio didysy (gt oged IS5 a2 10
The smaller the house, the less it will cost us to heat. Ll anlgS (528 4is3a Lo gl 5] 53,5 0,8 wdl J oS Al a0

78, Example 6: The more advanced the specialization in production and the more complex the economy,
............. to make any given good reach its ultimate nser by using barter. (20 gyl - MBA)

1) it will be costlier to undertake all the necessary transactions
2) it will be necessary to undertake all the costlier transactions
3) the costlier it will be to undertake all the transactions necessary
4) more necessary it will be to undertake all the transactions costly
SIS Sy iy i S 350 o515 A o watly oy o ol 5 3l gl 5 paais a0 i sty A
g2 anlys a3 (sl dolua s ealizul b 5T oy I8 & crone
i Cygeds u et uddT Cdeo ooy BRE F LddS e 53y i1 3N 5o 5160US RirdgT
The more advanced the ......... ..., the costlier it will ....
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Ay aILS] gl bxd & dds ol Iy fygon g2 1t JLuais less / moTe Y 4 8 o

We finished the test more rapidly than Mark. 2oy plad ) loviel )b 5l pas e b
The teacher spoke more slowly to help us to understand.

it | pllaa 038 K0S Lo 4 1 8, s Jazn] plas

0)ls Cous wb (LT 08 3190 30 dotne ikl s 3,90 30 “.’P%WJ"M ciclas o o8 B




0 e 5 il 5y eyt MBA gt 345

oiio),s L the most expensive Jis wolyan €5, L Vaoms &5 a2io o Cbdo auif (Superlative Adjective) Je cde
T ot Moo i Lo L 0D Sip Gy ey U 38 4 eflge 4F A odlizd 3By Jle o 030 s The best i | the oldest
)]s 3529 ol 33 @b Cudio ol Sl (gl - - g4z 25 L
-l EBL | oy o Cio Gl Oy 99 50 1Oilius Uil 4g €8E 409381 § — I
aglos 4 pMawl 4 L 4alisS ;gezic 451 _)

old—> oldest bright— brightest young —> youngest
038 @33 Y 4y (g dpaloed 93 (jgedie 451V

happy — happiest
il o 23l MOSE / least L Jlo Cuio 45 Cemd  cailye iliis gluil 4 least b most 34581 b -
oAl 035 Y dy (g duslons 53 (ypadie )
careful - most / least careful pleasant— least / most pleasant
WSl 23l bas g8 5l Ry (ygatine Y
difficult » most / least difficult interesting — least / most interesting

“
' 4 -
a the 5| (LS adsan o5 anl pisl o) gt &y aa e Cuio ol than by Lsis Cuios gz wigioly 359037 455
et Jla oF 8 oy oo ol Gal Vi g the brightest . the most interesting :ay b cims tditn sobiz.t

Ali is the shortest student in the class. sl (WS 59al 538 2 polEsS e
That park is the most beautiful park in their city. FOW N CJPY- 9K o R WY OVE RN |

least/ most s Jlo sloswd ity lhea i 5T 451y (19am b5 4 3l o pifo o o 8 oo ko Jta L
e o ildn 4 L pdn il

She is the most beautifully dressed woman I have ever seen.
Moy Jlods & 2ol g5 oo o

- Example 7: Studies show that employees work most efficiently when they are involved in the total
1 2
operation rather than in only one part of it.
3 4

g]jl&.éq&p[&,od waS oS L oldas 5 0 a5 &)l 1) 05l o ptdig lay SLS N oS a0 ldd Clidss €V uj:@gﬂ
.the most efficiently 0. Wi 5 <uyoli (1) 435 1EsalS ppairgd

by 41 5 goodest 1y gooder at.e g00d Mea 1385 cai cunid Y selyi 5l o Jle 5 Jodit o & Gt Joasd @ &5 oia alalS 5 4
102355 0034y Jgoz 95 Uyl 5l gdms 4 ople Jlo b Jodis (ppdags

o 1hpndd Glle
good better than the best
bad worse than the worst
much / many more than the most
little / few less / fewer than the least / the fewest
That book is the worst one I have ever read. alesilys Jl ¢y 1 o coanl GBS 0 gy anlsS o]

He is the best engineer in the company. FOW O g IR YRR CTINN
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2. Example 8: The more the relative humidity reading rises, the worst the heat affects ms. (% - ..),.. . MBA)
1 2 3 4

S go Lo gay ¢ it P gy SV (gl gy dgpp €VD L1yiS iy |

b/ TINAY W S— the +  Ludds 4F 10y b cielio U oo 3obo o5 :1G20US ZdeT

themore ..............., the worse .....

Solad milssu 51 (Jy ace (198 9y Sl 5 Sglil sp2aa dam 7 €0 D 5 €8 Sppeods lo his g (ol Cdio 45 gl Sl gl Cike
Ol 514 aaam 1)385...88 (o) dlae Cdo b Saled o atlis (gly S g coliin] (golud o Gl (eads (0t gy uz g0 b 338 48 G
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a5 D90 &) oty 0ye0 )5 b giie Olao 5 dad oSyl A5 S

el Qubgd Jsle Jlio
Jol | siie g Cute galer 0 | 88+ 3lks cietTas | Mina is (not) as old as Al
ped siio (sdlaz 10 Jaid | 80 + 3lls Ciw+ a8 | [ am not so tall as you.
The weather this summer is as bad as last year. el Gy b (633 lan 4 1gm ¢ Jlansh oliusls
It is not as heavy as I thought it would be. asnngd el Hlamif a5 2 8o T4y

1y1y O yg0 4y UJ, P:ifoﬁl&u‘ph‘jﬁlﬁu Ulti' ‘5"9 ‘EJ’IU&&S....&S... 69‘” )|
half / twice / three times efc. + a8 +  jlhs Cuivo + 88

You are not half as clever as you think you are. NN FE <5 ST PR < JURVESPL eSS U 9
It took three times as long as I expected. 28 ey andls lanil aS asul 51 5 Ve ply aw

i gungiil o8 ) O ypods peisiicn 2y 2Vl s8Il
three / four etc. + times + Luais' cuivs / 4B + than

It was ten times more difficult than I expected. ol il 45 gy dowil 51 s iy s
She can walk three times faster than me. 30y 0y oy 51 0 il dw al

&
]
_ A

twice a8 old 88 jzey 48 sai solizul (5,51 Jaslu o5 half § tWiCE 51 Qi o Vb (555 35 4T pboygam scsg sl 450

.4kl twice older than I, 4o
She's twice as lively as her sister. (Not: She's-twice livelier than-her sistel
They are half as rich as my brother. (Not: They-are-hali other.) )b gt (pe yoly ciuai sl

Ex) e} FORCT R MY-o1rot
_______
E——
D e - T e e . . o
b e i i Lo g iacsiisiion,

79, Example 9; The new manufacturing process should save us time overasll, even though the first step of the

2) wad oukij e iyoleS il g9 ol

five-step process will take ......... it does under the old process. (4F g mlpe - MBA)

1) twice longer than 2) twice as long as 3) longer twice than 4) as long as twice
axlid il g8 wshloga gy dnalid ol 51 dlga Gl 2,8 008 s e Lo o) 3 cpgame j0 Wl dulyp daz Suld AV Ly 5F gl )
S ptige (lay (b5

5yl twice as long as Jy pu bt twice lOnger jypz 4oyl &5 pa (1) a8 Sk o S 45 (F) 5 (1) slatey;S s siganlyS pasdgd
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AVEIOPS LAV R V7Y TR A [P HPSE PORIN DRIV - R PO g R P - NGOTJoI L5; Y WPRpiow [’ IUVIRTL Sl JVK VPN DO D S
my our
your your
his /her /its  their

I put my book in my bag. .x2l38 4iS" o1, s # Heinjured his back.  .wla, qel ady 4 4
Jub 4t 3 i 5| s &4 weSom s planl Ciboo 51 1S Gikiamenl 4 il 1 dontn imen Ly Conna nl 1 glgndo 3 el oo
e b aad > i ol Jy gt asle Jub 4y ) €lyp 0P K0P S St T (5 pglen)] i (5pm 4 pipe w2SLo
bore Jas 42y, 5l ciadss o bored o Doring M s 28t 006l cpl | @ el b5 ptus 25lo €435 8P Jad 4y 5l CossS
ptagdS B &S 0o o Jymia g JBlE Cio (it et o Jub ) 5145 g, glaciio (0l ab ety g BOOA g Clever g o asle
e gt gt 1) Coand g A8l
§ g Aban 5L €VETD T NP ST Ll g7 g €anS 4 ud 4ty P oS5 b Ygane b g7 45 Ao e Cuis 1 Lol Cuheo
s 1y l50a A0 das P sS =8 dlas ol &4 Boee IS & o8 ol idio Ll il Joli b oppdigs ,a DOTING 5 0usi€ 8 M sla it
Cihe Caaz P auly iy STVl fod dlaxr Jad 02 €35 G 5 dgnia €3l50a A0 )18 0aiiS L ol €aaz ;i daxr ol 5 5
(olagboirad 0 g1 guadS S Jla S 0dtiSE dazr T 108 gn il (oD
Translation bored students. ——> Translation was boring, Dy 0auSALus dan )i

The film excited me. —> The film was exeiting. D 353 lrad alud

i 5 o den \Jy 43> S8 Lyl o W plailyud auly (ol o Se milie o Syga il a5
lye g oS aolitl CKST ol 5 ppisine oo Lot ol 5L lols i &y ailudl .2 translation ;e o See S
bl &8 aiis Ola Lxsy) a3 daz )i S dan )i gy dlax 48 agyl 4K SaST odiad Olaz 1> 4ea 9o adly
el G (S daz 7 > ol Ofge 5 KPP CoditS ossS fuSD Ooygundy Hea g, Jud Ay b 4T oo )F

.&Sy‘&ﬂ‘»
oz Coguinsb 3l Tl pled cudes

I watched a frightening film on TV last night.

€3l Jub pgu JS5 L VETD + €d a5 b (sl 35 5 €002 4 Jad 425 oS5 b Ygans (g B 5 45 Atin o Jynia oo 1 ymie Cueo
s ) ligaltils ez pganss dler (iged 95 Yope 54 128 Jynie Cihio | Jgnbe Cuio (yps o DOTEd 5 €osdpD Sita a2
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Translation bored students. — Students were bored. (ssy aws oljgel 2ils)

The film frightened the boy. — The boy was frightened. (s, 5,..;)
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The puzzle confused him. —— the puzzle was confusing. / He was_confused.

e Céo Sorie Cido
They were tired because the class wasn’t exciting and interesting. B9 Al g pSlolons QIS 9z wisy aus Ll
8. Example 10: Many ......... items are turned into the railroad officials every week.

(AY (5 ool o - L"___s_ll,;_‘—ll Cu pde degesra g MBA)
1) lose 2) loss 3) losing 4) lost
g oo 03 Jigad palely ol gele a5 suinS 3! 51 (g ks a2ie jo €FP 43S il
M-)/d—ﬁw‘—,’ ‘c‘_...,.;dL...J/item J/}f_u L‘)__;/j_f oo L_J/j_’ dap i L‘; L 45 UUA"M ‘-dLbC«.JJJA dj/J/Ca«J");;/.‘EM’[SZ._!ﬂﬂ
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72 Example 11: But the results do not mean that teaching does not matter. That’s like arguing that because

1
differences in height are mostly down to genes, food does not affect height in well-feeding children.
2 3 4

(10 5yl - MBA)
Loy an g e boos (508 slaciglss a2 «uasS ool a5 wile go (53] diile cCuns pge (590) a5 aiins e o) & gl L) «Fpas 55 auly
S8 (6508l 010 595 1 Canlin a3i5 51 45 SSgS  SThes 99,05 wisd oo
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P30 Jab o gkisdink slacwd )
2. 1- A: What did you think of Frank's new project? B: The more we heard about it, ......... i
(AF (5l s - MBA)
1) we got more enthusiastic 2) more enthusiastic we got
3) the more we got enthusiastic 4) the more enthusiastic we got

72, 2- Stone Mountain, a huge dome of granite near the city of Atlanta, is 1686 feet height and

1 2 3 4
measures 7 miles around at its base. (AY (5 ol s - MBA)

7% 3- For many people, a vigorous walking program using powerful, synchronized arm strokes can
1 2
help achieve a more shapely body. (AA 5yl s - MBA)
3 4

2. 4- The density of your bones depends on how much you exercised and what you ate as a child and
1 2

young adult. The densest your bones at the growing age, the less your risk of developing osteoporosis.
3 4

(AA (5l - MBA)

5- e bell signaling the end of the first period rang loud, interrupting the professor's closin
\@\‘ﬁThbll'gligh d of the fi iod g loud, i ing th fi 's closing

1 2 3 4
comments. (AF 3¢ gl )
72, 6- She was apparently ......... to the interviewer and was naturally ......... to hear that they had finally
decided to offer her the job. (AD G yulyos = 2] Cap e degare s MBA)

1) disappointing — surprised 2) disappointing — surprising
3) disappointed — surprising 4) disappointed — surprised
72 7- In nature, the less insect-like insects look, ......... . (AF 5yl o)
1) their chance of survival was better 2) the better their chance of survival

3) better was their survival chance 4) their survival chance the better
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I saw a boy. A550 a2 L 0 30 & payd gy 4 45 An Ll 0 sy gl jglate g oyl o L) Lols asd 4 bOY Lxyl o
I saw the boy. Al g0 gigl kium g 4 0l o)L ol et 4 the bOY Lxsy) o

I saw a man in Azadi street; the man was one of my childhood friends.
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quantifier
another many all
each of
either of
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Every student must do his own homework. A plonil 1y Aog5 CaIST sl 5aal tils j0
Each gland has a distinct purpose. Dyl patetie Bua (oyds 082) (glodé yo
I want to read another book. wilag (6,50 SLY ealys oo

o iy s g SO dad &I dipa Sy g e 450 Cyig] 500K 0 o0 5y ipteine i Sise S 45 9IS I plo (yaen pladed
0k 392y 00 gt )5 37 I s 18 592 4

2 jhe & 4Bl il por dideod it o] L OF b ST &5 by digina po Of b 2o by dis aolizua] | lgid &4 digien €ACR doizisS das 3] s
Each has a car. .s,b forasil S pla5 40 // Each of the students/ the books

0ha ;g0 by a8 Lty Sy 4Kas BVETY . yloai ite el o7 23 gua €VETY 4 €aCh fype il 4
Not every student attended the conference. wogad il 4 gamdils 1o

7. Example 1: The brilliantly colored rhinoceros viper has two or three horns above each nostrils.
1 2 3 4
30 393 | in lyame ;b SYL LD aw by 90 1oy, iy L o8 ,S cadl «F 4z, 38 igualy E
ROSIN 3.5 4 oS > 5, NOSITIIS poz cuadle Wl oy Lo S pho ol I, Ju3 €ACR 115481S JairgF

g0 gite glias JLmeither Jy €S, ,o» adis utas g 25l cote gline b either . ba 5jhe qul 5l Ji3 opdzio- efther g either ¥

Ao €S geo¥ lao by

It was a game in which neither team deserved to win. Dy HAd adiy el el 99 5 Sagd 1] 0 &5 5 sl
Come on Tuesday or Thursday. Either day is ok. 03 30, 99 onl 51050 )b Ly 43t gy b 4eid das
b 4 et S juz 99 3,90 30 pilyF g0 5 tidps oSlitu] By laicsS B 90 1l I coden (9425 loddar (dazyT AT ypbosyan sppdeT
s o2 4y f S

The house has a door at either end. L3 38 ails cul s g gl2) 3yl 0 343 )b g0 1K 2 40 Al il
Neither journalist could finish their articles. A28 alas [y 095 llia Conilyzs jISaalisy, g0 3l S gun
bt 9y GMadar 5 g 1o JHa oty dorgin g0 451 (sl low 2a ed B o 5 B (192K 0 DOt amany several a few few ¥
I had a few good reasons for doing that, o o5 e Jabs azy 18 T it 61y
Few people live up to 90. wile ga oSy (S A0 6 o8 a8
There are many students who registered in this course. iy pliced S ol 53 (8 laums Y9 SRl
He lost both his parents when he was a child. s s 1y aadlly 93 b oS358 3 ol

7. Example 2: Although southern California is densely populated, ......... live in the northern part of the state.
1) a little people 2) a few the people 3) few people 4) a little of people
A g 55 2] (ol e 3 o8 Sl Cegnar LS i 458 € 2t sy B
dioyslithe gl 3,15 ol gy (V) L8 S, o o3lizul fEW I gl i1 2y 5 por PEOPIE sigaal)S pauirgT

et 9) Oasteins g o598yl orde aslinul b led Ll g e 1 4w » much 4 a little Jittle ¢

I had a little money, so I could lend him some. B3y 5y (59 4t (Sl pRudlys WS Jgy (g8 45 ]
There is much money in the wallet. e 28 43 535 Sy
hey had little money to spend. IS 53808 05 gl a8 s ]
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78, Example 3: For the investor who possesses ....... money, gold and bonds are good alternatives.
@AY 3%+ Gy - MBA)
1) so few 2) so little a 3) very few 4) very little
Aid (gt95- (Sl Kl S5 a3 19l 9 Mo )18 (g bt Jpu 45 (6,108 8la s (61 €T @38 il M
Aslac Joli sl 1 Lo 45 s JOW S 00 (1) 456 oS 03l @ 1 el (2l oy jlas Jplisel pus/ MONEY 651018 Ziritg]
1K digagga () b sy lale pos (T) 3 (1) oy s03les poz>
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e daz 3 €eolaa b X5 Mid &1jp0d, g Sl St EBlaz o7 Yyans Some

Some eggs are in the box. PO PWPESIRNY JOUE- P T
Some money is needed to help the poor. O S )2 4 6 ol 3l Jap (6,0Mke

some books Pc‘-!t.i‘ ‘Q.IJL:S ‘5.!1-\»" l’u‘-"lﬂ-d”."! Aﬂtlsom_e water M’U‘ «y] ‘_q)hi) P,!.aﬁ'_’:q STy
il ded> ) €W CJJ,.Q&‘A,.\L..Q u]'s.u O)‘a’"}u CJ)‘.»,;;J’@HADY

He doesn’t have any money. 358 Jas g of
Are there any other questions? fen 0o (5,50 Jlgms L]
A A dien ian alge (gl (g priS 03liZul b Suts gladler 7 uisi ge DY ]

You can use any chair you wish. (S o) Slas a2 Jiio b 5l i e
s dop i Kgub® O ypods g diie a3liz ] Cite E3ar 5 Yaana NO

There were no shops open. S Y (glojlie o
No tourists has ever come to our village. o atals Lo (glisy) 4 rams o8 o2 Jl> 4

o (i ds .. y anybody 4 no one somebody Jie «ytie 4251 1O 4 SOME ENY ) a5 LS 209057 455 '
I met someone you know last night. YOV PR PCH gt g U
{oote dar} alid g Lot 45 00,5 B | (g atys (10

There isn't anyone here who can help you.
{igitn dlaz} i8S Lo 4 wilyzy 45 Cond g Loty

!

There is no one here.

{shie patio Lol Cote dlazr} s (o Lot

Nothing ever happens in this city.
{siio pypio Lol ot dlan} ol 03lii 3y 148 opl 48 pold (3liTl 0

orsert 9y Jia (il dzy

He has come to school without any books. ol el dusydo 4y (S gy of
DOt L d2ian o, iza CHlaz 0SS )S6 a5 28 g0f Falas NOL Cudle gy Ola gitia EXlaz o ANY @238 Toamsi came Jla ol 45,000 4
A &S gl 4 Jle a1 a5 008 00 3l Je ol 5l ey el WithOUE ga (2334 die (sdigdi 45 doiie YU dlazr S 10 .jlu e
Arite 0o dlazr ol g 6l s3lisd (5 le ol 3,150 4 (55 ,8) DEVET «(S )i &) hardly «(aap) Without cilels’

There is hardly any rice in our house. o b s i b i
We went out without any money. 5y Gager Jop g L

He is lazy. He never does any work. A8 ol plol (5,15 ged g umdl e ol



ol s 0l g Unlal CasaS bid yas 2p g Juath g gurid 5y o e e 181 @

1. All cars have brakes. w315 3o 3 b furansl don
2. All information is confidential. At dila e SleMs) (gdan
B sl 31 5 Ypens 45 (hie pygie b o fy St ODez 8 il 420 i€ o onlizl OME OF 5 2l &) sliad giie SMaz g7 8L zif

oo gaz (b leds
None of us cares what happens to him, A28l e 58 51y (3] Ay &S Cannsd g Lo 51
None of these boys is clever. i el By oyl 51 plaS 2

@dd 425l 1O | 92 NONE OF a5z Jol (s zadsi o5 4 NONE OF 5590 10 a3V Ll 2 5 5l ol uyr g dndly (Lo o 8l :pady
G 0l g0 Stus joz U diz 3yge 10 45 ado oolitul 23 1ONE OF 5 45yl pgd wino gite pggho dlaz 4y 42y odlita Coto Dz 5 Wil

Waiew 9y g5 Jgaz U g0

Slass Cudo slap wis alas
(FEeS All the girls left early. None of the girls left sarly.
b g Both the girls left early. Neither of the girls left early.

D g3 b e g8 G b Oype 40 Le &S didie ooliziol (JZHy b g0 oul I NORE Of ddes At g 0low Cote Clap o5 AT 0u2if 1l9a) gpaded
neither of 1o teiio g o) 3,0)l5 yasd / juz U 90 (sl (Jy o Cote igitlaz g7 Gl o BOth 05 o oo

oolitunl achyna 31 i3 4 yilads 51 S8 OF by niighiga ) a8 gyt (V11 & plalaicead 51 L 2ygn T a8
Neither of my sisters is married 35 ool (5 yaah g Wiga oo Cull Slinean el IS Gl a2S
{ Lo ciw 3| )i neither of} wzuss Jabs o,0ls {33} | S gon
You can use either of these bathrooms.
{o,L80 yoess 31 3 either of} . ;25 soliza plax {48 1t} 51 S yo 51 Jl5 g
Some of my friends got ill. {Sle o 3l J:3 SOME Of} iiat iy ailings 5l 50
Each of the students needs to do their homework on time.
{the ;! .5 each of} .aiao plail [, LI aBsa 45 wsly olj50] 200 51 K5 50

SMESS g My Asags Eone odeg] STt (551 a2 A5 sl A pgad M LiicuraS” Gonis e MUCH , MANY (glasiuaS ¢80 3,90 4 4530 £55 4
28 bl Sigty 500y B 0a%s oS &) 000d; )

half
. twice much
Jelb+ Jab + Jonie + ﬁmel+“{many + 85 + 393 aunl
etc
We make money twice as much as you do. wwdls Jos Lt il g0 la
They bought books three times as many as we did. Al 5 DS Le s w T

S o dlaz dods S o0lizd MUCK I il pug st oo B yled Jliped o Faiin)s Jiiun alax fynioMONEY o Jlio 37 loas sparitgl
Y Ja dopy 45T 028, o a3lize] MANY ;) oz 2)leid Sl 1p2 5 o2 [OWETS | Jpmi g e 3 Ll it Sy ol SLals” N ke
M8, o Sy Setmeo il (S Ob S0l 5, le b5 uiS Lid o 4,
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POUNCTIOY S JUATW T Tgoor . U PR IPYRR ATREY <[P Y

Jeti+ =8 +half / twice etc. + as + many / much + Jyin + a8+ 440 0!

We have three times as much money as you do. ol Ja led plpasle
They try to give him as much freedom as he wants. axady golj] walys g0 45 j0d ja gy 4 AiS o an Ll
pwio y093 (55N 37y thages b ) dep s Jpnio Jf 55T 57 im0k gt pmio (sl 45 sl 13 (ot ¥ c53 N b 5N ol (509 saeibed

Shamany L much ;/ ua

ivesS o0linl oo 0 S 1 ) @8 many as jl puiyi

There were as many as 50 people in the conference. Aty o8 )8 6]a8 s i B0 ekl 4
3. Example 4 ........ 1000 species of finch have been recognized in Iran, (AF (g uls - MBA)
1) Much as 2) As many 3) As much as 4) As many as

Gl 0 azled ol )8 pib (gais® Y000 ajlaif 4y «Fp 2338 by
N000 ] i bvia] )3 ins speniS odlizw] Sus 1 Lud A8 MANY A8 ] piyi, o EsmlS 2edg]

ot sgond |

OipeSs ol gyngdtoee gt e duly wdesl adil (gousie W 5 daga L..:‘-"' Ogiios . Al INtENSIfiEr ofly ez )3 sniifaads
iphaa 1) 0)laa Jald  pundSH o3 laoazS oty
atent 9) e (igdee dan F Gl juligl o 0 )5 LSS be Bies VeTY

Ali is very busy. o Bl e g e
It rains very slowly. oS jlgse A5 sl o)l

ko | J8 on g obea 0 5 L 0 2y 0 ee S VETY J2e g0 b S0
This painting i8 so/very beautiful. FOW D WO ]

a 10955 SaCud Sy a7 S Lk ez g, 451

80 + mldgj+thlt+4hqﬂ

1. Ali was so busy (that he couldn’t study). S anlllan Conilys &S gs fgld by jad] o

2.1 got up so late that I missed the bus. i yi uaail 43 45 @il Slay o il

3. The music was so loud that we couldn't talk, .4uScomme petuily, gob 45 39 il ol hawge (hta

that gl 4S2f pgo a8 aslizl VETY 51 S0 sl 41 suls oK1 opl 57 4Kl 4o 51 gl 3 il g oS idad
adly ails Jad g Joli ails o alez Sy dloz syl thAL i dey qpges S C33 g (tlon> dage (L3

it 54 5y 0o 80 51 das i a (59,90 87 (ofg 42w joki 80 @ handsome boy  ia; sliai pasl Yaens 50 jl any

80 + Ciwo+a/ an+ 4wl + (that)

It was so busy a day that I could hardly call her. w3 il ) 4 anudly Tt 4 45 O lalitay 5y, Sl
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I had never before met so gentle a man. £Og o (5 Bgly ased i 95l

S0 + many + zez &yl 6 gl + that

There were so many chairs in the room that I trudged. oS oy pB S 4y 4 0 BB 0 Jaie Had]
I have bought so many new books that I don’t know when I’ll read them.
gz palys 1) Ll (5 il gad o ploay ;5 yaz QLS a3

50 + few + o> (& ol L6 puol + that

There were so few chairs in the class that I couldn't sit. PETV-TIPUI % SR SRYVIPC G (N RS

so + much / little + o Lo b(5 ,ué aof + that

There was so much noise in the room that I couldn't sleep. o195 il g5 sod 45 091 louog s 3BT j0 a1
I have never seen so much beautiful jewelry. plodsai loj ,elex iz 9SG
o byl ] 4San Yl 45 0lo ol aion SUCH 5l any Jg ol 08 g Cio 2Blge ,220 SO 5 dmy 45 1l g0 d2ghe «0yuiS B0 ST :Such

itent 9) GhoS) 4Bl ol om0

sucha/suchan + (ciw) + 5,80 pwl + that

such + (i) + zas bl Ji6 ol | bbouds Jol6 yaé sl + that

It was such an interesting book that I studied it three times. il 1) T )b dus a5 09y ol S ,0801
They were such exciting films that we watched them twice.

w2055 Lilas 1) gl 5l 90 a5 wiogy 55800 lmen slapled ja30]

that j1 asy Sl pgo )bl SLalS” sl S35 (Jy 0o 5350 37 gig] oa desly i b5 b 932eg 3 30l 37 4l o 1yl s9500 g

iy ool alaz 51wl

S a3 SO L 5 Vly JUto 5 98 ol e dr e s g, Comeo ol et 4] 510 Yl I

The book was so interesting that I studies it three times.
The films were so exciting that we watched them twice.

78, Example 5: A: A lot of research goes for AIDS research.
B: Yes, because it's ......... that the government is spending a lot to find a cure. (AF 5 il yos - MBA)
1) such serious that 2) so serious a disease 3) so a serious disease 4) a so serious disease
o8l (sl gols5 sanzr Clgo & cusl uz (ler Sy L5 cals B 35S o plol AIDS gaiej o (s0bj Slidod TA - €T» 43S aly
D318 5 o0 oy Slayd o
it Olsad el Voo 50 50 1 g ditice i iy 35l oy 42 SEVIOUS o)) 435 357 Iy Ot prsl ils Loz SUCK 1ty :1G2-01)S panisgl
7925 3T 37 A 45 o ol SOl dar 950 90 (S 0 g G0 S oo (F) 5 (F) (sloaiy 5

SO + Cdio + @/ AN + puul + that = so serious a disease

72, Example 6: The definiteness required is ......... that when the offer is combined with the acceptance,

it will be possible to determine the nature and extent of the obligations. (M 5l o ~MBA)
1) so specificicality 2) so specificity 3) such specificity 4) such specific

g 9294 Dhagas 990> 5 Sl (i Il T D2y 5 Sleiig 0 ol plSim 50 oS Sl g3V BT (Fag Conbll 1D 43,38 sl

S dss 3 a0l oo (F) iy 557 0leoi pusl SOl iy (52 i ,0li (V) iy 55 o i Specificality o3ly 52 a0l (1) a5 1640108 pauags

Ol sl il Loz sUCh
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ol gl 5 5 g 5l 30

MBA gaaii b3

L ya byl plas aizsn 0209 9) gdle ksl 0 50,018 5l olans 15 Jguz 8 (rrat duly )10 ouatdSSl 35 (50U sla)lS SUCh 4 5O

1055 3l gylgl ety B el 1 4 9) 408 0205 (r Lo tdagn (388one (397 (9 (Rl S)lr S L

55k

Jlio

oa3 3

so + adjective + (that)

Their dog was so fierce (that no one dared
to come near it).

Qi)_?d&rbdféﬁw)ﬁo]lpi&u

Dot S35 oyl 4 3,5 o

Edward was so excited (that he couldn’t
sleep last night).

ey 45 39 00 o ja BT ol

gy Conslgs

so + adverb + (that)

The snow fell so fast (that our footsteps
were soon covered up).

395 (3 Lo sl 9 &5 ol oy pais] By

D91 60 g0

His speech went on so long (that people
began to fall asleep).

Al a5 it Vel jadl ol s

Our neighbors play their radio so loudly
that we can’t sleep.

Iy 095 (5920l slio Jadyl Lo slaaluon

e mailes ad Lo a5 AS e 2y

not + so + adjective + as

She is not so honest as I expected she
would be.

S5 cdlas sy JUass) of 5 e oS )AéoT

so + adjective + as + to b oo

so + many / little / much / few +
noun + (that)

I am not so kind as to help you.

There was so much dust (that we couldn’t
see what was happening).

oS SaS 5 4 a5 s Gl jgee 080
et il g0 457 g2 L8 9 0,8 a8

Sl e cutls  Blas] ax

He made so many mistakes (that I am
really disappointed).

ool analls Ladly a5 cutls dale a3

He made so few mistakes (that we were
all surprised).

Ladly Lo (ganm a5 sl o5 olalaal a5
mad Sl

She has so little patience (that she can’t
tolerate any noise).

458z wilgs ol 45 Col Cdlb o a3 4f

..\.SJ.AJJ‘) ‘_;!_Id.o’).u

such a / an + adjective + noun + that

They had such a fierce dog that no one
dared to go near their house.

Sy oS 45 a2t pKads K izl

g S5 Ll (gl 4 5,5 e

He spoke for such a long time that people
began to fall asleep.

Dgs 00y oldles

They are such careful students that they
rarely make mistakes.

ay S axiee SBob ol5eel il uwsT ay]

J..J.SGA oL,L::l [PRY

He writes with such great care that he
rarely makes mistakes.

Sy )85 4y oS dmgien (S50 Lz L ol

'09‘:'6‘ cL,"..fJ

to be + such that

His courage is such that even his enemies
admire him.

pd Rlads S 4S5 Cul guo 4 Aoebrd

Her patience is such that you can never
see him shouting.

ol asilyi gal 3550 a5 ol 05 59501 e

A 05 008 > o 1,
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€S w5l e Oypety g5 3ylS fnl 10 100 ik 100 (520K 45 @ yls a0 suiiSauals gy g0 SUCh 4 80 very , o9 :Too
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100 + uud / o + (Or + Jonio pasd [ Jeaie) + £0 1 jiiae

1. This coffee is too hot for him to drink. el 15 a2 5l b 0adas (81p) Adgty wilgy ol 45 cd (T 51 G818 0g¢d ol
2. He is too young to drive a car. A28 Sl itz oS el 5T 5} a8 ) e
3. Most stars are too far to be seen. Wigdy gad 63 A5 Aliud 49 ,aBl oyt ulé]

2y2g ppd 45 ity o yien po g sy Lo b )5 eonid ig) i ol 45" tng] 5y S 4 2ty Sl gl R 1901 g
¥ 42400100 Lois a3l ita &ppoty syl Moz i)l ghin aline S 100 197 Aiipa dogypa 100 4oy dy g 5 22 g 0] 4310 | ol
et Sl W S o2 les Suito SMlar
i 5mgi5l 80 3, Yl o il Yl laaay
The coffee is so hot that he cannot drink it.
He is so young that he cannot drive a car.
Most stars are so far that they cannot be seen.
8. Example 7:.......... to assess Bateson's unique career and his various contributions to the social sciences.
1) It is right now so early 2) Up to now it is very early
3) It is, as yet, too early 4) It is already very early
i ] oladad pale 228 (giia 40 (gl Uiz Slass g 948 4y pamnia 9 Slas paslysy a5 Cosd 89 L3 jaia €TF 43 rpraly
that j1wbS0 4 aoy7 b (1) 44357 2, S UVETY 0I5 bl 4 (F) 5 (T) flodisj8 g o205 oslizasl 0 by yocsn jl JI5- 5l jl oy 850815 Juibed
A0 b jias & guiS soliz]

L) ek (S5 § ddas dor 5 €IS (5es 4P Sjpe 4 0aiSagats ol Enough

dud [ciino + enough + (for +  Janie yunis | Jonie) +10 U youas
It is warm enough to go swimming. A5 L lan a5 cal @8 (udn) A ol5ee 4 lge
Her little car isn't big enough to seat more than two people comfortably.

i o o] o (23, 4y 585 90 | Gt 45 Gl 85 ] AS2gS et
45 4l oo 20 3 s 10 | yutaan g2g S 5l g 35 4 bS] SlalS” 1idgy oy w05y JEB 25y 4 p 3 ] 0 198 pdeT
enough [ iuw sle 4 b cdio o bxis] L (olagSH S

digT ga Wadigdi gl &5 o)l 04>y Jlhaw Cojgo o7 pladipdi ) wlea Cous oy j‘{dmf‘y,ua tose;l &5 B
S gy sl Sl gy okd solizial 10 U yhume 3 5 (slo 5l day 08T ke S Ly g, prems oy 45 yiSaS
0S8 Bl (rad jf crpigie S, gy ) SUCH 580 4 ladiysS 5 et salizl €NOUGH L 10O 5l gt &5 (S

3. Example 8: A fourteen-year-old is not ........ to vote in a presidential elections in Iram. ¥,4- ... MBA)
1) old enough 2) as old enough 3) enough old 4) enough old as

s i S a0 55 st ey SHE 5 o8 ol sl Al s 8,5 e > i gy

sou ok 55 5o cigamlyS udgl

Cideo + enough +to + verb + ...
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7®.1-_In_the early days barbed wire caused many fights. They occurred when cattlemen found

1 2
grazing land blocked by another men’s barbed wire fences. (AY ¢l s - MBA)
3 4
72, 2- Although the weather in Martha's Vineyard isn’t ......... to have a year — round tourist, it has become
a favorite summer resort. (AY (5l s - MBA)
1) good enough 2) enough good 3) goodly enough 4) good as enough
3. 3- The examination was so difficult that ......... . (AY (il pos = ol 2] Ca pide dcgazme s MBA)
1) few people failed 2) few people passed
3) only a few failed 4) little number of people passed
78 4-Heis ....o.ene a good exporter. (A Spalps = aly2] o e dcsame s MBA)
1)so 2) such 3) too 4) very
79.5- Many rocks have a more complex mineralogy, and in some the mineral particles ............ they can be
identified only through specialized techniques. (VF 5,559)
1) which are those so minute 2) are too minute that
3) which are too minute 4) are so minute that

72.6- From the viewpoint of the insured person, an insurable risk is one for which the probability of loss is not
............... excessive premiums. (% 5559)

1) such high that requires 2) as high as to require
3) so high as to require 4) so high that requires
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Cuawo + enough + juae
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80 + Cuio + @S + 10 L jouae
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ol 5 oot (6l - st oIS 4 Taily 5 0 (0L (ot (slalitno Blol Gy oeps 45iy) dad 5 e 0eiS Carno ALl by 5,90 1 hldon
Sl a8lal By o 4y el dales (sl mants 51,8 Lo Lol 3o g, Bl By o (9 eten 51 528 5 S (gt 55 42505 (slagyge3T 020, (re 250
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4 o o3liiul 3 8 150 5 Ygere I 43lil B> 51D & 9,15
1 o g Lo yglas (loo, B Jto I )50 @bl b

in Europe, in Asia, in Iran, ...

When we were in Italy, we spent a few days in Venice. 0205 G g 50 1y 638y Mz eadg WL [0 &5 le;
in New York, in Paris, ...
I grew up in Texas. P S5 WSS 0 e
in the garden, in the park, in the desert, in the pool... Y L PITE g PR P L Y P P ¢
He lived in the desert for three years. 2)5 (S5 bl 50 Jlo 4w Sse 4y (59
in the bathroom, in the garage, in the kitchen, in the building ... QPN P
There is no one in the room/ in the building. RUSWIR R DU WP I {1 PR S-S
in hospital, in bed, in prison, in church, ... oyl Ay y25 Dy WS A4S olwl b —F
Ann’s mother is in hospital. U IEN - PURERR N
it (550 Ju SIS Gz S g0 &5 Siloj D
He almost drowned when he fell in the river. A e Loy wolidl alsog, 97 a5 gl
Get in the car. 38 Ol g

1S Lai> o g, Uyl ey ylon 0 aBlil Gy Ly Ygane o0y Slodllaol g ol Le

in the sky / in the world / in a line / in a row / in a queue

in an office / in a department
in bed/ in a book / in a (news) paper / in a magazine / in a letter

in the country / in the countryside / in a photograph / in a picture




dagy b yo g Al yo 3 ylet b 0 gerid 5 5y o (e e f. Q

0 oo asliz ol o3 aylge o7 Yaana BE dilsl i > 51 AE 350,08
Tom dayis 050900 e goges loySe g laisla b Y

at the airport, at the bus stop, ...
I will get off at the next stop. A anfys asly any syl 1
at 24 Cedar Avenue ... B gyl LY
They live at 18 Victoria Street. WS ca (S35 VA O )2y Ll o Ll
at home, at school, at university, ... t e g alSLLS0S g bl LY
David was a student at Oxford in the 1960s. wilys o gy 8,085T alSils 10 VAP e ans j0 aymo
at a concert, at a party, at a funeral, ... CRIN-E PRSPy TP T YURPPYY ' ¢
Were there many people at the party/ at the meeting/ at the wedding? €ussls oS8 ooly; sl ougye/ duls [ ilaga j0 4T
at the corner of the street / at the back of the room ... 1Pl sy Ke g hialige -
The garden is at the back of the house. Syl )8 ails iy 0 él
Wildy LS yo8  Jae 4 P
He sat at his desk. ol | e Caidy o
Do you know the man standing at the door/ window? § pulid go 1y ol 0yoxiy [ o Caldy g0 45 (60 T
14l ga adlizul 15 8)lge 55 Yaona 4dlsf Gy> ol 5120M 35,18
Wl 550 (S 3 g b lad 53 Sug &5 laj -
I left the keys on the table. PSS L 5a0 (89, 1) AL (s
I sat on the floor/ ground/ grass/ chair. s (Iio | o3 | Cpaay IS (59) (e
There is a dirty mark on the wall/ ceiling / your nose. D)1 392 At I O g/ i /g (59, g
Have you seen the notice on the notice board/ door? Sesloads o 1 UMl gL (59, 2 ol coai dnadlel dzgia LT
on a bus/ on a train / on a plane/ on a ship ... ean sl o gugeadl e SlalS LY
The bus was very full. There were many people on it. iogs &1 Jlges (5oL ol .35y ys SalS’ gyl
Did you manage to slecp on the plane? ¢ o Laglen 5o tudlyr LT

oS go 3Lzl OD 3Ll B y> 51 115 oMt s Ygana

on the left/ on the right
on the ground floor/ on the first floor/ on the second floor ete.
on a map/ on a menu/ on a list / on a form
on the left-hand side/ right-hand side

" a— —
At Syl pline Soghis 45 By gl oy AN AR By b g Shey ON WS 1> Ly g go ob WY 139037 455
He was kidnapped on his way home. O 0dgyy dils 4y =885k o) 13 Sy

We stopped at a small village on the way to London.
w08 By (SosS (slmg) 30 1y 4 layma Jobo o Lo
She can’t do her dance because the table is in the way.

e (p0) s G0 (197 sy 83l g
igai GHly ol 459K 4 (sl (fp raats Yl slbdaz i 41 4253 o 1, I the way ; on the Way culis eaisi o b5
P PR S 3 V- V) PR O [ L o JRWRP SVE L R (Wt L g eo&..a‘u.‘:i,inthﬂwayjdf‘.éq_lg
S o 23l €yun 33 ol ¥ ao 4 ON the WEY g o 2iws o 150
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9. Example 1: During World War I the British detected German planes in their way to bomb London

1 2
long before the enemy was near the target. They used radio waves instead of sound waves., AV s ,.l,.._ MBA)
3 4

1 5 s sagy 533 50,5 hoar Lkl 45 395y S5 9 1y AT cslaloglyp el rgd gl S S €1 435 sty ]
133 5 aslizal g lael sl &) asoly zhaal 5l lag) o, CitS gl Kia3i Bua 4 cpatis a5l
on their way 5. &b in their way ol> 4 o) anuags

at gon ¢ in Jils j ABlil J o
R 15 Syt Lagas (3950 S (2t o Sl 48L5| > Bt 4 ON D 4iL3! by >
Slee Wole 5 I Jlu and (Wb Juai dagy i 5l L3 In
In the 21% century / in 1990/ in winter / in April / in the last decade ... .
13bes g 3U 9 4340 oLl ool (slo3e, L ON
On Saturday /On May 30" / On Christmas Day / on Friday ... .
3lea Saslus b 9 Gudd glus slaj L AL
At7:30 /atChristmas / atbreakfast/ ... .
They arrived im October. / They arrived in 1968. / They arrived on Friday at 5 o'clock.
John was born in 1919 in December on Sunday at 9:00 el Lis 45 1234 Jluv yualss oo 43 408 59, e A Gl o ol

JUa LAl o gilye gl oS sslisul On

I was born in April. / I was born on April 9th.
wady oslizul at/ o1/ in ailsl o o 31 w,Ls last/ next/ this/ every  Joa JlolS 5l h5 45 3,38 =85 b 3,90 o &y
I’ll see you next Friday. / They got married last week

SO0 Ll by o b
it BDOUL 4dls) B> 5l i gamsy oF 41 ON 48L] B )> Sy (et KhoLi3 | 10 1090 )00 ine &) ygblis 0N o ADOWL AdLS( Uy )0 -
a text book on physics / a book about animals
waiS adedia gy SleMil aa oyl 5l 08lizul U audsl oo 9 (Aud €y Ly 3ok 1 ina 4 According to according to o yle Y
According to the police, his attackers beat him with a blunt instrument.
2595 S 038 3 55 b1, g6 larlee pmely 58 &
There is now widespread support for these proposals, according to a recent public opinion poll.
8 g 330 Ssliy ol 3 gloo i e 1y i i ol

in my opinion &% il & 4 according to me ... &5 ;0 300l 4%
In my opinion (not: According to me), the law must be changed.
A8 e gl gl op laiay
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for + glojo 90 S

during + slw g,
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We watched television for two hours. 020,5 Liled g0l el 90 Soe 4y o
Where have you been? I’ve been waiting for ages. Py O lae S $o0g xS o

A «Jobo 00 (i 4y L] 0 g 00l &) ilej 4z Sl 4y 0aKs ealyS s 4 dipe wolizl Lo during 5
I fell asleep during the film. Sy pllem old Job 5o
78, Example 2: The precise date of the first human occupation of Australia is likely to remain unknown, but

1 2
evidence has been uncovered to suggest human presence on the continent for at least 40,000 years ago.
3 4
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For at least 40000 years. joefien A . iSG 00lizw] A0 4alS I fOT jf ey 43l (93l (g M3 Cons it
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Her name is above mine on the waiting list. sl YL o pli 1 Uatil ] (o ol oL
010 418 400 ez a1 (53 3 L b eandey (S0 oz s S sk A (S5 w00 4 adus oolizul (255 (@DOVE 4 ) OVeET ||

There are thick clouds over most of Scotland. D18 9925 wlilSul (glal> 2l o 051,20 (slo
10 a5 pj slaJlie 4 OVET LuSe SIS under &Ll B 5 tius above uSe Sl below under o below -4

I'm sure the temperature is below zero tonight. Ll Yho y15 el Lod pitedao
Do you always wear a vest under your shirt? § o gst L9 ilym 55 aduod g3 ]
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Jad + Lol g o 2 sl (il
Verb + to

talk to L 9,5 cexe confine sth to 4 S oo;os..\:u‘
speak to L o5 ceme appeal to 4 ad Jwgte
listen to a ools 35 belong to 4 (g (Blate
apologize to 51 0, s8lg>ie  TEspond to 4 ools Fsly
accede to 4 ool Cold, @y aws, TesOrt to 4 ad Jste
adhere to a oyl olizel wy Haile jlolsy  Object to 4 50,5 ol el
yield to 4 b peles  lead to 4 Had e
conform to/ with 51955 6o allude to oS o gls oy0,8 53

consent to 4 ool cols,



forgive sb for

Jbls 4 oS astsy  apologize for

@ i W gulid 5 5 a4y i e MBA paadi 3l )

| Verb + at |
laugh at & s look at 4 o,5 oK
aim (sth) at Coow 43 oy, ailas  glance at 4 53,8 oK ey 4y
shout at oo ok, stare at a3 J;

| Verb + about |
talk about 359058 50,5 Cumo  Care about a4 5918 Coponl
hear about 3,90, (i dream about oxbls g3,
think about 3,90, 0,5 6 worry about o9 o,

Verb + of |
die of / from 3 oo, accuse sb of 4 oS 50,5 pte
suspect sb of S 4 5o SoSite  approve of 00,8 ol
disapprove of ¢ sl remind sb of =S & 50,5 5,9lok
dispose of oMb oM s »8 5l consist of Sload LSas
deprive sb of 5 0,5 pey=e complain of i oog SLo

| Verb + for |
pay (sb) for lp o33ls,  thank sb for Pl a4y S 5l 0,5 il 08

Slr 0355 (shly> ©jdae

blame sb / sth for Sz | oS ilid paie compensate for N AR S JeS
search for Sy oo 9  prepare for &y s oolel

Verb + from |
suffer from 51 yowitS zu, protect sb/ sth from

F Gz oS oo bl

recover from 51 ol agqe  result from SRR
deviate from 5 oad Byeue  differ from 5 o9 Cglicte
emerge from 5 oed laay  escape from S oo,s I8
withdraw from ) oot ,us” learn from 5 o8 ,8el
Verb + on |
depend on a4 ;09 azwlg  Subsist on 5 a,S Silas Lyl

compliment sb on Jblaay oS 58,5 eeos  Congratulate sb on Slsay S 4y 1S S5
insist on »/ 40,5 )l concentrate on RO S8
comment on 3,90 8 oyols ks focus on 2 009 55 yete
remark on 0,0 0,5 ki bl report on 3y90 0 ools b1
impose sth on P Srr 005 Jeeos  reflect on )90 45 53,5 Jebs
encroach on 00,5 shass (5,8 el
Verb + with |

agree with b o9 Golse provide sb with =S &l 50,5 onl
deal with a4 3ls,,  cope with Odal y oge
cooperate with b 8,5 5o consult with b 00,5 & jgudee

coincide with

b oo olejen interfere with

b ondls S5
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Verb +in

“believe in «s ot olizel  specialize in Lanj 13 (2l paadd
succeed in 38 oad 3hge interfere in PRI N [ERY
engage in P8 S48 g sl excel in 2 oS oty
invest in 15 9,5 68l resultin & Hbd e
meddle in 5 go,S edss  participate in PR g g
persist in 20955 )l el

Verb + between
arbitrate between Ot 005 el differentiate between 5 )5 nlate
distinguish between et (o018 jead oy 23S 3,5 judge between et (9055 Cuglad

(sina 4y a8 Jladl zoyg03T {(

ool Jia ey 50 TOX 4t 06 by Yyana 1200 €53, paSioma o8 5" olizis
criticize, censure, reproach, scold, condermn, reprimand ... .
Doctors have criticized the government for failing to invest enough in the health service.
RERE R RETIESIRE L gPyC N MR RS TNETN
Her father scolded her for upsetting her mother.
S e hydle 0,8 Ealill ol | ol gy
Sl s fOF 6lol G b o (120 €53,5 (pmani® | ime 4y 45 lad]
respect, praise, admire, applaud ... .
The mayor praised the rescue teams for their courage.
38 fpd plizelond Jblidy |, o (slaest o,

3. Example 3: The teacher felt bad because she had scolded the bright child who was restless ........... .
4 50w - MBA)
1) for want of something to do 2) wanting something to do
3) for something to do he wanted 4) to do something he wanted to do it

gt 0,8 e ISl 4y a5 a1y QB pnl e 45 5 ol sy e lan €10 a8 oty
olagl fOT L po (T) 4238 . ((2un (P) 5 (V) s SleafOr @ilisl iy L g,9bo 52! 8)1pe g CTiticize ScOld J20 il fab puzif iganl)S gpaded
ALy &y (V) 433 gy 200 [C20 o5 4 SOMething to do he wanted ),

S + bt g o 2 Ll (0
be ashamed of 5 odg sdia,s  be capable of 4 oyog 6
be accused of 4 oo aqzs  be clear of RYTUANES
be accustomed to 4 ydls cole  be different from (L) o2l iglis
be afraid of 3l eoemys  be doubtful about (o l50) H2bls S8
be angry at 3 o8 gloae  be familiar with (L) g5 LT
be anxious for Gl sl oo oykae  be faithful to (L) 34 oy



D -

i gl 5 5 g 5l 30 MBA paadi 3l )
be anxious about (il ot o jlaiae  be full of GD oo
be busy with (L) oo9r Janit o0 ,i3,5  be glad of / about (B2 3 Sz o)k e Jlebys
be careful about oo il be guilty of G g ,Kals
be composed of oo Jels  be independent of 09 JEuune

be covered with
be interested in
be jealous of
be proud of

be responsible for

cost of

cause of
degree in
effect on

example of

.' according to

as a consequence of
as aresult of

at times

at work / play

at last

at once

' by mistake

by (land, sea, air)
by heart

by chance

by accident / luck
by myself

by all means

in bed

in itself
in trouble
in general
in ink

in sight

(L) ool ool
(@) (01 dxedddle
(@) oo,5 ol

(4) Oy y5ha

092 Jgtume
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Coo) g o pudyd 40

St oS ysboas

odd dibgl g ydke oy292

803 v 5o

be related to
be sorry for
be shy of
be weak in

be content with

need for
possibility of
reason for
result of

solution to (for)
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at first sight

at war / peace

at a profit / a loss
at most / least

at heart

at all costs

aim at

by means of
by no means
by degree

by the way

by sight / name
by far

by nature

in terms of

in the long run
in the end

in common

in a hurry

in public
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inall leo> intime &g 5l 5393
in some cases edlge oan o in danger JUT
in fact Cagd> o dly 0 inlove Gole
in particular logate  ol5 joboay inneed zbore
in short / brief ao)5 ebay in spite of 3929 b pé e
in turn cug 4 1N view of FUPESCR
in addition to pople 1nthat Llod ol 5l ol
; =
on time #3s0 & 0N account of Jds |
on behalf of 5 S 3 Sanlei 4 (59w 31 ON the basis of ookl oglins
w
“ with the exception of bl & with the purpose of Sas by |

,‘,.:..S‘s.o oolaul on )l w9 C«ié,m alo> .M):d' J:.o ..\.Lb.)‘s‘e QL.‘.'.J |) C«.l.),m as ‘SAL-JI )" dy
Sanction, limit, constraint, attack, restriction, ban
Isn't there a ban on pesticides? 3,05 5929 Lo 256 > 5l eolicil ale  Jgild L]

G £ s (Sl 57z s 57z ) B gl 00 (2 S0l lides g (s dBlol B S ] e sk dayy B S
@SS (50 (st 25 Cuond g5 g p9aS o &S
& JtaLads 55 4 g optuwe yet fOr 50 o1 but and Jols by, &> 5l 4z ol (coordinate conjunctions) jLuasbos Lyy > o)
0951 llan U5 i 9, 5 Jo B iy 2 SalS (pra J2n 1o 00 (392005 (ptern 40255 (o B 57 €leb 5 €aS 929 &l iy lebr
Like peas and broad beans, soya beans grow in pods . @iio >
WS o Ay Cawgy BIE 53 5u5 Lguw (slaaily ( JBL g 3450 (slaadls wiilen
In the U.S. soya is not harvested by hand but by machine.

D38 oo Cubld gy yadile b aSly 998 o Sl Casd by Lgas cotoeie YL 4o
The beans may be yellow, green, brown, or mottled. IRCE N | P PR POV S SUMPRYS SOV (X GO PH
The soya bean is versatile, so it is grown widely. Dgd oo CudS 00,58 jgbody pl by o alisee (slos )15 Lgu (sails

Chinese live longer than many other nationalities, for they eat healthful diets.
iy oo ol (SIAE aS 02 OS o e iy laode Al 4y Cons b o
He was a criminal, yet many people admired him. 33,8 g0 i 1y (59 (6 ket S8 g 090 Sl gl
. ..gbad but kind .5 o €0 Lol 0 0.5 4511, Ali and Ahmad .5 0 el 5 Jo> 0.5 polsse 451 Y les-
:(Correlative Conjunctions) pq ke 9 p3¥ sy g > =Y

=l 5 o2 g, laday, 3> ol a2 either ... or, neither ... nor, both ... and, not only ... but also, whether .... or Juls azus oyl

Kaz . a2P &KaSh . LS 4D Koo pbP Kai o dD KL LD oplin dez 5 (5 0k cnl Cly e S G A e gl o 500,15 g ol

She not only sings like an angel, but alse dances divinely. uady oo ob e aSh wilgs e 5lsl 4t 5 K e g5 45 4
The lecture was both interesting and instructive. g1 0dijgal o8 g liz ob it
Soya can be used in either fish food or chicken food. 555 51,8 ool 5,90 a2 9> S1y95 0 b ale STye3 0 b wilg o bgu
Soya is dangerous to neither humans nor animals. Slilgar (gly &5l Sbylas ba bl 51y &5 Lges

Soya is not only the most efficient but also the least costly source of protein.
el (5eig g ke GpFai e S a8k O e L & Lige
Whether we go by bus or train, it will takes 6 hours. QLS o Job celes £ b b ax magy wegsl b ax
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as well a8 Ly 5, both 32 e Jlg ol o Ly 28 . 0uS oSS aiws ol Jayy 3y 4 a0 )b & 50T 453
asl Ll & pglss Lim gy 5206 2> 43 0 45 0T 4 o neither b (00 15 & ' X‘
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. Example 4: ................ one experiment or one hundred, at Mirus Bio we know your passion for science will
take you one step closer to the answer. (A8 (5:59)
1) Performing from 2) When you perform
3) By performing 4) Whether you perform

IS o Su83 Gy 4 ol Sy L oo & L] g0 gyee 50 railge Lo dg apad plat (BulaiT Sy 4z €D Ly gy B
S g JTOT 4 oag] (F) 438" g Whether o5 izl o, whether..... OF Wl oy 45 0 00lizi] & oty ] 0,03 1552018 Bpaibgl

Vs ot 8 b 55 gip-tian 00l Lo (yadelaar dus ol Ly, 3y > (Subordinate Conjunction) jludiuuls duyydey> ¥
25l 45 il Gy ol b Lo 57 557 e0,91 45 Jgaz 57 9indlis igetes Lo 0010 J108 453 (e 93 (opdiads g €45 (g3 S (2B g0 ST
Agagtie ity (o ol Slacud fyz S Siin g, Gptaies lais S Lis fptla as

(ylo3) Time
after o until & gloj b
as & l; When & alSia
before 3 b While & glaj
once & Jl; since -
(sLar) Contrast
while « J> ,» Whereas § J> o
although 4,9 even though s
(& ,5) Condition
if 9 incase Ky
provided that « oyt « unless ol S
(cd>) Manner
as S (590 asif S 265
(cde) Cause
because & o5z
as & o2
since & Jds ol
(Jua) Purpese
so that b
in order that k&
in the hope that a5 sl opf by
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You can begin when you are ready. S Egd s il 45 olos ya a5 oo
They have become very snobbish since they have moved into their expensive apartment,
Ao 19 n o los S fSa Ji5 395 iach oot 44 45 e §
While he admitted stealing the money, he denied doing any harm to the owner.
855 86Ty o S 4y (585 ol Lal 63,5 3281 Jgy 53030 44 ol 4 81

52 Hat st (et G 93 (s (Jy L3 Sl Coma ol 0S5 K umasd S jlocygen Sygn il 655
b (nt 6l 5 dragpie Cans s St (39831 4 (S (397 oS ik gigiblin ima ez 4l ot ol
Lodayy o ol Cuadle (5 41 093 (o7ep 4500 45 45 2 45T 9 (e S a7 9y S Sp90 (igiy 1
o 28y Loguasue wad g anlizal 158y 31 Yyana jlutilian Loy iy 5 o8 Slta a8 (52608 aigs o o gl oS 0l
Er5 3 B (o) dlar glotauy by alex Jgl o871 jlusdzuly dayy by Mia by 03 00 ooy o 44 5 dlazr B g0

e atn Bl S5 09 Vgana sley alaz Loy 481 Iy oy o0 ik ( g stlex
You can begin when you are ready.

When you are ready, you can begin,
I was tired, so I didn't go to school.

B . -1
SR ' 1
|

73 Example 5: We cannot escape the fact that teachers are under very great pressure, and, despite the

pleasures of working with developing minds and young people, their morale is low ............... .
(A0 gyl s - MBA)
1) leave the profession in droves 2) they in droves leave the profession
3) and they are leaving the profession in droves 4) what they do to the profession is leave in droves

Jio 38 ladl Uy oatls 15y s Sl o pegle 9 00yl 41,5 (6 et 1128 i Waplas 45 o30Sy i 2! 51 ol gmi Lo muj:éuum
5 8 0 STy il ol T 5l 6ot (sliag 8 il 9 Syl haad 4y ool g e
poniy oo (T) &8 & Conly 0u2f cine g, ddas 45T 5 sigpnl)S pradel

8, Example 6: ......... often serve as places of public entertainment and festivals, they can also be places
where people can find peace and solitude. (Y 5yl yos - MBA)
1) City parks 2) City parks that
3) Even though city parks 4) There are city parks which

LS il w8 g it Ul 352 5 10 05 05 7o 517 200K ot clél s e S5y 4z €T3 i sty B
S )18 o0lizisl 3300 5 aletS 3 sl 4 pbims saliteds s e

Cos? il g3 ol dly o 43 ol &t rigi 4T (g peatrgo (OF) itiF 4 5335 of foo Siguts 55 dlaz pimo 45T st sigpalyS guaisgd
gy jled jlodzuntly Loy iy &1 45 gty a5t gy oS g i) ) Bima 4 22t dhor sy (JoS g 09/ 45 0)0 S92y

78 Example 7: Moreover, ......... we might suspect that certain questions will appear in the examination,
we are never quite sure, AA 53malp - MBA)
1) since 2) in case 3) because 4) although
el cialae plgiad €5 st w2alyS e ot 3 ol OVl S weip i ol (3Kan 351 copdledy €F 43,35 sty B
prminss (0 Gt s oS Moz, 45T puipily 5 oy 6 a2 pine gy alod o2 il oy jlestiantly oy iy (19306l 5 SiGMUS ZanigY
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Cip-tolaat um Latesy) 48 day) 43 4258 90 () i gy Oy 4245 50 (S5 45 daygle ol (i Slasainly dayy Uiy 51 4S placs g3 Ypana
o b olyed o) el Faga Cand 0300 51D dwd Cptl o7 g Cdonati 0P K& S0P €l L D s g1 U o7 e gy Ll GSdigs | Jg a0l
wiss) 5 Jsdr 9 ez o (et

s byl e

o934 | Besides, likewise, moreover, furthermore, in addition, also eimed
L,s | Otherwise Sypocn! b 5o
«»zi | Accordingly, consequently, hence, then, therefore, as a result, as a consequence Ldlazs wtmezs 5 sy
ofej | Then, meanwhile D el 1 g
ol | However, nevertheless Jl> ol s dla

cstam oS B gy Yl pte 4] (gl 4y 028 gar g adpa () 4T Q0 b mda (1525 5) gl €isrimand oF (ighes den Bapl
cmg Ol g desd 5 0y €riometd Gians S Sl 0 8 (i ge 4500 (S ik piydeiae 4505, (LS (gpsle cl xS ik g linlie

1. The boy was sick; therefore, he didn't go to school. FOUR DUV [V PV TONE S0
2.1 don't want to go shopping; besides, I have not got any money. P T PN [ - X C S PPRRVICPIN gt
thin 08litu] ol o dows o5 dars Saud 1dany 3 9ud oSl M

wlas glani -

3. Most computer users have never received any formal keyboard training. Consequently, their keyboard skills are
inefficient.
i |y S 10 hn 390 i 58 whmeT )0 oyl gasy igal 3)9eS oy 3 I8 (55 grealS 1)lS 2]

‘alos Jawy —Y
4. What you said was true. It was, nevertheless, a little unlikely. YR ICEVSI-SK N PRYVRCRN gk PP |
5. An extremely unpleased disease, which is however, easy to treat. ol layd Sl Lf iyl Jloy (5 loss K
oo 45l ¥

6. There is consumer demand for ivory, many African elephants are being slaughtered ruthlessly, therefore.
$ig ga plo S5 lis T (glafod 5 (g et crtlples el Sl gle o5l Lot

Slouadle 3l dayy glodd 51 o3 5 Sar egpinign 45 sboryged (et 25 Wy gladlar & 48 b 4 el 45
Jle 37 45 o 15 e2d,S 0l () 51 oyal 3 s n 6) 31 by 03 51 S5 Y o ) (slals o5 Moa 4 g ool gols
(sto e 55 Stea) 4 go oolitel alaz fol ory 523 3By e oSy domali usisign g oS ool b jf dayy 2,3 50 5 ¥
1% sla s g5 dd e aolinal () 51l g0 2 )0 Gaf 5 s g g S5 9y (D L g 6 ol 5 S g0 (F 9 ¥
Vgane 45 P o & Ay oolicd ) 51 dagy 8B 3l Sy 5 Jod oy Soppo a5 45 3 o3litesd alacr Lauwy dayy 43
05 188 139 9 akaii ol olSul> Laza 4ty 20lind () 51 agly ol 51 B 5 00 oolined alaz 3T dagy 0B wolai auly 9,018
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72 Example 8: No matter how peaceable, sedentary or uninquisitive most ET civilizations may be,

ultimately they will all have a motive for interstellar migration, ......... no star lasts forever. f ... . MBA)
1) however 2) furthermore 3) then 4) because

&l S sl Bl don plowl s waitly Salllan g rlgs ek g o o3Il az b (iuajl)h Sactal S g €FF 43T suly

Ailo gai (Bl 0 B (gl b geam 1,05 0,5 aimlys law 03,550 (slo biw

e My ) g Ol pine g ol Sy oo (F) 48 bl pine 4 i b oy S (F) digj575 aly A5 gl 457 e 5 igalyS Zaaagl

doemo Aoz il o8 b 4l wp S35 9 481 o el lodis 15 4y (F) i g wontaged et imy (I oS ool S il S sl IS

O 9 Loain Lo (22 00LSTLS 05 4 (197 00955 S1yo> o Eone (l S pga 9y e (nl g s ALl By g Ly By 090 50 4K ST 4
Ly, By 5low 3,k 5ol ol O jlie b pasd aSy Sl dlas 48lSl By 5l oy a5 (bl 0l dxgie Jlo 43 B 495095 025 B Jg 023,55 0Ll o y0

S £y g, Eonee (xl migi g 4T 4y Sl b Ly 5 oo aloz Ygome sludily

because of g because :Jaof 5,90
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They decided to stay at home, because the weather was bad. D913 g 9> aiiley i3 0 a8, aonad Lyl

They decided to stay at home because of bad weather. ailay a3 40 0338,8 paoual 19 g ol 09 cuaslials Ll 4y L]

ooyl cawsl Syl ey el 48l 3, Decause of sz o oues] dlar JSuny sk, > because g sguagl

in spite 4 despite :p95 5,90

5 4 ab poly dea (el mlggy 451 KBNS P Kod) o Ale pa (pduine Ol Wl e (gdam (g ML B (gded o Bgd

S odlizl though 4 even though although It 4 ol sl> 4 L in spite the fact that L despite the fact that . Moo psds (g i

KaSel 0929 b 4z 5P (pdae (ppdien @35 &5 (S )le iy oz o

Despite his denial, we knew that he was guilty. sl pya 45 mptild o Lo (59 IS ok e
Despite the fact that / although I don't like that artist, I admire his work.
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instead of 4 instead :pgu 5,90
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We went to Esfahan instead of Shiraz. o3y oledol 4 5l gl 4 b

We went to Esfahan instead. by oledal 4 oge 5o Lo

besides g beside :p,l2 3,90
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All of the students but Jack had done their homework.
All of the students except Jack had done their homework.
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We got there not just in winter, but also in summer.
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The place was not only cold, but dark. / She has net only been late three times, she has alse done no work.

72 Example 9: A: What did John do after he fell? (A# &,y - MBA)
B: He kept running ......... the severe pain in his left leg.
1) despite 2) unless 3) however 4) even though
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72, Example 10: They offer many advantages to small business owners ......... problematic.
(AY (5l p = 2l y2] Cy e degaze e MBA)
1itis 2) despite its 3) however it is 4) even though it is
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72, 1- Some people are never content ......... what they have. AY (ool yos = 23] St yada deg03ma g MBA)
1) of 2) for 3) with 4) about
72 2- A: How long is the flight? B: ......... knowledge, it takes about 3 hours. (AP 5l yos - MBA)
1) In my best 2) To my best 3) In best of my 4) To the best of my
72 3- A: Soccer is becoming very popular in Pakistan. (A# (5 il s - MBA)
B: For many children it is a good alternative ......... playing cricket.
1) to 2) of 3) from 4) with
7. 4- The differential attractions of the sun and the moon have a direct effect in the rising and falling of the tides.
1 2 3 4
(AY sl -MBA)
TR 5 ceeeernen lack of success and financial reward, Vincent van Gogh persevered with his painting
A\ (5l o -MBA)
1) His 2) Due to his 3) Although his 4) Despite his

7. 6- Since large segments of the populations of many developing countries are close to the subsistence margin

and essentially powerless, they tend to be the losers in this system ........ they are aided by a supportive
government policy .
@AY (5l ys - MBA)

1) whereas 2) meanwhile 3) nevertheless 4) unless
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When I went to school, I saw Al.
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I saw Ali when I went to school. pTDy dasyio 43 &5 glaj pss ) o
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Once, until, after, since, when, as, whenever, before, while....
Sl byl 6565 g0 018 Jayy o 4 a5 oy, By yo all gioly (bl a4 .Canld o opl 5l ity L3 Cygdoland n iS5 Lads g, Lyl C8g 4y ladoy
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It was difficult to observe the stars before the telescope was invented. Dy K ol i (sLoleT cprgKiads gl 5l
When I was walking in the park, I saw two men fighting. DS e 1ged on b AT payd 1y Ji g8 by g0 ol L 0 a5 ke

The man stole the jewelry and he hid it in his home until he could safely get out of the town.
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2. Example 1: According to noted neurologist Antonio R. Damasio, joy or sorrow can emerge ...............
physical changes in the body. (AY < 259)
1) only after does the brain register 2) to register the brain after only
3) only after the brain registers 4) to register only after the brain
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Because, since, as, due to the fact that, in that, on the grounds that ... . {4092 1ditn o9 Ko Jao}
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Since some planets are too far away to send people, computer operated space probes are sent.
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He is like his father in that he is very susceptible to feminine charms.
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As it is a public holiday, you won't find many shops open. ICCINTIPCINR V95 PRSI PN IWERRLINE POV W 29% L VP
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Although helium is rare on earth, it is common in the universe.
agge il s plagr JS5 38 sl leaS (2aj (53, wels yais 451

Though it was raining cats and dogs, we continued our playing and won the football match.
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Whereas Jane was fresh and active, her sister was upset. Sy eKad i yalgs g Jlad g Sl s (a2 a8
Although Ali is lazy, his brother is hardworking, NOWR [RCIS. CF SRC RN JRYONR Iy I PP TS o
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Incorrect: Although she is intelligent, but she finds it difficult to express her ideas.
Correct: Although she is intelligent, she finds it difficult to express her ideas.
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8. Example 2: «.ceeeesenes. carlier discussions of the possibility of Earth's motion, the Polish astronomer Nicolaus

Copernicns was the first to propound a comprehensive heliocentric theory. (P 5553
1) Although there had been 2) Despite there were
3) Nevertheless, it had been 4) Even though they were
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There is a lot of debate about the safety of nuclear power.
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W Example 3! coeeeererereene. readily acknowledged that workers are not motivated by money alone, their
abstractions were based only on the economic aspects of reality. (F 5,25
1) Despite classical economists 2) Classical economists, while
3) Classical economists, however 4) Although classical economists
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If, provided that, in the event that, in case ... {a5 5y00,8 51 gms San}
Unless {,%} , evenif {51 2>}
You will see hundreds of stars if you look at the sky. IRVEDPIPINN S0 ERVSIIWEL g < IR POV PV ¢
You can study distant stars provided that you have a radio telescope.
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Come tomorrow unless I phone. e Sy ilad 4oyl Lol la b
9. Example 4: Even if children don't end up pursuing a particular subject, sport or instrument, .........

proficiency in one domain helps them understand how to build long-lasting skills in others. f ... MBA)
1) when attained 2) though attaining 3) attaining 4) which attains
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Even if she gets her A levels, she’s going to have problems finding a job.
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If you boil water, it changes into steam. D a5 wiliigz 4, ol S
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If you listen carefully, you will understand the lesson. Dpagd e 1) uyd o oy Jhsf Sl |y S

p—

ol 58 o)l Como (608 (lae 158 3,00 40 45 2y Sl g 4K lsdad 8)58 Bai 4 oyt EDlas 2oge T 4
Sy o g (ol dt gy Y dlaor peinh ga (g d2syS 0 359

You will understand the lesson if you listen carefully.
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If you listened carefully, you would understand the lesson. agatd gn [y ugd (85,5 g0 295 o i ST
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If Americans ate fewer foods with sugar and salt, their general health would be better.
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If Americans eat fewer foods with sugar and sals, their general health will be better.
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If T were you, I would eat all the cake. P30 a1y K5 alad oy 47 (sl (ye S
If he were here, we might go swimming together. POCT JN P AP PR DO VRI ES I
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Were I you, I would punish the child. « 9", Tf T were you, I would punish the child.
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If you had listened carefully, you would have understood the lesson.
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Had you invited me, I would have come to your house. } Jolas
If you had invited me, I would have come to your house.
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73, Example 5: The reason why these instructors so explicitly mark their digressions is .......... . students
might not only become confused but think their instructors are disorganized. (A8 syl - MBA)
1) if not 2) that if they do not 3) that not to do it 4) what if they do not
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The reason why ...... is that
The reason why he left is that he didn't like her.
If they do not, students might not only .... Susbotl i Ayl By (gl pis A5 ot Yol (T) b amrs (T) 435 L oy
. Example 6: ......... to occur in the Earth's crust, push-pull and shake waves would be generated
simultaneously. (A% 5 pulpu - MBA)
1) A break was 2) If a break 3) If broken 4) Were a break

A i) ool 3 BT - (L8 sy o) el plaied ol looge 5 (s Ay 58 CanKD Ko ST €FP a5 sl
GBI a4 iyl oyt dhor Cuns oy o stws oL be generated yl pn st wopkiise cud il 7 99 £yl ooy EIBUS BuuitgT
loe 5 ATl SLS 4 s (T) iy 15y il (V) iy j8° a2 L3 (1) g3 oy WAS & 2l WeTe b a3U10 be ygales T Lo 43l <z3bs

w03gs i3l ool 4] s ol g Stnames (F) iy 57 L Yl
If a break were to occur in the Earth's crust, push-pull and shake waves would be generated simultaneously.
tloz ol pales 1) WETE 3 0uiS Siim 4, Uf pacipi g oy £80 oy 37 oS
Were a break to occur in the Earth's crust, push-pull and shake waves would be generated simultaneously.

78 Example 7: Kit....... more dry in the desert southeast, the hot temperatures in Iran would be intolerable.
(¥ 5% gl -MBA)
1) were 2) was 3)be 4)is
Al e o35 Jlpd ol o Yl jles slales witi o jdile 5 Gl (558 waiz ol ST € 4556 sty
dtl byt dlazr  Jab oy oidag] dopd oy 35 45 s WOUL D oo JSHipits 45 g5 g0 Lo gy 90 43 (hopd s i 1i301S Bty

Ao Were izua 10 be g4 il 9o g 48l 42808
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185 9,190
so that, in order that, to the end that .... {816 an Kan)
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in the hope that {as el ol 4 it}

Astronomers improve telescopes so that they will discover more about stars.
A RS A 4 a2y (6 mh el 4 ol B 23 o sl 1) baigigSinds o buslictio ylw

I will go by car so that I can take more luggage. Pt b Jilwg pilgs B pyyee edle b
We left a message in order that he would know we’d called. o0y S5 Lo oS il )l @un 38 by

9. Example 8: The firemen handle the box ......... the wheels grip two adjacent rails on the building.
AY gyl - MBA)
1) such to 2) such that 3) in order to 4) in order that

by il (59, 5t salome Joy 99 4 gz b asiS ca S5, donz 25 23T gl €60 5 ey 4|
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As, as if, as though, ... {45 9 &S (5 pb o Sen}
Ancient people used the stars as if they were calendars. sy pugii (5 0uw) ] 45 058" waid )5 oo ealizd U o 5l oty 030
The Milky Way looks as though it is a faint band of light. by oo Sl 4 03 5l ghand (4TS (yagmed (55ed ofy HLASS
Ja o urlSS] 35 5 €45 o S bz 23 o g5 45 08 )5 00, ol 95 Al (e oim g o S, B 10 1yKe 5B 05 Y

1915 O)lge
Where, everywhere, wherever ... (o5 oo Sl 2 ony Ken}
There were stars wherever she looked. IRVRYPPIPYN -WAPRYK SN S X o PR
A crater was formed where the meteor hit the earth. A alol Jasf )5 8,05 5 ee; b Kin gl oS gl

:Jle Sz, amore /er ... than L as ....88 b Saisla o 5 0ken 5 soled 33 g Cubuo g Lol .3 3 Ciboo aigialy 1dans(lo (gad 0,135 .A
Ahmad is as tall as Ali. /// Ahmad is taller than Ali.
rirben s ol oVl s (sims S LS| b cppetlaz 15T il sl dclin 598 058 Wl oo b 3 5l 481 V> 5
Ahmad is as tall as Aliis. /// Ahmad is taller than Ali is.
RossS 2 25 Ja 55 (o iy 3Ll alar 15T 4,00 B Jui b Lo w10 D £33 5l pgalad 7 Jiia 59 el 57 Moicad aobis iy adven
He plays piano as well as me. // You didn't finish the puzzle as quickly as Reza.
den (5)0b il Ogedanlia 3. 03 |y adl 2B3E gagd Jab g (S2eud o3ls Jl> ol Jub 825 oS5 ygadlad 4y
He plays piano as well as I do. /// You didn't finish the puzzle as quickly as Reza did.

g apl S Sl altae ol pyfadaal w03y bogiye (535 o158 g lodiunly by By 4 b Cone gz Fupe] 45
Moamsd o (5 pkas] 145 .0 y2mn uy, 18)> a2 on Defore | after oo JlolS a8 K6 by 4y g asly ani
0l ool aly 4Kl S oolin) alazr 5l gdiny b a0 Sy (pl 457 (0L i ALSH B> 4iSee S (pad

He entered the house after Ali did. // He entered the house after AlL.
3 e ddlol L3y BFEET 290 g7 My adegl dlarr utas a5 43y} g2 (Saadi akeyy 5y after ) e 5 5
eyl ol AFEET 5| tay 45" 4yl o2 Slaigd
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8. 1- Coral islands such as the Maldives are the tips of reefs built during periods of warm climate,

when ......... higher. (A 5l yu - MBA)
1) were sea levels 2) sea levels were 3) sea had levels 4) having sea levels

72 2-Today carpet refers to floor coverings that reach from wall to wall ......... rug refers to a piece of

material that covers only one section of the floor. (A (gl o - MBA)
1) among 2) therefore 3) in as much as 4) whereas

72 3- Competition among states, especially those having different economic systems, is ......... to achieve a

higher rate of economic growth than its rivals. (AY 5559)
1) too strong for each strive 2) as strong for each as to strive
3) very strong as each strives 4) as strong as each to strive
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ey sLoo)liS 48 aly slwo )i S 5l slaSis g9 mlss oo Jad (nl 95 V> 1023,5 (oy 0 Jol5 55 a2 55 g3 slao,l3S J5 Jad o5
Gt e Auly diS n gt gy yrasd by sl &) ey s Co e (83 oy 0135 erds T 95 ()19 ol (J3osa o lgalex 1)
3 Famoge plod iog sloo )T 55 (g )l GuelS B luaianly dayy gy 08 08 sloo 5T g7 adl (ol &S1 . Ghog mF o
b (s 00 9929 o )l b5 o kg lre,l3S .ol Sl i where g when that which whose .whom who .3
it E9pd (o)l Jlo 4 b ol
Ll oy ol a5 (50 ,0»
b ol & oo o (B> oy 0,135 ki aidgoga yrasd €45H 5 435 g0 Chnogt 5) 5350 00 (97 Ty dsiog o)f3 «iuslonl 45> Jlo ool 5
S (gt 95 2 (ol Yo (nley Yo s €63, 03l a2 y0 Vb Jlo 55 (205 (50 22 0 el () 40 &5 A (0 hriogi 9, et
The man who is here is my father.

A il (loyl35 shag o35 S 0uiiS Lo aigl gz y0 oa the MaN o3ly 5 Jpwge pos WHO « iy 0,135 WhO is here wule> ol 55
0,5 @ oless 4 495 o3 Who iS here Lo () o5 45 aipon aul
whose whom Who  Jolts Jsoge plas 1S g2 55 J9o9e sled ez 0 5 8 &5 403V ety az g g oy 0))3S e Sl gl
5 (s 40z €a» Sjgo &) b 55 plad (nl Shed w00 enp 25 AR S 9y Opden 4T Ius 4K 0)lse (5w 4 9 Which
S €93 WhO Ly (0l a8 s (frd (50 ) () 95 03lg oo Joo 08 1350 0,18
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1. The tribes who lived in the Great plains used smoke as signals.
30,5 oo oalatul Cudle ylgiedy 590 3 i )T co (Si; €y )FP gslacds jo oS LLS

2. Do you know the people who live next door? Sl g0 saind Lo dylunan a5 1, LS L]

o 1 sl o oolitu] JaS I Jouoso prads jl das 97 5 it Glusil a-p0 50 0 people 5 the tribes closily of 5 ) slo Jlio 55 :paairgT
PA U'[‘E T ATE T o) sl Jp;..:fad[i:..a/WhO QJ}a}o

1. The man whom I met was very curious. gy glSouS L ps,S Bl 45 (53,0
2. This is Mr. Safari, whom you met last night. W333,5 S s oS el (500 BT (!
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He sent a message whose content we had agreed upon in advance.
g 03,5 395 Glulgie 000 (Agliey &5 ol b liy o
I saw a girl whose hair came down to her waist. waligo ol SipeS B Jlalegae a5 ansn |y (625

2

105 g0 oolitul Sla o 5 b a5 gl g WHOBE f o Jlge glolb o3y can tee il 435
ds ygb il Showouo 4aladl l &5 4ll yeiuly> « the boy whose his book % 3
(LbS a5 (5,uy) the boy whose book...
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3. Example 1: In a parliamentary system, it is not the monarch but the prime minister ......... .
1) whom the real power  2) who has the real power 3) whom has the real power  4) whose the real power

Aaslayh di o)1 Coms 0 1y (guily ©0a8 4 Sul pjplancid sgilel )l plis jo €VR w158 ety
4l whom wli pa () 435 5 oloall (F) 5 (1) ey doemo (1) (odis i )b Ll 245 y <ilui/ prime miniSter 1gpol)S guagd

.m.z.\'u. aslizd which )I CAS, O)I 10943 oL...ﬂ Lgor> ya Py :‘J’lﬁ. lg Jsl.b J-B » ﬁlg_-b‘ ‘51}! which (¢

1. This is the key which opens the garage. W28 g 5b 1 38 0 a8 add (gadS
2. The drumbeats which we hear send a message. it b oo () ol pagid oo e a5 Lbs oy
3. I forget most of the films which I see. Wi o0 hgalyd padn o0 5 1y slaplid 25T o

WhiCh (Jyoge ya j1 aily o3 ssliz fas ] Jyoge yad jl oy (132 5 s 3 Casd (Ll KEY 03ly (ot g0 45 s igan 1 Jita 47 sphuitgT
) ol i 3o e (St 457ty ssliz]

l3s Jyoge soai ol o 4l WhiCh | Jpoge yiad aily bl Jab 08  Jposa yrosd jl day g dSl (o iy 451 S (028 8l iyl U (g
oS g o0l it yd (gl Which 51 5 ludl (gl WHO 31 a5 2glis ol b &5 o Jas WHO J2a

oo 1 iy 03 oolizu] o jl Jyoge peas jl das 32 5 et il the films 4 The drumbeats slossly 1 5 ¥ csla Jiie o7 13p0ite3
oy Jyada i 3345 pya (Slyt 45 oS oolizu] WHIC  Jyuoge

3l e a5 o)l 0m (G185 4l laen by (ot sislandl iy 0,05 ()57 9 000 ) nilyd Jl2T 0S> 4 Jpoge pras ol isladd g (ylgas «yludil g1y that (B
Saled Gied lords sigii oo 5397l 97 i oo cnl g (sl hrid 2 poa 5 SV e 5 5 0k o0liual prad |y Jab o Jpoga proid
w0 gy 0 yge 5 Laay 4 o fs 4555 4 1Sy o onlizal 851 WHOBE {12 4y 0005 oy Jlosty 5 45

The smoke that you see is from the hills. o S (Gaus 3 g g0 45 (G090
I like people that smile a lot. Al o @de winis o ol 45 Glus )
The Apache is a tribe that I will research. D) whlas aind ] & a2y (pe 45 Cal (glalad (U]

dihge adlitad jaad ol 5 all K ax ye a8 (K0 Aoy (6l :Where (P
That is the valley where the tribe lived. 8,5 o0 S35 o 50 Al o5 il (gloys br ]
Do you know a shop where I can find sandals? foiS am Joio ilas (o 45 ilid o (slojlae LT

iy oz WHETE | Jyogo yrod j tily Lyt (o0 0,031 515e 44 (1gudg o ShOP 5 valley (sloojly  Jita 95 4/ 57 spduigd
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That is the day when we get the signal. oS (g0 Sl |y Cuadle Lo oS el (559, 459, o
I’ll never forget the day when I first met you. 055 i hgal 8 paus 1y o bondsl sl 45 (550, 350 e

youiS 0olizl When  Jyogo suads jl il g o)l o,L3] slo; 4y la Jlio 3] coithe day o3l ;pnaed
(s Aoyl (g1 Why (A

The reason why I came should be obvious to you. bl ol Lot g1y il poel (e a5 Lo

Alos dazr 5 40T Gasbo 3 4% Djg0 &1 5 A5 00 ()8 itne o5 & e (0l 16303 pll D) Laodi sl Whereby (4
They have set up a plan whereby you can spread the cost over a period.
e by 0,90 Ky o Iy a3 a0 o Gajo 1 45 wleo S ediis (glaali L
We need to devise some sort of system whereby people can connect with each other.
S B0 Bl Koan b ol 5T gm0 85 008 o] s il Lo
oS o 50l> by means of which b 455 o0 5, Whereby  Jgogo yos B
We need to devise some sort of system, by means of which people can connect with each other

023,91 5, by means of Which o iue 5 0uiliS Js5ps Sl ol 4 5 929,5 S 5, Whereby pwydos! Jlio 5l 5715 sgudsed

78, Example 2: Much excitement has been created by Prof. Pickering's proposal to build a system of
IIITOTS, seoseessscsses light can be rhythmically flashed to Mars. (A0 5259)
1) by means of which 2) which by means of it 3) by means of it 4) that by means of

g 135 s e & plite 3oty Wlyicge 435 0T (aloy 4 45 lan] s Sy Sl (ol K Sy gy Sty €V S igaly
0,5 Ly (g ks Slomen

ol s ol ol 05 it 5, o a4 plonl sy 5 4l il e 45 dus ooliiul 35y WhETebY Jyose sead weiS 162008 puigd
.....system of mirrors whereby light can be .... 10391 (5,97
ip20y yais by means of which o, 5, whereby s oo 45 0255 oo (o

.....system of mirrors, by means of which light can be ....

:Q_..;S.B.&;L::»,) 3lg0 oyl 0,8 SIS YIG &S ton (695150 ol (sded DS 535 Jgua

o, ol w9090 joub Jubo
who / that The man who / that is here is my father.
\ sl whom / that The man whom / that you met was my father.
o
whose The man whose book was on the table was my father.
which / that The chairs which / that are broken should be repaired.
Y ladlBos sl 81
that / which The chairs which / that he broke should be repaired.
Y alsy when The year when I left home was 2012
¥ ol where Here is the house where I live.
o Judo why Give me one reason why you did it.
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oyad 26T slr & aigin that (Jyose jad il azee Lyjis B Jgoor 5 bale b Lo sgeil &0
8 00 e 43,8030 priadlyt pa o5 GIESS 908 () (651005 U o )f5 (gl jalns iz iy that Jy oly Jaese
4y 4 oS Qs g (glnns® OV 5 16 ga Lot a0 b tn ST 500 (0805 asia iy lopygas]
slizu Jyoga pass Hlgie 4 that 51 e 2 a5 rus oo plal> 430 03,5 eslizu ... g Which | who ;( that L
e 3590 dos 0l Jals o5 which § who 5117 o 28

something |, anything ;! aa; .}

He knows something that (or which) bothers him, S g0 (50 3] ecls 45 uils o (5522 o

. o little mone all l o ¥

He knows little that can help us. Wil K8 Lo (gl a5 il gai gol5 > o
(Sl Olis 5l sy ¥
She is one of the kindest people that I know. pealidi g (o 45 Canl (g3l s il 3 GG

03Lisusl 08 by 3 (SJpoga yeasd U 43 Shea Jlguo il 45 dsl w0y95tun by 4y SiS (9a] 5 45 b (SIS S 4
il s ol anl 48 S

Incorrect: The city that where I live is beautiful.
Correct: The city where I live is beautiful. POV VL IPEL PR XV IEN IR PV

3. Example 3: He tells the reader at theend ......... idea he has actually used to develop his own argument
in the paper. (AD (3t = 2] s ype degasne 4 MBA)
1) that 2) whose 3) that is 4) whose is

Cadf 03,5 adliin] dlia y5 olnloy davgs gly o8 42 aay] 5] aBly 0 1008 o0 sailys 4 LG o o €T G538 il
G ddor (33 3 odag) o] H5 Gl )y S 4y dzgr b 3yS ge Lo gy (Hyoge pilowd 4T ops g (84555 4y el o[ 4 cigsalsS guded

s (1) (s 5 oy Llpo dazyf € 3P Oyg0
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¥ 3 o5mwy (Jyoge jead 5 Id) pod Jbdlu & Jpoge jead 1 S b g ooy o)l slaml )0 0l dSilr B g0 5 dig g0 Blal B

100 (6 b 0,115 o sgajl
The city which I live in is crowded. ‘shioy 50,138 slaal yo ailsl b >
The city in which I live is crowded. i Jaona yead 5l 3 il by

oliz] oy o [i5° Glgiil 3 5, 4] iy> pripige wloa IN 48Ls] ip> LNV fod (132 5 dedeoy o) WhiCh T live o Jlo g ] 57 spuaigl
live jus jf day o souipe 395 gally ol 3o I &Ll > Jol o o7 ipfodls Sigles & gy (S pad I S gipl <l b poeiS”

azdy 5 4 Which Jyoge e s ol CIY (192 (yd 33 o Jputpo serasd il fod sutagl 3 skl oge Sl (gago 37 (Sly okay!
The man to whom I was talking was my father. Sgr o ply p8,S o Cams (55 b g 45 (53,0
The man that you should talk to is Italian, o] ol 3428 Comn (59 b il Lo oS (53 10
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oolize! WHOM 5l osagsi Jad  Jowga s 5l iy (a2 (raudyd cokipe (b B3935 Lol sl 3 Jile 4 b o3 solizul oy o5 slesil

.Hé;
He's the man to whom I sent the money. (or He's the man whom I sent the money to.)

polieyd (ol s g (yo 45 Cassl (5350 o)
My brother, to whom I am deeply indebted, never stopped protecting me. (or My brother, whom I am deeply
indebted to, never stopped protecting me.) BdSS Ead o 3] cdailona 3 5808 spigsia Tt (g9 44 0y 45" py0),

(yogs yead plyiods that f wls ooy o)i 21 4 5 sl Jyoge e ) Job ailal B o gl 656
ay956 1 Kb 4 B (545 =By 44 b 0t o st Lz gl oS snlizd
Correct: The hotel that we stayed at was very comfortable.
Correct: The hotel at which we stayed was very comfortable.
Incorrect: The hotel at that we stayed was very comfortable.
2 el o5 4 97 diges 435 o) Mad WHETE 5| &6 00,8 aslizd Which 1 1,2 ey wilke a5 hotel] % wyla

el JULI

9. Example 4: Neuroscientists have long held that glial cells in the brain, .......... astracytes are one type, support
neurons by protecting them from invaders. (Y ,55)
1) for them 2) in that 3) in which 4) of which

§ edlis 55k 5wzt Ll glail 5l (oS4 Wacagmn 2l &5 ke JLIF slo folo 45 wilaogs yab (ol 2 Wt lalidipyg b €F2 Liy3S sl
S go Calaz Ul 5l ilarlyn Jlia 5 gy

S ot Jyrtpa o REM. 17 ol (1) (5118 i Atpn gy ity 0,138 57 LS by e 4y o7 53] [ seg0msS aniegd
iy ey il Yo o5 ity ThGL Wl Jyogo sead whea ( Jpoga sead jl oS 2y BLS] By 5S4 Casned sy daplan 45 o (1)
sl et 1 Job otag] 48] o niy] 5 g (F) (62138 g o 25t Of AMIE] o e Y el

9. Example 5: The writer or speaker makes remarks or arguments ......... what the real meaning of what
he/she writes or says is. (AL 5ol o - MBA)
1) from that you infer 2) from which you infer ~ 3) that you infer fromit  4) which you infer from it

L a8 go azul I ol (gadly pkiie dipd o a2ryie Lad gl dlogas 5 08 g0 ke |y IS0 L eobon i b odingi €V w3 il M
e e LT
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People who can't swim should not jump into the ocean. W gl s a4y Wyl a8 o sl gl 48 (g0l
The car that I want is out of my price range. RO RO PLYRCINT I ¥ B P gt

039 Baaps (sioy oglatlexr £ai rad 3l upsd )T dulllaa iy o3 3550 18 WU 45 (il 24 plas
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You must write to Mr. Jones, who represents us in Europe.  .cuibyl 1 b salas a8 aoaggs sig (87 (gl 1, bsulysyo aily Lo

s o8 by alea 5109 ) dms Adead (59) e (shemy 03 45 Cprangn ol 03,5 B0 oy S yga T 0
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A: My brother who lives in Texas is getting married. (839,4)

B: My brother, who lives in Texas, is getting married. (55859 328)
B azy Yaioh (g oF 4zl onimssi jolize Kopefign o5 003 S g (Suij W35 0 5 ol B i A Jita 55
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3. Example 6: Adaptive self — organization is the theme of Jamies Davies's Life Unfolding, that tells the story of
1 2 3

how the human body develops from the moment of conception, (F 5yl MBA)
4
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3. Example 7: One of the director's biggest jobs, ............... beyond acting, is that of creating a world for
the characters to live in. (A 5 559)
1) that also go 2) which also goes 3) who also goes 4) also by going

A5 55 ] 5 0148 ol e s s g Jus 51 1 i Gy 0505 3 Y 4315 sl
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The mountain whose peak was discemible, was an impressive sight.
gt (50,53 oskiie g aaits BB ] Ali &5 a8
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The mountain, the peak of which was discernible, was an impressive sight. rsimt i sise PEEK | aag 44 o, Which
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The agency sent us several applicants, the most qualified of whom was the first one.
f.o 18 2,L8l ylusl & applicant} g T ol ksl cnscasdlo | a5 aliu i b ghp 1) polite aze Sazla
He owns several diamond rings, the least expensive of which is $2000.
{alui e ming} e Yo Yooolgl byigly,l 45 o) (ulall ail> ppazz 4

:most ¢ many several .both .all mone .any some fis olbleicsS jlan Y
During the last years of his life, he was the mayor of London, most of whose citizens respected him like a family member.
IS, o plyo solyils sliel 1 oS Jta sy & bl ol Glaiand der g 3 o0 o e (53 w95 yas BT lale (b
There are two telephone booths in this neighborhood, both of which are out of order.
it ol Ll (590 12 45 310 3929 (K3 () 50 il 4l g0
el 3 am ¥
There are many books in his library, two of which I am interested in.
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Correct: Five students, three of whom were intelligent, failed.

Incorreet: Five students, three of them were very intelligent, failed
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78, Example 8: There are currently about 11000 practicing barristers, about 3000 of them are women, and

1 2 3
it is their main job to argue cases in court. (A8 15l s MBA)
4
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Correct

1. Here is an article which may interest you.

2. This is Mr. Roger, whom yon met last night.

3. This is my brother to whom I am indebted.

4. He has got three brothers, two of whom are engineers.

Incorrect

1. Here is an article which it may interest you.

2. This is Mr. Roger, whom you met him last night.

3. This is my brother to him I am indebted.

4. He has got three brothers, two of them are engineers.

78, Example 9: The major plasma protein is serum albumin, a relatively small molecule, .......... is to retain water
in the bloodstream by its osmotic effect. (OF (5559)
1) its principal function which 2) the principal function of which
3) that it principal function 4) whose its principal function
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..small molecule whose principal function is to...

Which 5590 30 eSS S
This is the type writer which you ordered. e il pd aye o ddpa solinul by WhiCh Jyioge jies 0u3if

2y o0litual Con o IS 4 10 45 gilaj digiign B2l joad (yaon Jaih 23 EYPE WTItET a2 yo o
I think the other thing that was really good was that everyone worked hard, which I didn’t expect at all.
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He got married again a year later, which surprised me. )5 835088 1y oyn yol il 45 8,5 lpof Botzes way Jlu 4f
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1. The town where I was born  /// 2. 1 will never forget the day when I met you

oS oolizl Which g adlol B, 5 bl a4y 9 038 Bis> 9, When  Where puigi oo

1. The town in which T was born /// 2.1 will never forget the day on which I met you.
doygd | a5 0u2i8 adlol B> Eone 40 3 0235 eolinw! 0N Which 5 «(Y) Jie &5 g in Which Jksle 51 (1) Jle 95 [ duye wild
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72 Example 10: School social workers play an important role in gathering data about the students with whom

they work and the circumstances............ . (AF 5559
1) in which they live 2) where do they live
3) where they live in them 4) in which do they live in

ol o a8 s QS ga (SN Ll b as il5ael tils 0,90 0 0ol (5 yglaes 10 (sote LR dwyde eloiad 000 €1» 438 ifemly
Aiyls oS o S
WhICh 5 4Ll by b gigl g 0uiS i 5, Sy pueais al pouisi g0 00 jliwhere Jyopo pad 4 Ll ino 4 CIrCumstances :gaol)S guiagl

.... the circumstances where they live. .......the circumstances in which they live. oSl ol i oS 50l

72 Example 11: When people evade income taxes ............. . (A8 (gl jw- MBA)

1) a vicious circle results, not declaring taxable income

2) a vicious circle, because their not declaring taxable income, results
3), they do not declare taxable income, that results in a vicious circle
4) by not declaring taxable income, a vicious cycle results

8 o BT ety (Jlo (50,5 0,90 K waisS o JB aild (Slle 1 Jgeitie alyd (el 90y dalyd 1 Slle 5 poye 28y €F» 438 gy
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The man whom I saw was a native American. — The man I saw was a native American.
{03,55 y2i3 Mool alazr (gioe Jy 3,5 B> 9, WhOM Jgoge oo Sl cnl 57} 91 (sngs 210 ol s o5 65 0

The drumbeat that I heard was a signal. — The drumbeat I heard was a signal.
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Anyone who wants to get the news can listen to the message. — Anyone wanting to get the news can listen to the message.
ans 558 ply ol & Slgicge 353 ellas sl alys o 45 (oo o
The man who is playing is my friend. — The man playing is my friend.
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The signals which are given are simple. — The signals given are simple. iz 00k Wilodd jasie 45 glacudle
peiS g0 B3 9, DO Jad 5 Jgog0 srad 051 DO (yg0 50y o)f3F Jad 451 sucls

The tones that are in the language are important. — The tones in the language are important.

AL o 350 3929 55 0 a5 olaws slacy
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1. Some metals attracted to magnets are iron and nickel. S o iz |y Ll byoal a5 wis 5156 95 JS 5 00!
2. He lives in the red house at the top of the hill. S oo (S5 el 45 (YU y0 4T (30,3 ails o 4
3. The feature making the biggest difference to customers is cost.

o) 45338 (3S g0 3ol (5 0k (S ) SgldS o it aS ola S 5l S
4. The address list published last month is out of date. RUWP JUPURT IRV-J5V- SV VPR PRL SR LW |
5. A lot of things taught in school are worthless. A 038 1 2 390] 0 Ausydo 53 45 b3 5l (6 ke
6. Lewis said that the money offered was not really enough. s (SIS o0 &8 Sy lgie 4 45 Jgr CaiS )
7. More than 100 prisoners captured during the recent fighting in East Grange will be released today.

0 asnlys o] 5950l wind Koo 70,8 b 0 23 (65550 Usbo 0 45 M5V e 5l e
8. The people hurt in the accident are recovering. AL (§39a 47 9y Nidksd dacuo Bola 4o 4F (g0l il
1S ol 5) (yiogs D98 g hed Ll ) Ceand 10 Ugl adgl JS& 4 anzl 0 b e020,5 (g2 55 YU SDlor a5 V>
. Some metals that are attracted to magnets are iron and nickel.
. He lives in the red house, which is at the top of the hill.
. The feature that makes the biggest difference to customers is cost.
. The address list that was published last month is out of date.
. A lot of things that are taught in school are worthless.
. Lewis said that the money which was offered was not really enough.

. More than 100 prisoners who were captured during the recent fighting in East Grange will be released today.

00 N &N W b~ W N

. The people that/who were hurt in the accident are recovering.

2. Example 12: Black holes are ultra — dense concentrations of matter ......... a star or other massive body
collapses. (A 5 ~-MBA)
1) left behind when 2) is left behind 3) when left behind 4) to leave behind when
wiilogo b 5 1500 5w puzr SO L o)l S Lgin plfn )0 a5 witus (glosle 05,88 Loy aozs dadlly ol «1» 4...1;@»13
7950 a5t g 50 ot ot Slaj Sd )i 4y Lo o oukagl loiy 357 g7 When igrol)S guaiags
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(a0l (1) g5 ur) izuwn black holes are Jyl alos> a5 g Jels 4l aisly fa5 g Jels 45 iyl dlos (sdatuio 45 paigd oo godas

w0330 (Sysbol oz ol Lo alals” j2led 5 Jels 45 po pgo dlas
Black holes are ... concentrations of matter which are left behind when........
st puiS olisS g, cduog o iSWhich are Jid> | puigi o

Black holes are ... concentrations of matter left behind when.....

72 Example 13: There are ......... that their surface temperature is a mere 4,000 degrees Fahrenheit.
(A% 5yl e - MBA)

1) so faint as blood — red dwarfs are cool 2) so cool as are blood — red dwarfs
3) faint blood — red dwarfs so cool 4) blood- red dwarfs as cool so

ol Calgs )8 a0 Fooo laid oyl pdaw (sloo 45 axtad 0y ;0301 4T Wi jlo 092y SS9 g ST (slaalgisS €T H)fealg
008 (5,5 (ol dla> ‘_j.a/:mnl;.\'z._pbﬂ
There are faint blood-red dwarfs that are so cool that their surface temperature is a mere 4,000.....

2. Example 14: Early sailing ships, ......... sometimes in uncharted seas, faced many hazards in reaching
their destination. AY (gl )
1) navigate 2) navigating 3) and navigates 4) were navigated

wi3gs 9,409, (g0l Sias L 9g3 Suolie &y (yopmsy 45 35, g yias 43LAL slaly o 15 SlBgl sany 45 sl 5 ilice (sla 8T €YD asy 5 gl

s (] oo gl NAVIGALING 5] (cous olsS g0 45 005 Which navigated alaz -/ Jo! ;1640118 puagl

2. Example 15: Measles is a highly contagious viral disease ......... by a characteristic skin rash.
(A (5l - MBA)
1) accompanied 2) is accompanied 3) accompany 4) it is accompanied
el ol atetin Fangy Sl S b oS Sl (6 punn Wil (g o9 (6 Lot o S g €D 4z 3T irusly
w35t 55k ol alor Jool :16401)S Zuaingl
....viral disease that is accompanied... ... ..... — viral disease accompanied ....

b cnbe atie e (597228 9 51972 E5 50 4 shog 0)lF Jio LiaBd 5 oue )] (3093 a2 e auly 50 gedsl 4 W)L 95 A Ju i
(S CB0 ) Jle 4y ol £950 (5597008 £
He has asked Mr. Wilson, who is a prominent lawyer, to represent him in the court.
.o,..b olFals PRt J.:S, B el ao)f L:MI,")Q o] A J.:S, gSg_ aS u’-uuli’ LSGT )‘ ,‘
polne (igashog o)) 451 dS 0238 o gul gl JoS 29 B 90 0m (197 49 rort £33} Aoz nl 7 Lo (ghuog o135 0t ob S oS y3boiigen
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He has asked Mr. Wilson, a prominent lawyer, to represent him in the court.
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We want to rent a hall which is large enough to seat 500 people. (oS B0 5 Jle &1 paiS oo (owyn 95 890 JN Y
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Agricultural progress provided the stimulus necessary to set off economic expansion.
ol 097 0391 (Ghuog 013 yah oligS .28 b o) ile odagl et Sl Sy Cibo JI2e cpal 57 ssetuige 5 jaloygen
41 9bo(af dlosr
Agricultural progress provided the stimulus which was necessary to set off economic expansion.

T, Example 16: George W.G. Ferris, ...uconuee » Illinois, designed and built the first Ferris wheel ride for the
World's Fair held in Chicago in 1893. (A8 gl - MBA)

1) an American engineer from Galesburg 2) an American engineer from Galesburg he is
3) that is an American engineer from Galesburg 4) his being an American engineer from Galesburg

1948 ez stalei sl by ot I 5 2 ol csamiall E pelS ol 1S paT ontis 4 st s gkl gysz €O iy sty B
S ol Wb 3T SIS 0 VARY Lo

S b g w5ty U g5 (5 Sl s g S 0ga slyS L ol (V) 38 pey w35ty jl g that 4yl aan iyl ngaslsS gpuived
istat iy Gl (54908008

George W.G. Ferris, who is an American engineer from Galesburg, ....designed.....
George W. G. Ferris, an American engineer from Galesburg, ... .....designed...

10038 S 45 ghog 0))8 & alaz 5T 4 an e ) dnsep e ) JoB feaiS olin alla dos o8 aaigd e 5y Juu B S0 0lSls

His uncle, who is a proud man, refused all help that was offered him,
ey g ol sty (53 4 TNy (plaSaT Al pSlo il ygyhe 5350 AT Ruger
ot S B o, WhO 8wl gy9pdy8 Juy olu aly Yl ayy000 508 £45 Jf o0 L (giag o)fi 4 (s his UNCIE oz je Jlta ol o3
His uncle, 2 proud man, refused all help that was offered him. St § 9l rial g0
stnt et o0 a2y 5l B ) 9y J s e 00 solizad oy 5l day Juy L o

A proud man, his uncle refused all help that was offered him.

His uncle refused all help that was offered him, a proud man. toipe ob aloz BT 4 pudl o0 0y J

78, Example 17: .........the most advanced super computers, the human brain makes it possible for a person

to live, speak, solve problems, and create thoughts and ideas. (8 5559)
1) More powerful than 2) It is more powerful than
3) More powerful than it is of 4) More than powerful of all
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The human brain, which is more powerful than the most advanced super computers, makes it possible for a person
to live, speak, solve problems, and create thoughts and ideas.
o pj Sgods SN gt dyg ol Gpeniay )i

The human brain, more powerful than the most advanced super computers, makes it possible for a person to live,

speak, solve problems, and create thoughts and ideas.
L ot 220 il e 40 9y gy 5T Y

More powerful than the most advanced super computers, the human brain makes it possible for a person to live,

speak, solve problems, and create thoughts and ideas.
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72 1- If you decide to pursue an MBA, you could take a range of courses ........ to finance, marketing,

entrepreneurship and more. (AY il o - MBA)
1) are related 2) that they are related 3) related 4) be related
7. 2- Certain Paleolithic artifacts are given special terms ......... . Q) (g pmls)
1) what the location of their discovery is 2) indicating the location of their discovery
3) whose locations are indicating their discovery 4) which indicating their location of discovery

72 3- In his latest work .............. in the summer of 2011 at his Beijing studio, Chinese artist Liu Bolin
blends into a background of a supermarket soft drinks display. (Y (554d Cu pia)

1) he created 2) created 3) was created 4) it was created

i Juad 0 Sisdinds (slbcud aobiculy @
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...... a range of courses (that are) related ... ...... ...
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In his latest work which was created in the summer ...........
AY) 4355 4y pamy o0 paiS B3> 5, Which was 451
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When John is compared to his father, he is a good man. sl 295 0l b0 b duglie o l>
John is a good man when he is compared to his father.
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After Mr. Jones looked at his watch, he got up. Al olgs 5l 0,8 ol iiels 4 5igx BT aSiyl 5l am
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After looking at his watch, Mr. Jones got up.
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Looking at his watch, Mr. Jones got up.
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When John is compared to his father, he is a good man. Sl 293 00l B0 b aslie o ol
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When compared to his father, John is a good man.
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Compared to his father, John is a good man.
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1. Before leaving, Jane kissed me goodbye. 0,5 a8z e b 38, 51 LS e
2. Once learned, a language cannot be easily forgotten. Dgd o yogeld Slul 4y g 4283 ol Sbj a5 iles
3. Playing in the street, the child was hit by the truck. 55 ol 4 (ygealS o 0,5 o0 (55L UL 0 dzm oS e
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4. Knowing her pretty well, I realized something was wrong..cc.l ssal sgzgds Ko 45 pad dgie (pilid so (2954 | ol 092

S5 e ety Ol red dusly 00 Wy 9 Slhes gl S8 (s bl il S ol SV &y (1585ely sl 9 dge (K Colie gjr S
oS @l 5 (93 (Slaigl g lached abal ighy B oy plosl (03993 sl 9y (205 Cnl i 9 Loiasls &S 51 8 08 gy ), Yl Slaz 4l

1. Before she left, Jane kissed me goodbye.

2. Once it is learned, a language cannot be easily forgotten.

3. When he/ she was playing in the street, the child was hit by the truck.
4. Because I knew her pretty well, I realized something was wrong.

8. Example 1i...m... how much food to give your child, use this convenient rule of thumb: about 1
tablespoon of each food per meal for every year of age. (30 (5l yo - MBA)
1) For deciding about 2) When deciding 3) When parent decide 4) Concerning the decision
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When you decide how much ........ , use this convenient rule of ..........
When deciding how much... ... ..... , use this convenient rule of ... ... ... o ) oueld Gubo 45

78 Example 2: Neither sympathy nor empathy is identical to the "I know how you feel " type of response
that some people offer when ............... another's expression of emotion. (AY 5,259)

1) facing to 2) are facing to 3) faced with 4) they faced with
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Neither sympathy nor empathy is identical to the "I know how you feel" type of response that some people offer
when they are faced with another's expression of emotion.

p'._....f [ u[a: Fodels JA-A
Neither sympathy nor empathy is identical to the "I know how you feel" type of response that some people offer
when faced with another's expression of emotion.
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Because I had run for three miles, I was exhausted.
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Having run for three miles, I was exhausted. (i S oo haVINg o, had g (a8 0 Bi> 5, G0 o)l
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After the bridge had been destroyed, it was reconstructed five years ago.
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After having been destroyed, the bridge was reconstructed five years ago.
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Having been destroyed, the bridge was reconstructed five years ago. ddae g gboinl ooy axg 4ly Bi>
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Having lost his job, Edward was only able to finish one semester of work.
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3. Example 3: veveverener. 5 e was able to answer all the questions.
1) Reading all the required material
2) Having read all the required material
3) Having reading all the required material
4) As it was the case that he had read all the required material
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Because he had read all the required material, he was able to answer all the questions.
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Not knowing the answers, I asked my teacher about them.
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72, Example 4: According to the requirements of her scholarship, after completing her degree, ........ .
(G} R RS [ MBA)

1) the ministry will employ her 2) she will be employed by the ministry
3) employment will be given to her by the ministry 4) her education will be employed by the ministry

A8 dalgs plasd 45 l39 10 w3 SDLazs plosl sl e ¢ o295 Al b das je (slacguiails (bl €T a3 iFwly
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... after she completes her degree, she will be...
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Incorrect: Running home from school, a dog bit me.
Correct: Running home from school, I was bitten by a dog. RURJK 51 3 [VRE SWRPCEX VP PP VIPUER VRS L g Y
Ao gagd g alalé (ol g S &5 03 g plal Gl o 9, €288 e B it ol 5
Incorrect: While a dancer in New York, her leg was injured.
Correct: While a dancer in New York, she injured her leg.
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7. Example 5: Upon emerging from eggs, ......... . (AY 5wl o - MBA)
1) the knowledge of swimming is in young swans 2) swimming is known by young swans
3) how to swim known in young swans 4) young swans know how to swim
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72 Example 6:After watching the film Centennial, ............ . (A 34+ 6yl MBA)
1) the book was read by many people 2) many people wanted to read the book
3) the book made many people read it 4) the reading of the book interested many people
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He was busy writing letters. Ogr dali (gl Joade (59
They spent their time playing. 250,565 B yo 1) 095 g Lyl
They are in England visiting relatives. A g3 pledl 5l auosl Jl> 0 g asts udSH o Ll

The author guides the reader through Emma’s most intimate dreams and fantasies, accurately portraying the plight
of many middle-class women in France in the 1850s.
LS o g 3 VAD® 403 5, dudl b asgie 4l 155 31 (6 oy St g 5 135 g0 sl €l (sl o s LS 5 b5, Gos 41, oy odivnsi
a0 gy (505 S oo ol SMaz 3 Vgone (192 08 Julo 5, (6,5 oz wsly
19201 95 Ygana . 23us The author oo ond gg, POItraying b buyl ;o a5 oy d>g Jeb u  2%ws The author Jebs alax ol 55
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The author guides the reader through Emma’s most intimate dreams and fantasies, and accurately portrays the plight
of many middle-class women in France in the 1850s.

72 Example 7: In all vertebrates, the respiratory protein hemoglobin acts as oxygen carrier in the blood,

............. oxygen from the lung to body organs and tissues. (A% (5,259)
1) it transports 2) which it transports 3) transporting 4) whose transporting
lacdl g Lasl 4 (23 51 (5] 5 WS 00 Joo (195 5 (oSt oo JUiil (lpieds (sl gen (59 00 e plo3 po €FP 43S ifuly
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protein hemoglobin  fiz.. o )i Jels beyl o 4.5 Jizus o )i Jels b 2lels a5 auiloj jdog azg sloo,,l5 I (o paidS o :1Gnl)S guags
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In all vertebrates, the respiratory protein hemoglobin acts as oxygen carrier in the blood and transports oxygen
from the lung to body organs and tissues.
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He sat there staring at the wall. A 6yt g0 4y g ot LT f

Mary stood at the corner waiting for the bus. Sl ogigil laie (gladie¥ 10 (550
find 4 get spend <catch discover Jio Jirdl 5l axs g (Jario 0aiiS JolS)  Jorio paio olgacas .Y

I found (discovered) the horse tied to a tree. D99 0 Ay S50 4 a5 o8l Jl> o 1) el
I caught him reading my private letters. 08,5 ol pazd slaasl ailes Jl> 01, o ope
Their time was spent playing.
The boy was caught stealing a car. 2030 0 |y wdle a5 a3 5 > 0y o
78, Example 8: A black hole model that traps sound instead of light has been caught .......... (A0 (5l s - MBA)
1) while quantum particles emit 2) to emit quantum particles
3) emitting quantum particles 4) that emits quantum particles
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P U the dishes, the man went to bed immediately in that he was dead tired. (v .5 = 0. - MBA)
1) Washing 2) To wash 3) Having washed 4) To be washing
o R , the product life cycle will tell you how to market a product and how much money to spend.
@AY gl o - MBA)
1) If understood 2) To understand
3) For being understood 4) As its being understood
ba N R , the financial means to remain independent, he decided to seek employment.
(AF (gl yos = 12! 20 4290200 - MBA)
1) Deprived of 2) To be deprived of
3) He was deprived of 4) That he was deprived of
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Since he had washed the dishes, the man wentto bed ........
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Having washed the dishes, the man went to bed
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If it is understood, the product life cycle ............
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2l (g
If understood, the product life cycle ............
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That coffee grows in Brazil is well known to all.

I know that coffee grows in Brazil.
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That I should forget her was a shock. 051 555 Sl 00,5 o Saalyd 1) of Wb aS eyl
That your fever has gone down makes me happy. S e Jlondion 1) e el azdy Cpuly Cos 450yl
That he was not consulted in the matter angered me. 2,5 Sleas |y po i &9t Eadge (5] 5,90 ;0 (59 L ATyl
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W, Example 1: ......... are rich in a wide variety of species is well known, something no one ever disputes,
(AY 5259
1) The Earth’s some regions 2) There are some regions of the Earth
3) What are the regions of the Earth 4) That some regions of the Earth
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admit O30y claim o505 Leal insist g warn ool jUas
complain 8,8 =184 believe oidla yala confess 00,5 bl 2 reveal ol sl
maintain o0, Leal conclude 25,8 e assume 9955 Lo think 00y X
show oob ol decide RICTI Ut ascertain 305 aas indicate odls ol
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He claims that he knows the answer. Wil go 1) Fusly 45" A8, 0 leot 4l

Billy's friend didn't know that he couldn't swim. A28 1 AilgS ol gl 45" Canidlo gai Lt ey
The survey indicated that 28 percent would prefer to buy a house through a buildi

23S ()l B (g 5lslaisl el S5 (B gks 11 095 (Sua L80 ga a2 T 0 e o0 VA 4570 (LS s
It was thought for a while that he might not recover from his illness.

RURFIWIETSY U PWROW EX PP LN RDie VT s W

1) Bl 3, €4S uihagl Lo bonis] g5 2 08 a K35 45 02D (gl 4y gl g7 (o a0 3T A
0 2925 w0 el 5 (2B el

He says they plan to come to the party. s |y gilage 35 C5 0 ad Lyl &5 caf
I believe he is innocent. ol o2 of piZes a

that clause | fuaa sl Joeia Jof goe? ol Jladl 51 (3 5T a2

He taught his son that he should be honest.
He complained to his friends that his wife couldn't cook.
8 (55081 ilgs cad 55 457 0)F CylfS figs 4y 4

adly 3ol asls 45 ko ol iy 45 4l
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78, Example 2: This model assumes ......... , it grows generally better able to cope with its problems. v 55
1) as society being evolved 2) that as society evolves
3) the society evolving as 4) that the society evolves as

90,8 0 ey AN & (St 0 dmaly 5] sl sl ctnale b (553 L plojed 45 WS o 3 B 855l e ol €V S ey
SIS o ol o (S 0,55 4 AS 4 oy b g odogl J5Sg M (sl 1 dar Lo oy Lo that clause g 0 assume jl us qgaolsS guagl

Al i (F)

2. Example 3: Physicians believe ........ is essential for development of strong bones and teeth.
AY (6l oo - MBA)
1) it is calcium that 2) although calcium 3) the calcium 4) calcium
Sl (55970 s g bgded alSociul g ol (g pandS Wadzes 185 «F» 4538 Rl
AL (ygodLar g iS 00lAT ] 45T 45 outog/ AULMOUGR (V) gy iS5 o7 i oli (V) (s4is 55 oo 0,1t "the” 4 gL ccalcium» gpol)S guagl
0991 (5 y9b ol dbar fol ol i that o s  Jyndo Cll> 92 45 0l oolit] o that clause ;I believe fos jl ax Jlio ol o7 o

.... believe that calcium ....

o2 5 Jsria Olgicds ob digi o ol ojfgalaz Sjg0 nl 10 4 Al plgiea pj elul 5l wmy that Clause glas )l 5 S0 (S ws Glgiea -
g &5 b Jub gy 4 06 (LS (5u 55 e o)l 0525 gt (et ) & e S it 5y Lo ol 4] aly 4ty oolizd Jels
believe ;) belief ol Mo oly S cpl Jhin digico b 4y Gzte Yo Jldl 5l a5 onl g9 ,» @S oo ben) V> ol that clause

Adus Fiia .. g discover ;i discovery gl

fact i hypothesis 4.5 idea o] claim Leo! consensus 39y
notion  cadc  belief b view XV supposition ;. understanding S0
theory 4,ks  reason Jdo evidence ualgs discovery s realization oAeds
The fact that whatever he does is right makes me angry. WS o ghar 1) (re Cal Casyd S o (5,5 ,p o 45 Cini>

The police are investigating the possibility that a bomb was planted on the jet.

Sl 00 Lg)‘dfw o Lgloﬁ‘,.b ° FLERTLIWY Jl.o.:" w‘ 3 Jl’ o Lb‘)..tl:
The idea that teacher should know everything is unacceptable. s Jga3 o8 el 1) 50 dod ils plae 45 o0yl ol

The announcement that all flights were cancelled because of bad weather distressed the passengers.
0,5 ).Iolioo)ﬂ 1) ol Plas el onds JuusS oy L;|5A5s,j Sl sl plos &5 5> o

W™ Example 4: ......... the human brain is a "language learning" organ is provided by neurological studies
of language disorders. (A (5259)
1) Supporting further the view which 2) To support further the view which
3) Further supporting the view that 4) Further support for the view that

) €505 el (6t 9t ] 30 4 welSiyd ol 3 0B el eiylyy P a5 - lidnar Slallle €F» asy38 gl
D9d 6y Culo>
support las .o, 3,515 ey WHICh 32 (2 jobi (1) 5 (1) (slodis 5 g oogl VIEW ol jl uns 30 that clause lrul :igaolsS puigs

olaz iy (F) (5435 oy it o Uxiy] po fUrther g ol for 4slsl o> b




@ AY W gulid 5 5 a4y i e MBA paadi 3l )

tpasS oolizu] p 55 slacs le 3l aay o that |, o) 0,135 madgi o it o Jeld Olgisay ¥

It is hoped a5 Col )y el It is thought Gl el 5 oidie
It is assumed el opl 5 259 It is said g g0 43iF
It is believed Sl ol 52 59k It is concluded Gl el 3 (Sl azes
It is believed that the house was built in 1734. ol 00 43l YWY Lo jo ails opl a5 el ol 1 0
It is assumed that the person is innocent. sl oS s et 1 a5 el b 0 53
It was concluded that the treatment should be stopped. Dgd digio wb oleyo (T a5 agy cnl 5l Sl (g puFas
™, Exam ple 5: ....... Java Man, who lived before the first Ice Age, is the first manlike animal.
(AY 4+ (5l pw - MBA)
1) Assumed generally is 2) Generally assumed it is
3) It is generally assumed that 4) That it is generally assumed

ol (00l At g s cenl d s o0 (laiBy pae ) i 4 s Gladl el cpl 1 58 (IS jaboas € H;G"‘L&

Az it is assumed | uo that b ol oi5 5lo0,,l5 5/ 5 «16aml)S gudgl

iolels gime 0uisS JolS ke 4 b adeld pae Jloic 4 that clause o5 o 311 Jeld oo ylgicas -0

The problem is that life is, and will be complex. RPVIRVATECI IVESIE (Xt X SO I B (S
The truth is that I don’t remember when I met him. 20,5 SlBe 1 (59 adge 4z Wy ei poly a5 cul ol Cid>

‘rﬁm}l’ olols 4_.3[4 od oolaz_ul ‘r.:...u); Cawj‘that 6[’ a4 FIL WY la,l 6’3 Ly 4.0._!" w‘ cﬂ}f 4.5,.&.! Cyogo :wiebﬁ'bw!oﬁ;
dais ol Jonio b Jebb olsie 4y (igion (sim it that clause e lads oo lwh...clause 5, IS .t .. s Where why who Lo
08 o 9 €L S LSl aSub a4t Where «l, o> a5 d, > a Sub ato Why  Js «asnl @Sy st that Yo a8 o 5,9 (ygdutas

oS 50 0%y pgaS ;8 (5l Jlho b ato 4 Jaid g n10 o5 Shiin paogs a0 Lo o5 ;i that clause b gtilesg

How I get the money isn't your concern. S5 s 07 a5 po el Camoas 1) Jgu jekaz e 4K

Why the various Generals of the Army of the Potomac before Ulysses S. Grant were so singularly unsuccessful
against Robert E. Lee is debated in no fewer than five hundred historically oriented journals.

55, alome dually 51 et 4 i ge 550, oSt b oo 8l Sl Jlin 5 €S Lol o 51 U Slogiay i) cilisee sla 4 yz aSiyl

| 03 [ ;94

The question is how he gets the money. D9l 0 Comoas 1) Jogs ek of a5 ol ol Jlgas

I don't know how he gets the money. D900 Sty 1y g jakaz ol ailo ol

B pylez Jo 57 5 Al o G g Jlio 37 Sy tokag] Jud 035 cal i ke 5 0l 5, Jel6 25 Wh... clause sl Jieo b g5 555 spmded
R 5 Jpede

Olpeas 9 Jay cdl> g5 that clause ,.Se, wh...clause a5 ayl g o o 0424 that clause , wh...clause (. 450 Ciglis a3 glino Ciglis 5 ogdle
oS oolitsl (b3 igs g0 L) Lo 3l amy a0l o i that clause a5 oo wo 450 5,15 S Wh . .clause g 0,06 5,15 1t 5l amy Jolb

I am not concerned about how he gets the money. D55 (bl e 43 05 g0 Cowdas 1y Jor aisS of 4yl

Be careful about what you eat. (S0 4z &5 b cdlye
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72 Example 6: New observations about the age of some globular clusters in our Milky Way galaxy have

cast doubt on a long-held theory......... (3% sl o - MBA)
1) of the galaxy was formed how 2) according to which the galaxy formed
3) that the galaxy was formed 4) about how the galaxy was formed

0525 )90 )0 gepdB do bl SO (g ol LSS 10 05290 (59,5 sleddes I B e 380 50w Slaslie «F» a8 Ewl M

Dpse g 25 1y QLESeS onl 65 U5
o itaio TOMM fod aeno WAS fOrMed s> a0l po (F) (i 15 a0l (o)l b paie M 52 a0l (1) (i 55 16 A01AS 2usagi
i, LSa (1) 45 55 45 g v oS oolizw/that Clause j/ vsi o thEOTY j/ de ooss 45 olo Jpedo paleo > o7 b ickes

BT au/_s;j/@wh...clause $loo )5 51 o 45 pridS 92 dmeeo (F) a5 Ldd . Concd Canyo plino Ll 4 4555 0] s

WhOISSNE? 55b onl sims oS e e L5, (S8 S (sl il Sl o aly o8 (pnigan ke 200903 iS5

et STV eils Jliw & 5z 0ad (S9e SN Jelb 5 1S Jad sl etinsn Jio 0l po &5 jsbygan s

1 know who sheis :aze Wh ... Clause el o155 4 5 Ces Jlg 4555 ol KNOW s 51 amy Slie Jl3es

Sl g 4 a5 a8 (185 gl 1lE 4 oyls )13 SN Jelb 5l aw IS Jub (Jlie (ol o5 (s 0 dxgie (S B0 451
oid S ye g,y Olaladl g Jae cplas ols

Fknow who is she /// Why is she hereis unknown to me.

SaS b sl wls a5 o)l g, ool 035 2 WNL.. ClaUSE 3y (9 cyiw 0l 90 50 YU Jlie b g0 iramdgs

Ay ooe Jebb g

7= Example 7: Although Freud himself was primarily concerned with research and psychoanalytic theory

rather than with therapy, many people would like to know ............... today, and whether it is considered an
effective treatment for neurotic disorders. AF 5559

1) how does psychoanalysis stand
3) that how psychoanalysis stands
2) how psychoanalysis stands
4) that how does psychoanaysis stand
59000 69l aS ailay walem oo 0 40 (6 ks loys A b 8l oo Coenl (55lSTlg, 4y Jai 5 Guam A :}ls,al Q9,8 093 ax 5 «V» 43S iFwly M
e b ogd e a8 S a5 o uae SWS 6l 550 leyd Glare 4 LT 5 el 4555
s iyl o2 (1) a5 iSG oolizw/WhL. L g, that ey e o aiw,olthat NOW g 2,0l (F) 5 (F) slods ;5 16201)S 2aaiagi

A0 oz (1) (§4 5 oy s 358 Jelb 5 (S5 o (sl Lo g o)l o] 035 25 i/ OW ClaUIsE

o5 plyz oo Yo ols (g VIEW DElTEF o) ool (650 4 g (g SAY KNOW Ji0) Jladl (6 o 4 51 o a5 oo thal ClAUSE puiS 2c0l 31 a5 5
(g SUre important Jio) ols aigs oo od o (s 4 5 x that clause

Make sure that you lock thedoor.  {cas jl as)
| know that heiswrong. {5 ;| os}
The belief that the earth isround istrue.  {u! 5l ax}
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the she | 45 [22aiS opw 5 cop0 55 0)0 laiyOU b &5 jizwa lock Syl 5\ 505 S poul 0 )i Job ay 10,9] 45 Moo dw 3y 57 spuaiagT
ol oasgl 115 0 &5 lopl 5 locdo do i I Ax lethat clause 45745 asl opiily> gl Yo Coni (5)5b ] dinan Jy o,b Cdillao earth

4GS o o 4 gld & 50,58 45 43l ool SalS, i 4 423l g dao JSE tnas wil o that clause fei

essential Sap@ suggest 00,5 olerday imperative Spe important oo
advisable Conai S5 advise 09,5 Cowas  mandatory k=l vital sk
demand oo, Lolas request 0,5 cudlgs o advice Cowas  DECESSATY )
recommend 00,5 duogi require o9 3k desirable welke urge OO, ki
insist 50,5 el propose 00,5 olgiin, requirement ol

Incorrect: The doctor recommends that she has surgery.

Correct: The doctor recommends that she have surgery. A8 ot (59 45 Sl ol 25 dpogs
sloj poidS Lol sy S Lii ) prareer Sl Jllo bl fol ST 40 o 100 4do wloit 45he he i Do asd pgw plas b a5 xS 9}4“ :2udgl
Ao RAVE g 4z, olihas Y Jlo 57 gy 4l jdaao JSO5 4wl o lyalas gl faF cdiiino oolizlrecommend fes jl ux cowl o yalos 45 45

Incorrect: It was important that money was collected for the cause.

Correct: It was important that money be collected for the cause. Ao 5 9laez Jar Bas sl Wb
anobe 5 4,0l WaS Loy I 4l (g dao S5 5 il oS ey toud 00lizl pousl 0,15 jlimportant ;I ux :guder
A8l gl iauiS g ool ON'E 51 as,b b (5 e S8 51 B 5, NOE by ooljill dzg cdlo g5 Jladl 50,5 e sl

I suggested that people not use highway 7. WSS oolil Y ojlodts o )55 51 01,81 45" 54y o] sldno g

78 Example 8: A nonprofit organization in Motor City has proposed that local college students ............ the

option to buy half — price monthly passes for the city's public transportation system. (AF (sl - MBA)
1) be given 2) given 3) are given 4) to be given

©)yg 4 Lo ol &3 QLT B> gegr (ligatils 4; aF Cunl 03,5 olgtdy € y93g? 0 (litiled plajl Sy €1» an 3Tl

el 00ld (gt Ji 5 Joo dilalis gl ailale

b 47 5 4l (gydao Kb Wl Lo N ol 2§ ey 0ds oolizl that clause jl pa Liuxs 5 jiiws Propose lo alox fxd 162018 guder

oo (1) 4j8 o asbbe +pp wl Jsgzo

45 doge il (A5u ol ik 4 @S mlst oo OV AT G )b 4 0205 (o OB A 410 goul g (o 5B 015 A Sulszex
39 48 @S oo ooty (LB (slo e 55 st ST L 403 o, dly ol S 5] Losits 481 2> i )i 5559, 85l g 25
ASh 4als Liae 9335995 4y 45 sl lgalen o Jidmo 0 l9dlos ©iS atunly o)lsalen 5 it o lsalez 0,5 5525 o lgaler g4

Lol plao S ol L he is a teacher : Jlte

g S Cmwd ol Jias o)lgalox 0 Cuns dloz «ijg0 (nl ;a8 )0 Al Al Jituis o lgaler a4y Wl alaz 18 4T (4 K AT paigiioe o
(oS o0 00w Alosy calox (ol 4y 45) ally aiils Jad g Jelb

The president spoke. 2,5 Cumo jepe> s, | _He is a doctor. ol 35
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35 5= (COMPOUNA) 5 po dlor o) Jol> alox o (oS Joaio o0 @y jlutiloan bay) By b igiigo ) Jies o lgalor 40 @
He went to the bank, but it was closed. Dy s SSb Jg «2d) S 4

e iy Jis 0 jlgalar a3 4 il g 0 pei 5 4 (ol @ o)lgalax () (2n dSuly 0 lgalosr daojlgalax 5l (slaSes g4i

When I was a kid pogs aze 45 gilo;
That he is a teacher oW PUPORE R Lo
The man who stands there OWAES{ LGP YW

Bgh Yl S5z a4y s o fgalor 4 133,5 BLo1 b puigh g0 ot oz Aoz (gBly oy i 4 dis] dms g0 45 (5502 coalyl (akad Wl galon aws o by

ol (COMPIEX) Gxdio alosr oy adly 10 5 oS Mol 135 ©jg0 s g

When I was a kid, I was living in Texas. £35S o0 Sy Gl 40 pogs azm aS iloj
That he is a teacher makes me happy. S o Jlordigs 1) e Col plae of aSCy
The man who stands there is my friend. sl (o Cnngd Cenloni] 45 (65 10

When I was a kid, I was living in Texas, which is located in the US. : Jlo .asl, azsls azusly o lgalos aix b G aion alos 43
iirlien e ) £95 du 4y Al sl lgalex

(adverbial clause) guud o,lgalos -3

When it began to rain, we left. ity Lo cdd g9, o)L a5 ilej
I have not seen him since he arrived. ploasai 1 ol cal a5 ibej 5!
(adjectival clause) giog o,lgalos -

I do not know the lady who lives next door. ol cod iS 0 (Saij Lo (Koluon ;0 a5 1) 55 e
(noun clause) ol o,lgakos - ¥

That he was a criminal surprised me. 3,5 00508 1y (ye g p e (59 4]
ks ol o)lgalon Jub left 5 gud o fgalez Jab began Jyl 5 Hee 0,5 gz JolS sk @ 5, Vb slaofaalor gl (S slo i 5
o) ol 415 WlETazr Jub duly (sgbanglS pb dsaasly olglocr 5 Jikuwo o fyaa o5 dnl eSSBS (gl 4y Sl plydean 45 (5lacSs Latd
el 481 (gEind 9 dlron o) IS

By a4y iS5 oLl sy ol 3 1O L yoaa g Al 142 e8

Incorrect: To believe that smoking causes some forms of cancer. S Julo 9 hlie @loz (wled Haer p by Yl
Correct: It is believed that smoking causes some forms of cancer. .53 oo (3l o j 2lBaisS el oS K a5 ol ol 1 4ob
4 g 4 o] )T s CAUSES Jio ol 57 0,55 Sl a5 bl 423l a5 ol 45 dean 0,55 aiz i tRAE (g2 ol Syl alos spmisgd
30 dlas Lol .4yl yuy w0 yduzo a5l Cunei o5 TO believe buyl s asl azils oS wb o0 Jituo o5 donzs Jazuwo 0,5 4 40 il 5 0,00
A believe Lol o [i5 a5 5 CAUSES pomsl 0 [i5 f25 152 4

Incorrect: That Mt. Everest is the highest peak in the world.
Correct: I know that Mt. Everest is the highest peak in the world. el Gl 055 il Consy gl 055 45 il g0

o35 35 Ll oy Jireo o 55y b ol o 0,55 LA S o 5l 37 (g g 0,557 a5 o] o5 wis2i AL g2 syl gl alo spmited
2055 o Jio 0,115 4 4 55 0,35 5l 5 0205 485 5, I KNOW po1ckag] (V) Jlo 357 Alalé g § Jimo

Incorrect: We were surprised when saw her.

Correct: We were surprised when we saw her. o2kl 00l poko Iy gl 457 o
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78 Example 9: ...ceeeeeeeneen...Originated in Germany and northern Italy in the middle of the fifteenth century.
(A% 5l - MBA)

1) With engraving growing out of the goldsmith's art

2) The goldsmith's art of engraving, the growth out of which
3) Engraving, which grew out of the goldsmith's art,

4) That the goldsmith's art of engraving grew and

285 oty o @203l o8 Laulyl 53 LWIEI Jlod 5 olall 5t (3 CoranlS 0 5 6 los o SIS €1 w38 sgemly
) S iy Jiracn 0 g 3 o 52 45 g ) S 0,55 oS ot 1y Aot s (Y) iy 55 i tgp0lyS puadgl
(D) 4t i oot (5 (555 35 4155 0 oo Yo ot i b S 0 37 450 ukag] JU5- (5lor ey &5 it OFIGINGLE o35
oiE 4 4 gy Lo dloz WHICh 92 sias, 0 okog) iy ;5 5T aSWHRICh (9] b5 a0 (1) ais 35 .03,5 My 5, 15 alaz fsIWith () ez dtes,oli
oS Wil phog o )i Ay 90l yuf o 0,155 4 ockog] JsSing b 90 S 45 glabaz (5l ke Alels ENGYAVING g diyi5 57 00,5 ok hog
A4Sl az Sl fad dgl Gy deaw] o JiSEHAL 5,))l5 b5 45 (F) iy ;5 dormo 4y 35 ol s it GrEW OUL jiled bxiy) &5 dbl 4zl

Ayl g Ay dily JEino 0, ;5 fu§ 45" oS il alar 5 Tand gen . iiens grew and originated iles

72, Example 10: Personal drug regimens based on xenograft mice harboring a single patient's tumor ...........
to prove their true utility in medical. (A0 (¢ sl ys - MBA)
1) still need 2) and still needing 3) are still needed 4) still needing
) 095 (i (ol)5 dls o2 590 55095 a3 Ds Loy 5 cliblone (gl (S a5 SloBge 5 (e 598 (29 Slams, €V AL F gl
CELSFLA I . - S TR
which are based ou_s ol5sS S5 45 oy lobased fa§ 4y puiS iy 5, JiZus 0,[i5 Wb (92 (ool Jod i aloz 57 :1610US paaagl
oo sl IS 5L o ol o 5 00 10 S oty i) &5l oo PTOVE  Jiio 0,55 &5 it ity 58 e s 45 2t

0y (1) s 5 o w0 (gt U 9890 0 (T) 5 (1) sloa i57. 5 00 9, (F) 5 (7)) ol 0l b il

78, Example 11: In more and more families, both husbands and wives work nowadays and .......c.... «
(A8 (gul - MBA)

1) there are new problems that result with this
2) this resulting in new problems

3) the result of which are new problems

4) with this there are new problems that result

el 0 (lo3ls DMt 9y Easly cdltann () &S witian el o ygd g ()5 (g ke (slR00IGIE 40 03950l €A T iAily

alo 4y sl o0 QN jlus oy 0ds aolizland | J& sl I S Sizat WOTK Lo Jljus 350 Jrb 5l fu5 Jloio o i :164011S Zusgl

APl o Syo dlaz 9 03,5 Joog oo b jlusdslod by Sy b gy JiZio 0)[i55 50 ocag) oty beis] il 423D JoS 5 JolS b o]yt it

Jrom 48ls] > Lresult fes a5 aiujoli s ol 4 0o (1) 515 e yoli S o (1) (542055 i fa§ FESUILING 50 e ol (V) 54055 oo

With 4 ol
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78 Example 12: T would propose that scientific archeological expeditions and governmental authorities

cssesnneeenss 011 the open market. (A0 (5wl - MBA)
1) sell excavated artifacts 2) excavate artifacts and sell
3) to sell artifacts excavated 4) who sell artifacts excavated

4 o1 5k yo 1y (oolan 5l eael Cuwd 4y Silegiuan o Hgd Slolio g sole (wlid bl oliel Ciup 4 1S oo dlertey cpo VP 4l T gl

il by
¥ oy 48l 423l b b o] o) ot l0 o] )5 4t o 0kas/tHAE aS ] ] sy 2t POPOSE (ygoliins 0,155 Ju 5 1G20MS Jurgd
S a8 3 57 -y g0 05 (F) 5 () (slodissS Slinag? al b o) Jab 45 ol (5" il i JE (sl oy o)W (sH500 oS Jpow &9

20l 5 455 ol e odoged Jpado ke Lol aytazo (V) sy ;5 giSell .l Jpgzeo aSCuf ;5o ol Jpedo b sl Loz putezo 45 Lo

3. Example 13: In his Physics, ......... concerned with the philosophical question of the nature of motion as one
variety of change. OF 5,53
1) Aristotle who was primary 2) Aristotle was primarily
3) as Aristotle whose primary 4) that Aristotle was primarily

.célo,;,,,u"&,s&l&l,;cqdyaguua‘hm#&m.ap&p)a,@)l «» M_}f@ul.;

be  KaS Jus 45 4ty o] Wb (§14ss 55 et st CONCEIN aS pgu JSC5 45 jiius CONCETNEd aS fhuw & 50 Jod g5 162018 paiagd
igar Jituo o i a$ sLiman Was concerned 45 ail s sb oid ol oz ;5 Wl Lad .ol

o I tazio Primary Les .qhat sy oo)lez 50S (sly posw WO Lbls & (Joh) a0l 336 4 40 (F) 5 (1) 5 (1) (slodis 35

(1) 5 (1) slodiy 57 5080 Syl dusly 4550 Cude) 45 chogl 5, CONCEIN oS digi, poi

2. Example 14: An impressive set of studies demonstrates that cognitive development during the school years

............... by complex and demanding work without close supervision and by high teacher expectations.
(1F 5559
1) and has enhanced 2) is enhanced
3) which is enhanced 4) to be enhanced

39 BB Ooyllas e 00 g S IS s yb 3l dw o Jab g0 Sl JelST a8 aieo pe plid Oladllae 3l (glasgese €YY 455 il

il gn S9u ples VY ol lizil 5 b
Ay oy 0l oolitulthat s) ;] ue &5 alo) o i Jus demonstrates . ii.s o> Jeli An impressive set of studies :gaol)S guagl
ol il Ly 8l 23 o S oS il 5y (i35l o e 5 o tRAE ] sy 3l 2215 1o oS b 45 )5 ] )
S ito Lgd 4y tdubog o ;5 (cdigti WHICH 92 diw ol pas (1) (g4 35 faS 4 dpgzmo jhas 1O be enhanced 3> 4z 0l (F) (sdu ;8

eyl QA 5 (1) (§21 55 57 g0 g8 Yo g a5 45 pod S 5, oo S50
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o  had o siddind sl D

B 1- eeeeeees known as Stonehenge has never been determined. (Y 5yl o)
1) The stone circle 2) That the stone circle
3) Who built the stone circle 4) There is the stone circle
7. 2- Novelist Jane Austen ......... the first 26 years of her life in the village of Steventon, Hampshire.
(AF (5l )
1) lived 2) living 3) was lived 4) who lived
D 3. people don’t realize is that a chicken stands up to lay its eggs. (O 51 (g palpu)
1) It is that many 2) What many 3) Because many 4) Many
78, 4- President's doctor proposed that he ....... a short rest after the assassination attempt. (A 50l ym)
1) took 2) take 3) will take 4) would take

i b o sukisdinds sl dsbiduuly

s ololid 55,0 0,00 0929 4y 1) €ud gruld 4 Bgpme  Sow ol S 4z aSl €1 4y 5 )
oS eolizul fels oGl G WR-CIAUSE ] il oy 20,5 dazm i € s d> LSuB &gty 5, Aoz 52 :1G40lS pusgl

5,5 (S5 pliaen 4>l 10 eligaia] (Gbiwg, ;0 1, 855 (S Canst Jlo Y8 (] Gz aetie Gmigicle, € aiy 38 Y
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Smoking can cause cancer. OV- SYUNIEN| SO FRENCWILY g W
Getting up early is difficult. o] a3 iy o
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Her watering the plants everyday is not necessary. Gl (53050 HSBLE &5 (59 30, 12 ol O]
Lina's frying to deceive me was futile. D3 039k B a1y 40 3,5 gauw L 257
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9. Example 1: Scientists ......... about budget cuts and job insecurity is nothing new. (A% 50l 0 - MBA)
1) complain 2) whose complaining 3) complaining 4) to be complaining
Camepi ey 3liS] o Jad Cozal pae 5 azsg folS 4y lazatils oo ,S olzel €FP 4oy38 gl
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Scientists’ complaining about budget cuts and job insecurity is nothing new.
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Scientists complaing = Scientists who complain...
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™, Example 2: ......... is as simple as it looks. (Y (5l - MBA)
1) Building adobe houses 2) Adobe houses building
3) Adobe houses which are built 4) Adobe houses built

ey, o Sl a4y o5 Col | Slages plos 4 gi5 ladils caly q;c.ulg
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Always check the oil before starting the car. O K21y 5l iey a2ien iyadle (85 2 5l Jid
They painted the house instead of going on holiday. aing K 1y wils cdllasd 4y 23, sl

His back injury may prevent him from playing in tomorrow's game
ST eS8 (8 g5l 48 (ga a5 0ad ol aile Aty corlp el (Ko
73 Example 3: Grosseteste and Roger Bacon, .......cccceeeum Aristotle's inductive - deductive pattern of scientific
inquiry, also made original contributions to the problem of evaluating competing explanations. (% 559
1) additionally restated 2) in addition to restating
3) who additionally restating 4) restated in addition to
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He used to smoke cigarettes.
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79, Example 4: Most Americans don't object ......... them by their first names. (e 5pulpe - MBA)
1) that I call 2) for calling 3) that T am call 4) to my calling
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admit Rl
anticipate ol sl
appreciate 0,5 (S0 ,48
avoid o055 (6,80
hate 008 yRile
consider 8,8 L e
mind 9 S
delay OBl Gigas 4
deny oo sl
detest o9 hile
enjoy oS od
escape 0,5 (6,90
finish 5055 pled
imagine )5 el
keep (continue) ool aala]
She admitted lying to me.

We must avoid missing any more lectures.
He denied stealing the money.

I enjoy being here with you.

I don't mind waiting here for a while.

He postponed making a final decision.

mention
involve
miss
postpone
practice
prevent
quit

recall
recommend
resent
remember
resist

risk

suggest
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look forward to o9 oy 4y e
can’t bear 0,5 Joms
can’t stand o855 Jooo
have difficulty oRbls IS
have a hard time Ol e Sl
it is no use o9 osld o
feel like o9 Jala ooxdls g
be busy 09 Jgitee
insist on g9 o)yl

I have been looking forward to meeting you.
She is busy making a cake.

We would never mind waiting.

We can’t help wondering why she left.

It’s no use crying over spilt milk.

This book is worth reading.

have a problem
never mind
waste time

can’t help

have trouble
have a good time
spend time

to be worth
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3. Example 5: Most artists’ choices indicate that the world of nature is ..., that they contain beautiful sights.

1) worth looking

2) worth to look at

3) worth looking at

(AY ‘H;_I.,,,;",,.-. -MBA)
4) worth to be looked
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He was asking about a lot of personal things. I didn't like being asked about my private life.
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My favorite activity is reading. Sl Gailgs po aBe 390 Cotlad
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To get up early is difficult. il e oy A Sl
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To get up early is difficult. /// Getting up early is difficuit.
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agree o055 Cadlga need - ] fail 055 Cunkd
appear Crbemty i 4 offer o8 gy forget A5S hgalyd
arrange oW el 3 plan OBlo a.al hope 08 Slggal
ask ly> prepare o905 & learn o355 oL
claim o8y leal pretend O35 dgaily mean Ol duad ool alice
consent ool culs, promise oM Jgd wait (il yhatie
decide 53, el refuse o055 glzal want Cala>
demand 09,8 Lolss seem Oy L 4 hesitate 08,5 &y
deserve Ot el tend ol ol intend Ol auad
manage iy ad 3hge threaten S8 dsag

When 2 recession occurs, and average incomes fall, the number of children enrolled in government-funded schools
tends to fall.
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How old were you when you learned to drive? fsog Wiz o 23,8 ol |, Susily a5 Lo}
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I arranged for her to have violin lessons. WS C8E ey sl OIS (0 S a1l gei i
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& Example 6: Almost everyone fails ......... his driver's test on the first try. A+ il - MBA)
3) in passing 4) to have passed

ytn 35 o) sl ATy el 3 5 Loy €O a8 sy
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1) to pass 2) passing

78 Example 7: Since many working people want ........, fast — food restaurants have become very popular.

1) to eat quickly and cheaply

3) eat quickly and cheaply

(qT' \_.;;..ql}.,..- N MB:‘\}

2) eating quickly and cheaply
4) quickly and cheaply eating
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pleased Jbebiys careful
surprised ot « i likely
anxious bt lucky
happy j|E-yes shocked
certain Sl stupid

Be careful not to wake up the children.

She is anxious to go home.

I was stupid to believe him.
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reasonable shlaze
easy ool
impossible S
able Llgs
ready pol>
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ability s2blg
capability s2Ules
desire Je
determination p3e

As a result of his failure to pay the mortgage, his house was foreclosed.

decision oucdd
failure oSt
advice Sl
attempt oo

All attempts to control inflation have failed.
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willingness gl
reluctance sheos
responsibility Codgtos
promise Jgd

ambition 951
way ol,
effort W
goal REXVY
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I don't know how to cook.

I can't decide whether to answer her letter.

Can you show me how to get to the station?

Who was the first person to climb Everest?
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He is the oldest athlete ever to win an Olympic gold medal.
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8. Example 8: Most historians trace the beginning of the Internet to Sputnik, the first satellite..............
(D 5 559)
1) orbited the earth successfully 2) to successfully orbit the earth
3) which it successfully orbited the earth 4) the earth's being successfully orbited by it
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It is impossible for the job to be finished in time. Sy pled aBge 4 IS 45 et Kan ol
It is important for the meeting to start at 8. Dy fayd A Zuslos dader 45 Canal pg
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Try not to be late. S 3 O A
You were silly not to have locked your car. (63,53 Jid 1) cntls &5 (gog1 Gl
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It was so late, so we decided to take (met-to-taking) a taxi.
{slato ly jaae decide jl sad o ST 0azd)f ool ol plts gy Cdgpd
dloa dily> adan gyl 5l any oy 1lal B 10 315 3550 30 aBl gl L

be used to C,:J.h oole  in addition to Y o,}lﬁ
objectto o5 sl2cl look forward to o4 Uisleis
adjust to a5 wele  accustom to G055 wole

confess t0 .o .8 il zel

In addition to teaching, she works as a nurse. A28 a I Sl laisds (ga gm0 s agdle

I objected to having to rewrite the article
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1. It is nice to be sitting here with you.

to be + ing J=é =
2. Martin seems to be enjoying his new job.
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1. It is nice to have finished the work.

to have + Jad pguw JS&

2. You seem to have lost weight.
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There is a lot of work to be done.

to be + Ja.s P J&.::
The carpet needs to be washed.
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1. There is said to be plenty of oil off our own coast.

there + Jagxo J2é + to be =
2. There is supposed to be a fall in house prices.

Aly EalS Sas Caand a5 Col )50V doz 5 0400 8939 ledgs Sl 10 (g0l s a5 Sgud o a2iS N dax

oo ... 9 think  suppose know fear allege believe Jlasl Jolti oy,u8 o 51,8 Jotmo Jad oloreds YU sl g5 a5 Jladl

1. He is believed to be the owner of the car.

Jel+ Jotmmo Jod + 10 L yuuan
2. Jane was said to be a spy in World War IL.
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O ... g consider know say allege believe Jlsl Jols o8 o0 )13 Jatme Jad oloieds YU jlisla g5 a5 Jladl

2. Example 9: Women are thought to ......... no official role in Roman army activities. (A) & ,559)
1) having had 2) have 3) have had 4) be having

WAL gansy (B oy 85 slaellad 1o Ly 45 Cand ol oaniie €F» aiy3F el

5 10 02iS ol deao il (Vi 555 5b) idns oy 0ckog/AFE LHOUGRE sgo Ja$ iues 5 iiwa WOMEN Lo Jel§ 5 :Gr0l)S gudgl

9 Jol5 a0 (1) (gdis ;5 0ol o (V) (ciy ;5 (()) (6415 5997 Canyoli Cde) olo ING Wl [bdw L $Cunss 48ls] 6, 20 b juao ,l5Lo

o L) a2sdS loj 4 alaz pygio oS oolinu] Wl (5 han £oi 42 ] paines U ppuiS gy 0 9y dhaz pogdo il Yo 4y )/paiu] juao (F) sau;5

.,,,;faalizu/‘jolf)m)'/.gé ol pgai .)/..gj) 8T o .a)b .bé;)/,aj) L;))'LL‘;‘"’/UL’) d.ub.a')L.c wl .a)b




@ ay W gulid 5 5 a4y i e MBA paadi 3l )

72 Example 10: Since around 50 percent of all stars ............... their lives with masses greater than
1.4M O, we might expect that one out of every two stars would die as a supernova. (A0 5,553)
1) are believed to begin 2) which are believed to begin
3) we believe they began 4) are believed in beginning
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I can go / write/ see ... » David cannot write.
(t0 (399 youan vxy Sl Jaako Jol 4iSow aidl) help g make det Jad auw 31 om Y

I made them clean up their rooms. A8 Gaed |y BLaale gl 6 po S jgeme I, LT cye
They won't let us leave. 29 3 o o3l Ll
I helped the old woman (to) cross the street. B9 0, (Ll 5L po,S S8 5 pm 4
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2. Example 11: In order to be allowed to enter the best center, the examiner made us ....... our identification.
(Y (g il yw - MBA)

1) showing 2) showed 3) show 4) to show

qoedd Gl 1) 995 (oLl &5 B Cunslgs Lo 51 puy3l a9l 00l 55 00 g i 42 89,9 o3l Lo 4y Sl (5l «FP 4y 55 sfwly

07 Ao (1) (G4isjS g o lO 9y yetucao dny 9 Jpnio Jyl (oay] dr o Jl- - LS 42) il 45" )5 o0 53 Y-k x5 ] Ans 16 201)S paaingi
2o tO (yg0s joua (gl 5l ms g 20391 Jgmio @ iiny 9 ovkagl 2238”2~ o5 made

(yjowan ooy b Jezio Jol 45) ... g DOtice smell (hear see Jio s Jbadl 51 ary =Y
I saw the old woman cross the road. )5 jaue o0l 5l 0y5pm 45 paps
i g0 i pine o5 4 42l S wlizal o iy i o iy 4Kl gl > S5omg 455G b 53 o o JoS 0] 3,30 1 suided
1 saw the old woman cross the road. 3,5 908 00l 1 s 45 a0
1 saw the old woman crossing the road. oo ool g S 40 [y s
AL 1O b joae wb gdaar Jad oy 54 Jotzme ©)90t W Jad (] 45145 an) pgs 43S
Ali saw them play football. Jﬁ) They were seen to play football.
30,5 o 5k Jligd a5 o Iy byl e 50,5 o (55 JLigh a5 Lol ey Loy
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72.1- Since Elizabeth Barrett Browning's father never approved of ......... Robert Browning, the couple

eloped to Italy where they lived and wrote. (1 gl - MBA)
1) her to marry 2) she to marry 3) her marrying 4) she marrying

72, 2- Looking beyond Earth, two planets show strong evidence ......... environmental conditions suitable to

originate life at some time in their history — Mars and Europa. (AF 5wl - MBA)
1) which has 2) having 3) for having had 4) that they are

72, 3- Research in the history of the family has progressed from the narrow view of the family as a household

unit ......... as a process over the entire lives of its members. Q) 5559

1) to consider itself 2) of considering it such ~ 3) to considering it 4) for considering such

g Jad ol saisdib slbcuwd umg
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J5 gk 0 sanld plye 4 0981 o5 a8y g alr B (Sl ganly laiear )T 4 a0 ol 5l oalgils 4,6 (g 4o Badios €2 any 8 LY
35, g0 o] 4 00lgils slacl Sus;
a0 00ldiu] o b S’}Au Wls] Sy b 90 ol Oleo (55,07 45 (LS 45T 5005 06 4, from ....to ... 4ls] S,> :16481)8 Zuagr
How do you get from here to Colchester? $i59 50 pinels pgu b lxis] I (slthy a2 ) 45K
S gy (F) 5 (1) slodsyjS o jituun 10 48lS] S, frOM Cuiz (52 5 00,5 00lizul frOm 1 ol deiy po deiss 5y Sl g0 451 Yo o
o (V) 42,55 diwjoli (1) a5 oy oboo Wy a8lS] Sy ] ey 02 (o0 s pouiS o0

...from the narrow view of the family as a household unit to considering it ...




@ a9 W gulid 5 5 a4y i e MBA paadi 3l )

«(Agreement) @l
Js 9 s i )

Syie Jab (23l (sl (oS 95 00 5 Wl oz JeB b gor Jab g 9500 Jelb L 0jho Jab gimy cadly axdls g2y Gillad by Jelb g b o
iy 54 S &5 jsbiigen 9, Jad Wb gez Jab (iFLu (sl g w5 ALITES LS Jab oy 43S
read —&%—» read read —2 5 reads
S (00 et alel &5 o)l (Ko (AliSie Slacdle &y Jod (1092 900 5 (09 2o
3Jad g 3 jio ol pgw JEU (o o3 )
ab Jad sl 435, S, 0ne b 4it 5 she he yos & g0t b adl 0jke jasd pgw & 008 dlox Jelb 481 atien Gills el o o0k by a5
bl 0 yhe
He knows the answer. / The book contains 13 chapters.
has atohave Jab o,he JS8 518 atea DE Jab 500 K4 45 o g0l Loz
He has two books. / The boy is at school.
A0 KNOWS s 09 ,i0 hE 3l 57 4z CONLAINS oy 10010 DOOK o050 47 o5 1paiagT
Bl S o5 4 A5 ga Fail Moz 5 Lol s (32,8150 25 ol5gT Do 55 (336 ol Ygame
Until the time of Cantor’s work on set theory in the 1870s, no serious mathematician not even the giants in the field,
such as Leonard Euler and Karl Gauss, was / were able to appreciate that infinity can be studied with rigorous precision.
o2 ooalS ) g Slagl o)lig e sings Joo Sladly; 0 &5 (GluS (> (ool ged VAV O ans ;0 dlued 4y i 5590 50 59TlS Mgk 5 S G
D5 gy ol B L) Colig Olgiee wissSy o wiogd ;06
ctlas Jold ooy o0 qouiSpgn oy p 45 93 Lol .y ,i7 g0 Leonard Euler and Karl Gauss 3> axoxe Were 5.5 ol ol o wls :zuder
Ao WAS Jad olls ¢ iiwns mathematician
28 g go Job o Bl Y
a8l goz b alo> Job sl they s we you I ples & g0 L students Ste 4l pox alox Jelb a5

They study a new book.

1055100 3135 5o 4ol gl Y gate (Al SMalS iz 3 gl O 1t 91 Y
The price of all these items is twenty dollars. Al o VO Cany Y ol solod cooid
The characters in this story are well developed. Wlead >l g lils ol slacpasd

An analysis of sixteenth century probate inventories in the major English towns shows that even some artisans and
yeomen owned silver spoons and cups.

obud g @336 wa f5,0laS g ol Fcais 3l pan (S a5 wwdpe (lid eSSl Lol sle el | (g eeo s 3 Sl lasl slagagge Juloo
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72 Example 1: Application software has been around for decades and allow the user to perform various tasks,
1 2 3
such as document manipulation or modification of digital images. (AF (5wl - MBA)
4

9y 2 aile alisee scodled amo o ojla) )5 4; g ol AT anje a4y b AT ol amd posa (50,5 Jl58la s €YD 43T iRl
wamd plil 1) Jlaogs pelal 2ol b sl
olpallows wlallow gl 4 Ly w00 yho jasii pow 45 digedlas Jels application sofiware | :§0l)S guagl

72 Example 2: Readers in the past seem to have been more patient than the readers of today. There were
few diversions, and they had more time to read .............. that seems to us now inordinate. (A8 (5l - MBA)
1) lengthy novels 2) novels of length 3) novels of a length 4) length of novels
9 Sedlo 092y (Sl o) s LIS 0 105 Wlodgy (F955 Gle3 LS BB 51 590 anBIS o Gle3 DS OB ey 00 LS 4y €FPAL T by
e yiso 5 4y bjde Lo (sl 09551 gl Jgbo a5 antls plagle; pailys sl st oloj e
nOVelS (92 LS 0y s (1) $42 55 Lt (Siiiuats oS 500 3o 0k 19:2i S (y9) &5 oy 10 5, SCEMS a5 .iS olG M5 (slo i1 any 4 :1G10MS ZaaiagT
o Joliio (V) (g4 j8 iz 50 oo 90 0 (1) 5 (1) (sloasy i i joli plino Ll 4 45 90 (F) (6455 o

72 Example 3: One of the first extended studies of childhood narcissism suggest that heaping praise on your

1 2
kids could make them more prone to being selfish and vain. (A0 5yl MBA)
3 4

Fter 5055 5 oL el 9 che 5 45 05 0m bl (S99 190 (Koknbogs diva 50 08,5 Slallan et (S €VPany3S gy
S (g0 ShrdsS g (hlaS0g5 s |, L]

aalS oty oy e ltalS wix Jels 4 45 One of the first extended studies of childhood narcissism fa.z ale> Jel5 ;162018 puagi
Al SUGEESES Wl alo> faS s . 5utd ONE &5 0,5 oo 1,5 Do

S g0 590 Jol SO 3 Jab (o Juade o 4 325 SlalS b Jobb g0 451 Y

as well as oeixed g accompanied by L olen with L
along with L ol e together with L ol yonr
Mr. Jones, along with his wife and six children, is going to Paris. D9)0e0 eyl 4 Slazy A g pueed b olyen g BT

The weather, as well as economic conditions, is a consideration.
Sl b b n$ o 5is Jog padty along With b s> p90 Jebb his wife and six children 4 4,/ Jels Mr. Jones ! Jlo 5 5 :200d9F
sl asls glar Mr. Jones s s/

78, Example 4: Her uncle, along with her two cousins, demand that she stay in town one more day.
1 2 3 4

- . - 3 . - 3 o & o v/

iloy ped 0 K0 595 Ko a5 Cealss ol 5l 0 (Bages (Fages puy 95 2 odle «TP 4n 38 Fuly

asl axsls golkai Jol Jeld b sl S p:2d5 a5 dzig] Gubo oy o3kl Joaio oo 4 GLONG Wilh L 45 auisty g0 ypalels 45 iy co 1GH0IAS ZasisgT
00pdo 45" a3l demands wl oo fas s 00,40 g her uncle Jy/ fels 45
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To answer accurately is more important than to finish quickly.
That you don't go to school and that you are rude shock me.

sl 56 40 192 g o] 0,115 Jl (1090 37 (g qoniS g0 o0lizi 3 yia Jolb j wiei] Ligd 4y 132 9 ALud 10 b yjdae Jeli Syl o5 1ppadigT
ASl paz Ll fa ges b

Juos o0 45 OF b 451 Jy adly gaz ol rmd Jub 13ty oy oo 4y AL L 5 oy iy Jo 0 o8 53907 655

A and B are Friends. o oB g 42 3)de dighga b Jad 090 el 45 a2y
The ranger or camper sees the bear. Wi o () gy ot yole b 8,500

s ki e it aas il i da s ioa il s aion taa i e d Ui v aa s a i aeadi i b i s il s st bt ananini g l.u'_p

tsd 43bw not only ....but also... g neither ...nor... wither ...or b &5 Jslb g Jub Jollai F

Sl gar b yhe digh go pgd JOlb & iy Jub 1dSly 00 aisle Y S)lee a5 S5 Ly Jeli o1

Not only Julie but also George wants to visit grandma. ol 5 0l b Sl Jags g ygm aSh o Lt
Neither our families nor our friends know that we are getting married.

oS oo el e ls Lo a8 asily el lagsliags di g ylaslaeslgils &

Either a jacket or a sweater is all you need. ol ypales K b ST K L oyl 5l Led 45 dadl pld
OUP frends ayo Joli gaps 57 A WANES sl Jub g s03yin 1ok pyes sl GEOTRE o 5yt 13 ol Gl st M oy 5l pandgl
A RNOW b a5 g wzead

7@, Example 5: Neither Ali nor his friends ............ to the movies.
1) goes 2) go 3) is going 4) has gone
liyd & 09y o lodaw 4 o & €V® Ly 55 punly M
i g 00l poc- fud il sanas- RIS friends pys Jeli 5z 1igsolyS puigd

tovis &idbw 0O g any every U &5 Glob g Jod ol Y

bl 0)he Wl aduan Jab (8L A DO g SOME ANY LVETY (55l SlalS 3y o

Somebody needs to talk to him, CL QNN | R gt W
10400 Lodcuad 0 gs b ol o &F ol g Jud Jilial

bl Jold a8 pay o )lis Jub y golj b Licuad Ygone . . o another all some fto LS lazu s tals Soogr (o2 4igidl 5, Laleicees
343k Syhe b b Jud Al Biled Jlpd 5 Spie paed 451 oa ol B Lasiione § Gty 281G (615 Leierad 4y il ofyai Liial

Al paz b oo Jad o paz &5
All of the money was spent on decorations. b SlsP Gpe Jy plad
Many students are waiting outside the building. RTINS  PURER PR PP FORPIA [PON JY N

20,13 the number of § a number of iags | ol j0n &5 ol g Jad Golld

e ol g0 )l o gline Llodds o 5 (53,018 Lloday 9 10y 03 (3 o b (yganal B e 51 5o G 93 o

the number of + gos b lad Jilb passl + 3,80 Jad
a number of + ass hjlod Ji il + g0 Jad
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A number of students are going on a strike in reaction to new educational policies.
ailos,S colazel (figal Ao 3l (s 5lods (oh39aT Mz (Slacusbns & gusly 5
The number of students in each class does not exceed twenty. d 5900 23S o 31 Sty WS 5o 5 gal 2510 Slaas
yuoud gl G3llad
9 & ol (S0l Wb per jred 45 all Ggisk Aty (b (VI (B3] Aigi g0 g degen b 5 Jelb Bl o3l (908 4 08 preid g il Bl
A2 S8 pomiw 8590 )b iz Jl> 4B Bl (LS (S (00 S8 AT I fed Aky 3 5he il (30l A 0500 e

A student has to expect to work hard when he (or she) goes to college.

S M St gy g0 oKD 4y aS Sloj aS bl axdls JUasil sl goetils

Al 50 0l-She L he s,do 0 b il uy 100,40 G Student o 5/ 55 ;puagl
Many of those people live their lives in poverty. By g0 gy 588 40 O3l T 5l ol

Music can inspire people with its beauty. Al o3l maueledl (Bl ol b wilgi o (shemsge
3yhn Jab b atue x5l .y TIO @VETY b o el 0038 St padgod (23LS5 o)y (oo Lo g 4Ky Jelb g Job 3ilas Eolin b i ol Seole
b Jelb a1 S S by ety (n3Sile 3yhe yeasd b il aliee sl SLalS ol b oS Jelb 0.5 puigion 5 4ol altas (pran oo bxia) 5lee
p35 sl 4 a2 gl by Aigigo ol i3l iz 97 jead pimy I yd At (yeod o el IS dags Jelb a5 Jad el o en 4 m€ither ... nor

bl aex b 5,00

Every woman can find her place in the world
Neither the stars nor the moon shone its light on us.

082 290 Sl Elyaws 101 0 s 0 soliz./neither ...nor 5090 Sto 57 Bl 0 pio Wl w0 ji0s 00,40 WOMAN (52 S5l Jlio 57 :puadgd
Al 3,d0 Wb yeaids o yiiun the moon fels
8. Example 6: Nearly a century ago, biologists found that if they separated an invertebrate animal embryo into two

1 2
parts at an early stage of their life, it would survive and develop as two normal embryos. (AF 5l - MBA)

3 4
90 4 ik glaz) Jolhe les jo 1) 0 e g Olga ez G ol 145 oy o lolidicam et 08 o 4 Soop € an 58 ily
D)5 oo My s0le i 93 Sijgeo & g ile e 03] Glaa (4T (30 o s Caomad
Az ol (V) sy 35 o BhEIF & a2y 5 551 digi o UlS o0 L (an invertebrate animal) s 40 p! 16s0l)S guigl
aley g e il )
ooy 4 tdad 4 o Bl axdls alex 4y 45T M 8L axtls 3l wa b (Gloj Llod 4y ol alex 4y (sla Jad a5 anyl oyl o oy 3illas 51 jslace
Ali studies hard when he was a student. L 0,055 oyloj 5 loj Bilas alox gl ouf oo B> Mhaol 2838 yloj 4y 2dad 4y 5 4l Jl>
W et S92 45 A AT lo; WAS oS > o dll> o 4y STUAIES ab &5 puir g0 0 <85 alaz ol & pgs 45T pady
1S &4y 5, Was b oS Joos studied « o, studies wb b e

72 Example 7: Before she died, the daughter of Andrew Jackson who lives in the family mansion used to take

1 2 3 4
tourists through her home. (Y 5l s - MBA)

Sy el a1y e 197 0,5 o0 (S35 55 Soleils Sjlos 10 AT g 9500 250 0 ey o) 4S5l A €T q)?c..nl.;
Olej 5 olas olhr b alaz s it 42idS lo; 4,,,.,.oused 10 5 Jo slo; lives AzldS lo; Died a5 =és alaz flad] 4 :uuUSz._l.dg.T

ey i lived 4 g, lives (7)) oau 5 57wl 5 o,
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72.1- Two of the players from the Yankees has been chosen to take part in the All Star game.
1 2 3 4

(AY sl - MBA)

72.2-_In contrast to traditional analyses of minority business, the sociological analysis contend that

1 2 3
minority- business ownership is a group-level phenomenon, in that it is largely dependent upon social-group
4
resources for its development, (AF 0 Su e
73, 3- Rheumatic fever occurs only when, in defending against streptococcal infection, ......... also attack
the cells of the heart and kidneys. (9% (5 pul ;s - MBA)

1) the antibodies that the body's immunological system produces
2) the body's immunological system produces antibodies
3) producing antibodies that the body's immunological system

4) the body produces antibodies for the immunological system which they

b Juad oud suisdind (slocud umﬁ

Siloads wlses! All Star 5L ,o o5 ,8 ol Yankees Lol 5h i g0 «f» aiy 38 )
A5 i have 4 Ll has i all ga> b po il 5 AWO) por alox Jels 16018 guded

ol 09,5 prdan 10 ouydy S Sl S g CoSIle a5 WS o Gl (S Ldaal> Judod ool S gcnS i gl Julod uSe @ a4l 3F Y

Bl (Ko 395 JalSS (gl 29,5 - eloiz] plin 4y aS 1>
contends jiey ail 3pdo db oo oS uy 00,40 5 dla> alels the sociological analysis :grolsS guagl

503 a8 psn 5 1y 4S5 B (gloJsbos w35 o 5 (4 (iat] s 45 il 45 93 s £ (e S gamsileg; o3 €I i35
Olej (sded 0, ;5 dy iy cols ool When j/ sae alol esoccurs .alcli Fever . S Jfdoi g, fiw <50 obo s/ 161018 2uagl
e ey iy (00 2dS((F) 5 (F) (slodiy 357 091 Cansyoli i) 0, jlei o ypacsted 0,55 4500 oy {pits QHACK (y90 545 035 oS o )1
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« (Comparative Clauses) slamlio of Jls »

O g €y A (JA K Sy (B, &Gl ) e St abige oolied dulie sl 93] 4T 0l 052y Sle (5w 4 (Sl 0
Vo gt 2l S s o0 4 o 0l s & Sicse e il Fpans gl 5 F o lulio Slee (9 5, oSl
S 2 SS9 99T o il

alike glike 351890

o3ty oy oo srad b ol 1 13 atiran lliker (go3ly 10 3,5 o2 L ygansl b e 5 50,5 Blod 41 g (3dsn 4025 597 41 03l b g0 ool Ly
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sl + pasl +be Jud + alike ol + be Jub + like+ ol
Ali is like his father. W SRV
Ali and his father are alike. U V00 S VP P
Those two men are alike. A A 350 90 (4]

72 Example 1: Tropical cyclones, alike extratropical cyclones, which derive much of their energy from the jet

1 2 3
Stream originate far from the polar front. (A (5wl - MBA)

4
T . - ) . . . , . ",
gl o (AU (B gl gz
ddai oolizl puol ;I L5 alike s> dike a5 alike ol 4 L 1gaol)S puiagl

similar to gsimilar :pgd 90

02,10 2l plis olie bE Jud omy «sIMilary g obis gusl b 90 oy «SIMlAT tO» 0y )lo Siglitia 8,157 Lol altio  no oo b 9o oyl

pl + gl +be Jzé + similar p! + be Jeé + similar to+ .l
His coat is similar to my coat. Lol 0 8 @y and ol &S
His coat and mine are similar. A A o 4 pe CS g gl CS

0l Aigi o o o) 3| o3 SIMIlAT a5ges aziST az i
He chose a similar group. 8,5 Qb ) slde 05,5



@ Vo0 il gl 5 5 g 5yl 30 MBA paadi 3l )

alad ol 4555 oy yioge CiS ddie 45 o)l pli (ihie (slas) lOGIC EITOT (S Cumo (53,50 10 palgs oo Y &5 oo fgilaio (glhas
compared to wlalS > g unlike dike anore + cio + than «cio er + than @s...as Jie asl awlic oasnsssli a5 S)le o 50
s B BB ilio Blddy ob b 45 9y ol U 9 puigi (o0 a5 anyl 035 dzg i b s 45 (553 oy€ 9 1N cONtrast to L
dslio e G9a> b g) L) B9l 5 Jle b g,y Lo) b aSly 0uS dslie (o 98> b g) L) o0 ojlarl iaSs (Jileds oS dunnaliio o b
(S 5 1) el e 4y 35 i a2 g7 g b s Iy el ool (L adl Jgd B il Llxd 4y 0sd plonil duylia b g
My car is better than the car of Ali.
S 4y ygodaylio bf algud Jl§ i Llx) 4 45 0u pli/the car of Al ymy car (o awglio o oo (0l 35 ¢ uivn oo 45 45k 500 :qadgl
43l 3pde oypanil 45T Yo hois 0uiS o 55l ceslin o L g, pys the CaF Wb )G 5 lizol (sl Yo 0ud G L 40 CaF 45" az pigl o)l
ot i oolizlthose g that loa wo 'S j/ puisiigo ppuiS o0lizul thoS€ I b il paz o goawl 457 5 puiS oolizul tRAL y0d j/ pripi oo
oS gl 5 sloc g0 1 S 4 5y Yo dho poigi o s00,de MY CAT (52
My car is better than that of Ali. Or : My car is better than Ali’s.
Setent 50 1020,5 03litl jeads | ol S5 (sl 42 0 5 duilaio (pgodunlio o Yl
Incorrect : John's salary was much larger than Bob.

Correct : John's salary was much larger than Bob's.
Correct : John's salary was much larger than that of Bob. D91 yten sl Ol Foi 4 S ol God>

Incorrect : Unlike Darvin's Theory, Einstein is much more difficult to understand.
Correct : Unlike Darvin's Theory, that of Einstein is much more difficult to understand.
Correct : Unlike Darvin's Theory, Einstein's is much more difficult to understand.

sl s oy il g L (g o 4k M-y
35 oy 5, Uas ol odd pMlol 8 )lge Sy qoiSopo demlio b 355 b gy Gl gi obisl & oyl bo ctiuryoli 45 Jyf Jlio 57 cptaigd
03 by 380 ol e slo flio 0 40lis] 45 o duslio uiinil 995 b g o alii alaz d) 57 g Jlio 57

0 0
T2 Opln Ghia oo L) 1pad dulis pa b (hle 4z s n g @5 et ) Glanlis Ole aon 1 ol 05 slealer 5 alo V>
(U'S":"’ d>gie lo..l'é; ol.‘:..::l FUSRY 20 50
1. The salary of a bus driver is much higher than that of a teacher.
2. Like Bronte and Browning, James Joyce and Virginia Wolf are often subjected to the kind of veneration that
blurs the distinction between the artist and the human being.
438,550 salary of a teacher ; salary of a bus driver . awylis 5 iiws higher than glaglic oyle | o 57 o5 1pnagd
ol plxil James Joyce and Virginia Wolf ; Bronte and Browning o 4wlis 5 jiiwslike cliwylio oyle oV Jlo o

2. Example 2: One study has found that subjects with shorter telomeres are more likely to develop cancers

of the lungs and kidneys than ......... . (AF (¢l - MBA)
1) with longer telomeres 2) longer telomeres are
3) those with longer telomeres 4) ones with who have longer telomeres

a Y (ol s (550l sl yasli gls a5 o] &y o Ji0bisS (sloyagls (slyls ol 3 a5 el ools LA gy Ko PP asy3F rgealy
ATt fdaTis 415 5 A Slagls e
duglio oy 4S5 0 duylio Subjects with longer telomeres | 5, subjects with shorter telomeres o,ls Jlsw :sroliS guigd
sl i 43l o wl
One study has found that subjects with shorter telomeres are more likely to develop cancers of the lungs and
kidneys than subjects with longer telomeres.
e lathose Lil> 4 5 05, 0 Jid> 5, pgo SUbjects Y I

One study has found that subjects with shorter telomeres are more likely to develop cancers of the lungs and
kidneys than those with longer telomeres.
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72 Example 3: This close connection between Polish Romanticism and Polish history became one of the
defining qualities of the literature of Polish Romanticism period, differentiating it from ............... other
countries. AY 5 259)
1) those from 2) that of 3) that in the one from 4) those there are in

rsmesiley 0,38 Slassl 3 (0 F35 31 (Kt 42 Slint) 420 5 (it ol Gt KBS 5 K05 bl el €Vr any3S sgenly
Silo oo plote 1,eaS Koo Slosl 511, T reod 45 Coloud Jraws gliwg)

el 1,325,505 Sl b gy i) 0199 otd] ki i 4 iy iy o oo 4y dng? b il (s 45 s 4 (o) GADINS g
5208 U545 00 (1) (it 35 (oo ) (D) 5 (1) slodis 35 o) . THOSE i oy )f GLiTRAL 3o peoids 4 w03 ydo literature jypo o 4:5 0

2. Example 4: The high-protein eaters also had a cancer death rate four times ........... . (20 gl s - MBA)
1) greater than their low-protein peers 2) that of their low-protein peers
3) as much as their low-protein peers 4) their low-protein peers did

San 6 yaS (g g 48 (GluS Ay S adly (Vb uigp Span oS (GLuS (g Olo s ] ey S e £ cizen €VPAL T iEly
g plp ez oS o
sihio godulio a5 il cidlpo Ly oo plonil dulio low-protein peers s high-protein eaters (. o)ls brxsy/ ooy 7 ;161018 gaisgd
w003 £y ol Lido 43l

The high-protein eaters also had a cancer death rate four times the cancer death rate of their low-protein peers.
eSS0 - that b wl 4ig) 00,40 cancer death rate 3> >

The high-protein eaters also had a cancer death rate four times that of their low-protein peers.

s pb (5 9b 50!
The high-protein eaters also had a cancer death rate four times their low-protein peers .

8. Example 5: In Norway, however, where there has been a ban on tobacco advertising since 1975,
smoking is at least .............. do not ban such advertising. (38 &l - MBA)

1) among teenagers as prevalent in countries as those that

2) so prevalent that it is among teenagers in countries

3) as prevalent among teenagers as it is in countries that

4) among teenagers so prevalent as in countries in which they

£ o3l 4 5335l )3 (Blgzss ot (39S M 90 55 VAV Jlo 51 555 Sliel (o9 yian 97 b a5 50 €PP wigiF el
S 0d Egioe |y (Tl iz &5 Gl (ale )9S 50 (el K
Sl 51yt 48l (50 oS el sigl g oz (o9 4 e (ot e gz 4 Sy Al (sl e o5 & S () e 1GAO1S Zaadrgd
35" a5 however .4lse 0.3 in NOTWaY oS o £905 dlax ol gsed 5l b 0 oo 5, ODlor sty ol ety Sl ol F locuns o5
©)be 4 o Sy h B 4 olsieds S or I (Ghoy 0135 4 e (3925 ) 4F outeg] WHETE (b 0)lai (55 (309 5 0g: 108 285>
i)l g 05 Bl adin 9y o 9 Sl (ol 95 g Ay Ty (09I S (BB32 9 (39l codagl JoF 229 U 9 (e

In Norway, smoking is at least ..... do not ban such advertising.
SO (97 add> (F) (5ay3F pais plol 48 0 (s g i (lizzod (ygatnd oo 5930 S o8 Lol Jad 5 u SOKING Jebb Lryl b o
s 45 Folr 2un 1S Gganlol Jab Vi dhaz Elis 0)lgd pr Yo 5 alte o dlaz 4 Jlo )0 000 S sie alax g5 pTEValent as
SLadny 5 55 los ojlun aiuly 0,135 4y asgny DN Jad Ly o S ol iy 5 (514035 g DAN (i) 0210 o 440 b &) ot 0
85...85 (93 Yo (on 05 (615 0 (V) & () 05 3, it ol (¥) (5423% g 4l (simy o35 (saigts igigm 42238 ;5T that (1) 5 (1)
In Norway, smoking is at least as. ..as smoking is in... . oo (V) (a5 oy adl Joud 1B dlate Lloday awylio sl ool
S g0 e Slr it L that L 0.5 5o B3> 5, pgo SIOkING
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72 1- Iron came from West Asia, although its routes of diffusion were somewhat different from ..........
agriculture. (Y 5t o pas)
1) it was in 2) that in 3) that of 4) those of
72 2- The Romans used central heating systems very much like ......... (1) gl s - MBA)
1) today's do. 2) those they do.
3) the systems which are now. 4) those of today.

p2d 50 Jad oud suidinb sldcwd wolisuly

Bg1 6is9laS HLasl e 3l Sglite (oo B T LAl jie 4> del Cawd 4y Ll )8 51 ol «Fr w35
0391 (6 9kl alox oo 116201S Zasdrgd

......... its routes of diffusion were somewhat different from the routes of agriculture.
i 3Selr thoSE Ly (gl e TOULES (g2 5 wiS (230lr amslio ool Ly 9, (gl 90 oSl 95 il o J1,S5 1L 55 TOULES o3l o (92 >
:w.:.is‘sn

......... its routes of diffusion were somewhat different from those of agriculture.

2392 (5590 (Slopums b dslin Ly 45 03555 0 03liisl (1635 p0 (hsle S (Glopps I Wb gog, «Fr 4l 35 Y
0391 535 0l Gsalor ol (o 42l 328 JB ilato o) &y (pgoslio sl pe S oolizuol TIK o3l 5 52 suga0luS s

central heating systems of today. The Romans used central heating systems very much like
iS5 g0 o3liz] those 51 il 4y g 0uiS 0 Bi> 4, pgo Central heating sytems
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p2d jlgd Jad
NOV By

dloz slizl oo 45 asl (g0 Jlislus I jolaie ayjlge Jlsle wlfes (o)l axgi 390 p (B 4T oSl Ol ot Sl 9 G35 OIS 1 S
WS GBS ) e B Jle 45 ety 135 o ksl ol
sl ol gy a8 0Ly ygis 4 et Bl 9,00 s 51 g 8 ulad Iy L oS lej b g oo 3 oyl 1 15 C ey
wilod lgm L aS Slaj g 4o 0uaed 10l 0,5 Kdawh Ol (slaosly (Jlie opl g5 aF aiS o JVaZul (559200 g 490 g0 Cuwjoli g, (Slakos i
S o33l 15 JSD 90 4 g) ahex (f 53l JiSle Cale, b g e Sl (b KapaS o3P WS e 18
o L as Jloj b o9 0,55 a5 (Sloj im0y, a5 glo3 € praaltagh L €09, 00 0 51 lga b uled b (3lwo 235 ol o 31 0 € palig »
€ogy50 Gt 3 eaiS 85 ulas
(5235 S35 9 ol 4 53lae (T2t plaT ol 5 4T @108 JuoS (s5lpe 51521 b g SMelS alazr 93 41 g, Vb o0l alazr cosls gugisly cnl b
O el (a8 0,13 4 32 saen
(O0niS S8 15 S Jlte &y ey agie g a0 (6l Yl

Vitamin C is destroyed by heat, storage, or exposed to air.

o) 692 42 duien Yo .alad €XPOSed g s pul 9o, StOrage s heat wats cole, g5lpe sl w@len lia! frs (192 a5 y0b ales ol

S 50 ol 8 Jols alexr il g S (0 e 15 S 4 g alex
Vitamin C is destroyed by heat, storage, or exposure to air. Dges0 o 198 b oled b (gilwe u-d ol > 31 50 C psling

Kob b e ol a2l (5 gns algie 4y il (Ko ygy00 50 Ao b I 4y O jg0ny Jlisle wir 4 By a5 gaaegd el b e los
ol (pgind cllan Sl B s 9 25 slolte o5 o0 (S3190 s e ol (ol 0 45 5l . g Ao (Ko b o (Kan Ly o
1. There is evidence that vitamin C prevents heart disease, speeds wound healing, and helps gum disease.
S g0 oS @) (g kot 39240 41 9 S g0 Sy [y 035 Ll WS g0 (6559l (B Sbon S C (ealing oS (ol (gire )10 579 salyd
2. The Romans conquered, colonized, and governed much of the world.
50,5 CuagSo- LT a5 win 90 095 lanind 4 wio)S @b |y ez ks lasss,
3. He had finished the game, had taken a shower, and had eaten lunch by the time I got to house.

92 03)95 w8 |y (B)lali g 592 438,51y (Auligd w90 00,5 ples |y (AG3L o pitis; A5 4y (g0 a5 Gloj

4. Three young ladies were killed and were buried. A 30 ¢ 4TS g oy du

5. They wanted to paint the living room, to lay a new carpet, and to buy a new sofa.

3 dgar QbS5 AL gy waz JB S iy K ) eadts GU1 atulgs oo Ll
6. He likes swimming, dancing, and horseback riding. 3,18 Cawsgd 1) (5, g g a8, i gf
J> oloy 45 (a2ubiaw ,0 helps 5 speeds prevents Jas aw o Jle 55 oad Coley sjlpe slo il fadg5 @S a5 slaJlie ol s4en
riding , dancing Swimming & Jla 5 . yud ool 41838 ygdsb4w » governed 4 colonized conquered Jas 4w ¥ Jlo o7 .ok

03150 v & alox (5ilge i3l w0y 4. g prevention L prevented o jgoa; | Lo o3 Prevents Jasd a8l o .cy0il> dw o
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The Romans conquered, colonized, and governed much of the world.
025 35 ) AL 5] (dmy ol (et 3 Cprigiion 45 (y3on Lok 4y (Gl pllga (gdms (yg7r 150t 3 ales IS ]
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79, Example 1: Three such functions of money are usually specified, corresponding to the three basic needs

served by money — the need for medium of exchange, the need for a unit of account, and ................ .

1) need for a store of value 2) the need for a store of value
3) there is the need for a store of value 4) a store of value is also a need

4 5l Jobs alaulg 4 5L Vgl g0 00),114 J” (PP Qe UulLJ‘ JL_,J 4w b il 45 0o e -y,m J” 8,5 15 4 €1 4,38 :éulg E
(il 033 4y il g s aoly

ot it £g the need for @ Ly L Sy syz Lois o0 (1) 5413 s rt ligondd plos (Hi 15 S9ms0 (51055 s cians 3] o7 11500105 auirg
iy £, the need for al « &5 dig g slsy ;8 i g, S5 5l

79, Example 2: Kamal al-Mulk contributed a great deal to Iranian ......... . AT g puilys - MBA)
1) as a painter teaching and lecturing 2) painting, as a teacher and lecture
3) painting, teaching, and lecturing 4) painting, a teaching, and a lecture

Saai Lyl Nl (5 a0 g (pug )l 1 Al (0 (Glodes e SLaf) LS &TP w2 by
oy 2ol (1) s j5 daiid s il 4035 pguS ola Ul ot 3 oS ol lodiy 17 40 58l (g il30 il N 4y (glo )L Ls ciganlsS puaibed

O sl 4 edden baylisle 4k il Oy pes lecturing g teaching painting s>

8. Example 3: Yellowstone National Park’s attractions include the famous Old Faithful geyser, vast forests,
plentiful wildlife, and ......... .

(AY (g il )
1) campgrounds are maintained well 2) well-maintained campgrounds
3) campgrounds are well-maintained 4) maintains campgrounds well
S (sLoole3 ] g poiio iy Sl sy (slaJKiz o« Jgited ol By pee Hltis] Jold oyinlely o Sk sloailr ¥ w38 mly M

L a2l gl y Cdeo oS5 il g (B (sl g a0l o0lizi] o + ,‘...;IL‘._.I,‘J'/,..A‘_:,,/)'/Ug.i,and)'/,_.JLidL_’J/Ul,.i 1igpal)S pusgd

irths Sile sl dil o 5 0 fye o7 0y S8 (i iz (slaallis yo Ll sizr &S 4,38y (gilhe Lo 005 51 340 41 (a3 A pploiigen

38 e ;8 V> 5le ilipa slacd - mOT 4 for or yet but and p.aif S ogiol ) ladsles dayy By ibedilinh Sy By o (W10

O3l S5lye sl ecpdy e oo 43 (6L y but OF @Nd g 4) Byl b JESLL S

I enjoy the music of Iran and the art of Italy. Prse Sl LI 2 g ol ewga 5l (e
Vitamin supplements can be prepared naturally and synthetically.
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Large amounts of vitamin C can be bought in the form of crystals, or in the form of granules.
255 6yl alls JSS 4 b yel JSB 40 1 € el 0l polie olgicge

Children like going to the park and playing in there. 510 Cungod 1y LT o 50,5 (65b 9 Sk 4 5, nasy

In Columbus' Day, people believed that the Earth was square and that a person could fall off the edges.
S g ol (sladd ) ailei ge 9,8 aS) g Cunl 9,8 (yan 4T Widgs Alime 3 e ¢ ugealS 9, 50
That verb form is not active but passive. Casl Jgtmo AL Consd polan Jad o IS

He wanted to borrow a car or to rent one while his car was being repaired.

S 0yl 9,6 (23 (gredle ol e o 55 irble &' Gloj CunslgS e o

78, Example 4: Anthropologists assert that many of the early Native Americans who lived on the plains did
1
not engage in planting crops but to hunt, living primarily on buffalo meat. (AY (6 ol s - MBA)
2 3 4

..\_n.);u_u Q_G|)) 9 Culs ‘..\5.))5‘5» e_f..\.:) L » iy 4,],' el GLQ‘S_'_IS..{)AT )| G)L:.u..g iy ..\....5‘54; )LQ.H Lkuauub.al «Y'» A...)')? éu!l-"'

03,5 g0 (S Mligy cudgf L Touy 5 10 | asly
43l siloin planting L b 45 i in hunting & wi (1) (sai 548l GLuSs i sjlpo b5 lo Gubo wlbut jlun 5 fS L5 Lo 1610118 isgl

78 Example 5: The Chinese language is monosyllable and uninflectional. With a language so incapable of variation,

1 2
a literature cannot be produced which possesses the qualities we look for and admire in literary works.

3 4
. - . - . . . . - . . o/
@by Jold 45 3,5 3l (Sl Glg oo (o5 £95 iz b G 59 Sl (Bropd 5 (ke S5 G (S Ol P 4 Ewl
.MQTJL,JQAQ,M.S@M@QI)UT)QLAJ&Q
monosyllable i 3t] 55 3l (5 5lp0 Ml o pudo Jfog o0 45 and Sludlao L) Sy b &5 05l g0 o5 ilpe Ll gk qnl)S puaidgd
Gl /ol 45 oo S e j de Las 0,550 s &0 (il Lzl b ay 450 (o5 dnd b b 50 0l I o5 oo -4zio uninflectional _J; 4as]

xxo monosyllabic .z o s;lse uninflectional | a2 cio 4574 425 poismonosyllable wi lz> oy ity ooliz]

00 lge ol ol By o (ol oS g w135 Cetno posle g p3¥ Ly By y> 0,00,0 M ipg e g p3Y Sy By o (w0
Both ... and, either ... or, neither .... nor, not only .... but also ....

b oo but also ;5 am oly el DOt 0Dl 5 oy 451 ¢ Goolis Sjlie 43 b b (55lge Wb oy oo Juaie oo a3 Jayy gy ol b as gl sl
vor g 0by Jui oo bUL AISO 1 any w0l Jad a5 coly el

1. Both fruits and vegetables are rich sources of vitamin C. wized C oaliyg 28 aalio Slog s o g LRogas o
2.1 can neither speak nor read French. o3y ol o &5 i St (Gomidl P Gl s il g0
3. They went either to the park or to the cinema. Lo 4y b auzd, )L 4y b Ll

4. We were told to either reduce the staff or find new customers. or:
We were told either to reduce the staff or to find new customers.

bl oz slag e Jlis a5 aSul b (oS o5 Ty Gla iy b ol a2a8 Lo ay
5. The author not only wants fame but also wants money. (or The author wants not only fame but also money.)

o 12 o1 Sligz a8k Syt (ligx LS ot gl

Qb e ooyl Jus d€Ither 5l am ¥ Jlo 95 0ly goz meol oo AN 5 amy Gl s 0deg) 2oz ousl DOLh 51 oy spin oo ¥ Jlie 55 45 jgboiy g0
ceer 9 0ly Jud 02 NOT 3 0y
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Incorrect : This car is not only fast but also it is safe to drive.

Correct : This car is not only fast but also safe. sl yaz) 4Ly 93057 U5 & yuble
Incorrect : The trip to the city is neither a long one nor expensive.
Correct : The trip to the city is neither long nor expensive. s S8 & g Ygho & e 1l 4 i

Incorrect : Either you must stay home or go with us.
Correct : You must cither stay home or go with us. Salo bbb sste 4l P ubl lad

Sosansi Vi gl 97 )3 (a3 idagile 4 05 Layy U y> 4, o Whether ... 01'&,1;05.4.-3@9057
el s YU 0neld 5l dayy B> ol 45 a5l
We have to accept that they are part of our lives, whether we like it or not.
A 4 ety A Cangs dz aiten Lo S0 51 (o 25 LT o5 pde ol
Ot 095 Slgn pésigle (s -2 TIOE adagl OF 1 day azulyf 3 dlazr oagl WhEther 5l say 45 ageisf YU Jla &5
Ay dlaz ol gzl g0

9. Example 6: The study of parent~child interaction may involve videotaping the parent and child in their
home either as they go about their daily routine or ........cc.. . @D 5559

1) the researcher gives to them as an activity which is to perform

2) the activity they perform given to them by the researcher

3) as they perform an activity given to them by the researcher

4) which the researcher gives them to perform as an activity
($ta5 ol Jyit t Gl A5 S5t jo Wiy ally S aribey Jly cstety oL i mally s el > 56 gty

w183 aloxil diles )57 Jaoe Wl s oylRions 45§y | 2ullab do widly o\lS6 i,

i 33 CIREr I aw Wl s Ml o208 OF ] ey &5 ploig] ) ot oslizu] CUIRET I (i o3 poI 5 OF I J& (slo I oS :1520US Zuaded
il 02 OF  day g ol 00liz] aS jIEIther jf des adl jlisbs jgon b bl oo OF j/ das 39 003 £y, CIHET ;] uny 45 o)l 1o oS

V) g8 imy) 2y 20liz]as

s gtamiliie gla Jlolu b of oa (g

J.:...Athﬂn 985...38 (glauslis gla,ialu b ygjlae Jlzsla glas 5 5l &Ko (S

1. To be rich is better than to be poor. ROWR YRR S CTPIEROR OO
2. Taking the bus can be as costly as taking a plane. Al o) Laylan 030l 4y wilgs g0 ugags!

3. What I am doing now is harder than what I used to do.

Caal i pold g plodl A128E 13 45" am] 4 Capei @03 g planil Y] and]
Deing POOT 4 5,10 bE POGT 45 7,9 33 a3k csye 10 B POOT b sy 10 DETiCH ey o slit ThAD. 5 ) J 55 sivingo 45 om0
ylsa tAKINg | taking ¥ Jlta 55 0300 oo 44 dhozr (S3lpa JESlu qority i

8. Example 7: On an untimed test, to answer accurately is more important than ......... .

1) a quick finish 2) to finish quickly 3) finishing quickly 4) you finish quickly

o 1y 3ty 0 131 o o 588 ol 8185 il Copione 45 gl o €T3 4y oty BT
10 b jtuao 4580 finish b oy ity (fotir 5327 thaAN 510 b pluro 10 GNSWET ALy Cole) (s jlpo sl dpb (huylio (slajlisleo 37 s1caBUS Jndbg
AL ALd
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To learn is to understand the word. / What you see is what you get.

9. Example 8: It has been said by a celebrated person that to meet F. Scott Fitzgerald is ......c.eeens.. Of 8

stupid old woman with whom someone has left a diamond. (48 (5l - MBA)
1) thinking 2) about thinking 3) thinks 4) to think

o 5y iheg Ty ball g 45 Gl SBBAIS 3o g9 e a2 b lSaal 8y it «ppgpie pmsud oS 408 &) €F» 138 sty B

R LR

a3 faze oo 4 D fui b Sylee 3 45 4l clpo c5loy il ilnsye )15 51,55 uGaRlaS pandg
To acknowledge that one is an alcoholic is to take the first step to recovery.
43150 to think L ki to meet 4o e 4

tige Joo an o DUt yor and b o5 glojksl b allia b g7 4 o agae glojlisle g5 4 o uif 2590 3T 4255
fampono ) dlaz Lz oy o8 02l (gl S 285 4 4 F)lie 40 L 8l (s3lpe il Lo i3l
They wanted to paint the living room, lay a new carpet, and buy 2 new sofa.

23026 A2yl ) gyl e & e (5l g) 42,3 & B> Lomes il gl SN il 44 29850ly (s
35 A5 s CAsd e (o) g diid diws Ll dend sabolys IS8 alax cpf €isd 3o B, 9 diws Ll der
0dgs 5 JKa Lz 8 (@ Vls alan oy thiolo Lol rrad ob (oSOl g7 00D B> a2y ,54; €20A2D fab ol s

They wanted to paint the living room, to lay a new carpet, and to buy a new sofa.
He had finished the game, (had) taken a shower, and (had) eaten lunch by the time I got to house.

In Columbus' Day, people believed that the earth was square and (that) a person could fall
off the edges.

S Do 43y 4y g gl dm @4 g0 10 LSl g5 eeigs ga iz, iS4 had finished s had gr Jf S 5

4 Bl 0 Fee HUS,930 4T Sodly ARBDS A2y AL (0 Gio o2 030 dlaz 3590 )0 Sl (pan 05 Jglade (392
&4 Uido By7 4wl sliysS JLis ol o)z 0o M 45T Ly 2l mylen SIS 53lpe il b 4t plonil azy )3

ot plaf a2 5
LD 4 g o0 ) pheae Seadle g iy g3 By oSS Sl dlil By o alil peisgal Lova o) o 45wyl
o gagm 3L o7 2yl 3 w2l 0t plod a8 @ cid> Jlgi esd S Lu o7 a1 a8 S 4zl S i
plad 4 )3 4 Bl @b a1l o7 ayly @l oud plowil asy )8 4y Bi> (1090 (555 45T (WS b g sy plowit 48 4
2yl 515 aloz U 90 g ey 3200

Incorrect : They wanted to paint the living room, to lay a new carpet, and buy a new sofa.

Incorrect : They wanted to paint the living room, lay a new carpet, and to buy a new sofa.
Al 2B o ) Jle 4

Incorrect : Paula went to work, a restaurant, and to the movies.

Correct : Paula went to work, a restaurant, and the movies.
Correct :Paula went to work, to a restaurant, and to the movies.

) Lataos 4y g gy S oo 42 Yty
§ g esd B> a3 4 1O restaurant ofy &5 J> » 2ies Lol B & jle 10 WOTK (9> alale Jof Jlo
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72 Example 9: To impress a prospective employer, one should dress neatly, be prompt and displaying
1 2 3 4
interest in the job.

395 15 41 5 WS by 9> S8y e g Sre Sl b (et GSieanl sle)lS ol 15 sl coo jgliied P> anS gl
Ans ylas addle

be prompt Wi g wiis eolicu/should  So5 Jos jldress ;I J§ o 5 aiS ol 5, (F) 5 (V) sloay ;5 s/ ol 57 L iganl)S guudes
ot oeiS Sl a5 g, ShOUld iy o qouiiS 45 5b 500 Lol 430 should display o god po displaying 4 450 of,es should (
S et display « 5, displaying (F) 4y 35 57 4815 5 ous Sl aiy,5 4y Should (V) (o425 57 05 pouipi o

P2 3190 Jad ou suidilo ‘slamj}

72, 1- An interviewer can obtain a high response rate because people find it more difficult to turn down a

personal request for an interview ......... a written questionnaire. (3% (5l s - MBA)
1) than to throw away 2) to throw away than
3) than what they throw away as 4) rather than throwing away

72 2- To raise income, newspaper publishers must determine whether to increase the subscription price or

........ advertising. (g 4+ gyl MBA)
1) if they should sell 2) to sell 3) selling 4) sold

7. 3- The triple function of Bodiam Castle's moat was to be defensive, decorative, and ......... the

impression of impregnability. (Y 5wl - MBA)
1) double 2) to double 3) for doubling 4) to be double

a3 3190 Jhad o sisdinds slacu acliduwly })’

5t et delan (5l (635 Cenls o S 3y w0 y0 i 58 45 |y s e (6,5l ol iy 4y il g0 00T s Sy €10 35 )
o] Aol st 53 S 0,
yltuglio glo bzl ;0 isilpo JUolo 00,50 ) Jgo jI S 2ugaal)S puaded
Incorrect: Getting up in the morning is harder than to go to bed at night.
Correct: Getting up in the morning is harder than going to bed at night.
s TO TUIN .. oaly Jgnia g 0,05 (o5 s oo oolaul fINd 5 any 4 it woes ol o5 ally gnlg>

iy by (6 it Slinld b azes (235l ale STxal lar b s pronal sl oo dealyo (2al38] jolate 4y aslijg, oyl k5 €Yy a5 Y
Ay 00l 10 b juuae 5l v OF 5l amy duly ey 008 o3l 10 L joae 515 8 o5 5 OT 51 JI> sl 51 13 15000 5 zaded

(S licaS dislae pil g 1855 (o185 0,515 5l 09y & lie €S pliog? Fuis ailaw 8,5 IS €T a5 Y
o9l aws o iiwn t0 be defensive oo o and I LS sz il silpe Ll GiS Jog o 4 GNA Ly, Sy b a5 Ll g0 11620018 paadgT
(to be and ... to double) s to double & g0 Ll po
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% Ny prie Jol oS 01> Coanl (glpe JLitlu o3lail (g 4) 45 0,558 ppe rlis 1 a0 (S o e (0l 1Sy ly S 4 i)
IR ) S jgods 85 muigds 9y (el 5 dler it (ol o 5 sl Jgl Gee ) S
(subject) Jebb + (auxiliary) So5 Jad + (verb) Jas + (object) Joaio
95 «sg,ly JSb o yeals o g0 (INVETSION) (Kig)ly consy ol &2 45 00l (Sge Jelb g (KaS Job (sl2 g i3 ) oo & i 0l ol amy (g
0350 &) (Jlp sloalex
Jsere cdl>: You are using a computer.
g,y 1 Are you using a computer? €S s oolitl Faarals 51 LT
w0l (Sgly €95 9
(@ gono Sy a3)fge cnl 2 45) (SoF Jib 5 Jelb Sy -)
(Conss g bl alon (S ly 3 lga (il 5 45) Jad 5 Jelb (Sg)lg ¥
fSeS Jab g JoU Kigly
9 & Sigyly g9 ol ol Jebé 51 L3 (... g can should does do Jio) SoS Jad il SKgyly £45 cnl 95 cdaseiio (gl ool 1 4 5ol 90
4l o Jlosl & g0
epler Job 5l S a9 (SIS Jud 4815 5590 (] o tdatklin (KaF Jad
Jsexe cdl>: I will never again write on the wall.
33,15 : Never again will I write on the wall. gl oles (53 Hlerd (9, 0)lgo ,m e
oS 36 Jeli b gig sl 4 chariitn oS o S g i Wl (Ko o o Jlo ol 57 paaigd
S g0 ooliul did 5 does [0 (Ko Job jf calozr (loj b i gBlge yomtsl o5 1ot (atidio (KaF Jab ¥
Jsexe <> : The computer not only examines information but also performs logical operations.

Ss,ls - Not only does the computer examine information but also it performs logical operations.
383 ga alowl 33 ilare lles a5k WS ga gy |y Sl g5 & gepalS
oS 00liz AOES _iny (5] b cunslizo [KaS Job ] prigi g0 it €XAMINES aloz fo§ 92 Lol iesn jatiiio SaS fo§ Jlio ol 55 spasdsgd
Jeb g (KoS Jab (Sg)ly xS i i Vo 10,5 00 )90 (5592 a7 Jebb g (S5 b (SKgly Sl 5 (7 (s (Sigly @28 ol et b g
2y )lge 030 &)
Ay 9.5 OIS i 1y 1y O 31 oS3 b aloor 41 il
Slelaz 451 05 o 0aiS giio Shiee it ) 4 o 35 0n (s 55 o potie Jp oo e Sz 55 45 (it (gl 35 Syl (5 4
1) lge Jald o le cnl 51 ms cat plal (S fy ol 98 cndige 9,8 Sllie ol b oS sl
(o3l Bl s gy oS5 4y 5 00 28 0l glioneld Jadd (i daie> 9, o5 SLalS) (pdi o0 E90 MOt gOMIY L a5 Jlols' )

not, not once, not until, not before, not one, not often, not only, only, only after, only once, only then, only by chance,
only with difficulty, only by luck, only in this way, only today, only yesterday, only on rare occasions.



@ AR ol gl 5 5 g 5l 30 MBA paadi 3l )

Not only has she been late three times, she has also done no work. sl 00,55 0 (5,15 Sl el 03,57 133 b as LS &
Only rarely does an accident happen in this small town. IRCE PR I WD SLANTIPVER FIE CX ggviae
Only when she apologizes will I speak to her again. 2,5 wplg3 Cumo o)l ol b oS algs e a5 o Lo

Not until the Middle Ages did glass become a major construction material.
g oati Wl 51 g ko (Lol Slga 51 (S a2 o oy 495 6

73 Example 1: Not until Edward Jenner developed the first anti-smallpox serum in 1796 ......... against

this terrible disease. (AY (¢l s0 - MBA)
1) protection was 2) it was protected
3) protection was given 4) was there protection

3929 SUas 6 low ol Jlio jo  ibiblove ged S A2 1) all i p s s VWA Jlos 45 ¢2 3ol aSGT 5 s b €F9 438 sy
FIRY

A S S8 4285 g0 (F) iy ;5 97 a5 0,50 &0 (Kig ly b Ly oo o ol 9, ROL untild,/‘t,jb’.la.ijyé:l;ul;!z._gﬂﬂ
s DYOLECHION po fels g oS 4i ly WaAS lxi!

2. Example 2: .., the design feature of 'massively multiplayer online role-playing' and 'action real
time strategy' games also play an important role in developing communicative skills. (A0 (gl o - MBA)

1) Such games not provide only rich lexical environments

2) Rich lexical environments are not provided only such games
3) Not only do such games provide rich lexical environments

4) Such are games not only provided by rich lexical environments

Sk wjglse ol 8 sl Sy sladame Led & € ae (b oy STl g €ojtiniz (Nl (o BT 00 Glagsil €1 anS dly

S oo Lyl (L3 ) (Slaslgo dansgi 0 (soge (B &S witud (b sla Sy shils
Gy 45 Bl 423l (392085 37 B e 1oy A SloCund S g0 £y S 5l b 45 plouni M it B o 151018 pusdgd
g pomg it 3 NOL ONIY dalS"lo 43y 57 35 Uiy 157 Elpus oty 0 Yo o 50 5 WSO alS o o 45 sl couag] oSy S st
0oli8l dlols ROt ONLY s 52 00 )l ()15 9t (F) 9 (1) (slodss ;57 .45 o aolizwinot only ... (but) also L5l o)l bo Cuni 5.
e oS JSge SUCh games 3 d0 sl 5 45,5 g0 aly S b 435,550 Ky prrios il g oukog] oz Jy/nOE ORLY () (oaisi 5

sz 4y ;5 ot

2. Example 3: ......... with a light microscope, they also cannot be detected through their biological

activity, except as it occurs in conjunction with other organisms. (AF (5l - MBA)
1) Not only are viruses too small to be seen 2) Viruses are too small not only for seeing
3) Not only viruses are too small to be seen 4) To be seen viruses are not only too small

SSeistaet Called G | g 1y o] A5l i adeli B (5,58 S S b (3998 S5 bl 45545 L pug g €19 58 sl

Atay Gl Ko Slogzgety Cijgle o Cudlad ful a7 2By Ka ols autelS 595
0id ol AlSO jl oy o 45 Jigle 05 4 perice o2 9y Moz dold oy b oy 0D 903 S (Sl b aloz pi Sl 0] 57 16 1BISS Qaadgl
Slo g, Wb oo dihy 54 Cavyo lodiy 35 dan 37 NOt ORLY i oo g, 04y j5 oy oo 0,kii uo nOL OBy ... but also L5l
o ol 4 (F) g4 ;5 for seeing 4 oly 10 b juae b 100 SMall aw g2 i ,oli (1) o435 puiS Gloxiol 435 0, dly 4, (laSo
4y 5 90 40 (1) 5 (1) oo 4 ;56 g0 Yo e g 3l (sjlse po b golo Lzl Jd.{g/d.{.ajéu'notonly ... but also ooidS” 45 diws ol
() 2155 55 Lol domemor 4357l g 0000 &5 (1) 5445755 i b 00l & Syl 4i2j5" 30 40 35 LT poucicos il oy 4yt £9,5 MO 0Ny |

s 5 5al 47
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:ﬁjéwsé#_f
23 )oASuJLQJS olfj.ku).:fca )‘)3 omsﬂ;‘a QbL,.c o,ﬁgdﬁ)loﬁdﬁowsﬁq‘&z@ &ﬁnot,onlybd@'wﬁ05k
0565 S 30 (Sg)ly b (o9 alaz 43 05898 0135

never, never before, never again, no longer, no sooner, on no account, under no circumstance, nowhere, at no time, by
no means, seldom, barely, rarely, hardly.

Never have I seen such a film. plodsdi olid yuir 5,0
Under no circumstances are passengers permitted to open the doors. UL PR R PYRRKCHRUIPS (2 N | IO P RSP U
T Example 4: ......... returned to Earth than it seemed that women, too, had been smitten by an urge to fly.

1) The first intrepid male aviators safely and sooner 2) Safely and sooner had the first intrepid male aviators
3) Sooner than the first intrepid male aviators had safely = 4) No sooner had the first intrepid male aviators safely

5891 63,5 o 05500 30,5 3la s (6l 505 (U5 Sy a5 4y Q2T 5L ) Ay Cuadls g Eloxd 850 ULIS (gl aSl ae 4 «FR 4 F Rl
had 5 48,5 & jp0 al amemo 4355 an all 428,5 Ojp0 Ky ly 45T ey dipodlar odiiSEg 3 NO SOONEY (F) cdiy;iS o5 :1GHl)S puaagl
the first intrepid male aviators ;I L3 iz o Jols ;I fu5 octoy]

4 4olS b 4w opl . s NCItheEr g NOT SO SladS b Jobb 5 (Ko Jad Kig)ly sloo 5 5l afs S mneither g nor o b Sy 0y —w
S gzt 9y B o 0ol 850 Sjp0 ar )10 100 S 0L g, Ll Sl aSul ady )0 358 e o) 41 (g (R Geiaren (Sae

Cudo dlos + S0 + Cudo Ko5 b + Jeld

Mary can dance beautifully, and so can her sister. by ol Ailgi e o ,0ls3 .l ol 4 SilgT e (50
A: T have lost their address. B: So have I. oo (s tB ples S (S, il e ol (e tA
He wants the best for his country, so did Hitler. D91 9birmad o e ol o (b,9dS Glp |y i e o

0o/ oS ozl SO I b JsShus it ot ke sSiap Sl b dhaz iyl o 35 S o 3y loSlio ules Sy Anly 5T 5 sgmid
o2 5, 90 daz (Ko5 fad o fol dlaz (Ko5 Job b canliio Ly 00K Oygo Ky ly Wb Y 43 S digi g0 g @Jl,:.é/s{alfamj/‘tf‘;and
oz Jeeo ] 7 g Jlto Lol oo 7 (g fly 5 020 ey SO jl s o0 5 piS s0 (25 5) ) epitean CON 3l dhozr (Ko oS (52 oo jlar oo
092 S se oS gl oz 4 ol 90 5 (99 50T JaS Wb Yoo i8S o 00liz] SO sdiite (ypedlor (52 5 sl s plun dite Lo

oS frad Al 4 b 5, dO 505 Cummio 42805550 40 91 o dad (32 Sy ABLAO g b b Ko S AT WANLS alox  fad

78 Example 5: As temperatures rise, ..............., suggesting climate change will lead to millions of extra

offences in the coming decades. (A 5 559)
1) and crimes rate do too 2) so do crime rates
3) crime rates do rise as well 4) as well as crime rate
ST sloans 15 %00 S lagygales 4y 2xie el i o5 ol Gl 5| S Cal Ay g0 I3 iz g pr 25 dos (RlEL €V 58 sl
w33,8 aalys

AL, S y00  Sigls (V) 5435 57 S s plocil Sigsly SO Gl osliiwl b pigi o pug dinto bo Jof ddox : 160018 graiagy

okes 25 95 95 3 M SIS e 08 L b 90 (ol oyt METEHET 5 NOT Cagi a2l o g

i alox + meither / nor + cule (KoS Jod + Jold

1. T have never seen her since then, nor do I expect to see her again. it 0,190 |, ol a5 i o Uil g plouai |y ol ey 4y 1 )
2. She has not finished the assignment yet, and neither have L. g cmed 55 e 503,55 pled 928 |, (AU of
LTOT jl meipige JpSiots b o Lo ) alo 5 Y g oo Yo oyl siio oo ala g oy oslisalMEVET S1(1) Jio 55 paairgd
neither sl jl ue 5 duiio pals) dhaz oy 4o19,5 00lizul has not /() Jio 55 .0, 5 &9 gyl b 45 0o Lidns puiS oolizu/neither

Ah)S Sygo (Kl 5 ooy
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8. Example 6: Jung and Myers were not the first to observe personality types, ......cecereenmeennc. about a typology
of awareness. OF 559
1) neither Jung was the first to write 2) nor was Jung the first to write
3) neither did Jung first write 4) nor Jung did first write

atigi AT ililipgi 8)5a b &S Nga ‘5,530,1,14'4{,;,@.&;01,.5@&.:.4&_Jm,g@plag,lmu,;ne«»mj:&ugm
L €S gz 0 puts plonil ([Sig)ly pd iy g S oSlizuol EIthEY L NOP I f3S iy il ds ipi oo g i Lo fyf ddos 1130008 2puibpd
St 5 Al 485 g i ly i Sl 2 9 L ety b Y NS BB 48 i o Lxl By i g8 mOT 4 neither
peiSige oG gl dhor 4 <0 b & 42)S S ppe0 (Kl 90 2§ AT (1) 5 (V) S48 50 disapn 3imydli 30 48y 42455 Sppa (F) 5 (1)

oeatno (V) gdis ;8 o 23 (gl 9o )il U adl (gipb sat o Lo pgo dlaz il Yi> 5 ... Were not the first 1o observe «if

LVEL OO0 NV PR VRO L = BN PP g - I either ;inor L 4 neither 3 sslivul sl> 4 P :0,.»3‘[ asi '
e e +  gdis alox + either

1. T haven't seen the movie and my brother hasn't either. o oty g plosi | pld oF oo
2. A: I can't swim. B: I can'teither. o (o= oS L il pad 1y -

3. My roommate has not gone, and I have not either. Al i i e g Cad 423 ol ililen
CAN't A1) Jo 57 oo, s5izol CHRET i oy 3o 5 dlae yTHASHE 5 ff o 7 h1VER't (1) Jita 5 rppsin?
bay Yo o b 4o suly Yo drmo Sl et ob ages dhar 37 4 g0 0Oizl €HRET j1 oy dedto g 5 o/ dhoz 7
josiss MOP g meither

1. I haven't seen the movie, nor has my brother.
2. A: I can't swim. B: Norcan Il
3. My roommate has not gone, nor have I.

0 + adjective / adverb + that ke b Riglsm
st 930l (a8 gy 9 Bl (l ol o5 Gaiol Adie JaTpe YU bl 4 Jol g (SaST Jab (Sg )y pg £l
Her business was so successful that Mary was able to retire at the age of 50.
09 tifly (S B0 ppu 43 el gl 4 0 JuslicdBpe u80] (650 I g S
0ad plovt Sy g dlax> ol w)las g, SO SUCCESSTUL lia ya0s 55 451> 5
So successful was her business that Mary was able to retire at the age of 50.
ks £y (Kiaslg Al eyl alox fol 50 adjective / adverb a81as ab ol fa0s 5200 (sedsls s a5
Sgw Golu Should § o os das S & Jilojuu d
ara a3l should 51if gl 4y (b )t CHlan 5 oy ae

Should you need the information, it will be in the computer. Wit Jauals 0 Wil 2dls i cledbl 4 ST
Should you wish to use the internet, there is a code available. ol 392rpe (685 S ool iyl | denlys- ga ST
V8. EXAMPIE 72 wereerererversennew $0 MoVE from a project manager position to a senior project manager, it may be
necessary for them to complete some form of project management certification. (4F - 15559)
1) Did a person want 2) Had a person wanted
3) Should a person want 4) A person who wants

035y 835 Capde (B 5 Iyde By il ey 00 25a0 e Cunlge & 254y pde Cualge 3l anlyiy 80 G ST €Y L35 Rl 7|
s g 37 32 oy A Mo Mo e alar sing] oz Sy il i (1) 5443 57 peSige i 1 0SS usaBlaS puaid
Ayl 138 il oy i oyt E87 (lopd 4l iy seitog] dhoz Syl B 9 4es)3li (F) (it;S sl (1) (54038 4oy M Sl 2eadle

e <oz if fto L 5,30 19kl 57 SHOUI 45" 5128 il oo (1) (5431387 05 (5L may e necessary ojpoq by olyz 57
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S 5 51 Y goso Kig g Lois! 45 0390 £ 5 Kigsfg 3w than gas jam—o
(oS 283 5 Jle dy 20,5 (g Cudo Sme o7 9, than g as
City dwellers have a higher death rate than country people.
s 55Vl yrageS yo £ esbedibing 41 o et gt
i 02 (6 9kt peigi o0 & @S (Slanglio (G0d o)l Lons o7 oy
City dwellers have a higher death rate than country people do.
s pldl 08 (Sg )y peigi oo oS (o0 Lt V>
City dwellers have a higher death rate than do country people.
Research shows that parents watch more television than their children.

S g0 LiLeS (391500l (Laglaaze 5l iy cpally &5 dms g0 (LAS 305
Research shows that parents watch more television than their children do.
Research shows that parents watch more television than do their children.
ey plonil (Sg)ly peigi oo 5588 L (Fo @t
He was very religious, as were his friends. Oy srpde jln Eilisgd sisle gf
He was very religious, as his friends were.
The cake was excellent, as was the coffee. D1 e 058 Jio np S5

The cake was excellent, as the coffee was.

2. Example 8: The dominant salt in Death Valley is halite, or sodium chloride, but other salts, mostly

carbonates and sulfates, also cause prying and wedging, ......... (1 sl s - MBA)
1) and ordinary ice too 2) and ordinary ice does
3) as does ordinary ice 4) as well as ordinary ice

sl sl oop Sligu g by S ;K00 slacSias Ll sl 0I5 pavs b udle (5 50 0,0) (Jg 0 09290 Sead 0 gl «¥P 4y @Q
g en (Jgere fu &5 jelailen Wigd oo S5 g b
00l 7y (g ly (w0 4 g doero (1) (s 35 1aD0 dogles siGRol)S ZLd9T

Ol 9 ol howsl 1 4555k g0m dlo Jab g Jolb (Sigly Cugi Yo 020,555 (oS Jab g Jolb (Sig)ly cuand 1)l g b Sig s
dtan 3 lsn cal 5 (Sinly 45 atl axils B3 g (st &5 5 a3k oY Al Job 45 (byh @y il ol Jobb I LS @ aler Job b (Sigls £
il o BT 5 dlpd 50 (Sgls 98 Cnl s (5 L]
100385 o o D dhoor S &5 ile 3 Logad) 23 el g yie 99 3 sy

in the corner of, in front of, under, at the, in, on, among, of, there, here, along, away ...
e ol aloz 3T lSKe 0.3 Ygone
I sat on a sofa. s 4L (59, 00
On asofa sat I. oy plonl (Kig)ls 1,58 ol alex Jol (0N @ 502 L)) Ko o3 451 Yl

Jgere Jl> 1 A mat was under the entrance door.
59,15 : Under the entrance door was a mat. D9 (69939 10 pj SgS % S
Jseas cJl>: One of the biggest men I have ever seen was lying under a tree.
S3s,l: Under a tree was lying one of the biggest men I have ever seen.

D91 00,88 300 iplonsd J- 4 5 e a5 Jloje o0 555 51 SG S0 ) 50
Jgeas cJl>: My parents were among those invited.
Ss,ls Among those invited were my parents. Aidgy 0 aged ol il alex 31 e cpally
Jsexe <Jl>: A table was in the middle of the room on which stood a lamp.

sSg,lg: In the middle of the room was a table on which stood a lamp.

o9 48,8 3 iz ol 69 2 45 Cudl )8 (55ee plails Loy 0
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72 Example 9: Most of these towns boasted at least one major flat-topped mound on which ..............
(1% gl - MBA)

1) stood a temple that contained a sacred flame

2) a sacred flame in a temple contained and stood

3) a temple stood that contained a sacred flame

4) there stood a temple with a sacred flame that contained it

c..&l.))lﬁw.xi.ad.-_bL3‘SM‘UT‘S,));Jml;@g,%&lﬁLbb)@,&uﬂM «\» 4...3;:@0‘%
o (1) saissS oy ity plomeil Joab g ol o Kigly wl Los] dolyz ool S iy apeiS g0 s 5% (5% 3) 25 5 216201)S gudsgl
dey Lol cdyidnio o 5085 . (s9l> sino 4y COMEAIN a3 45 diws,ol LS5 yul 4 (V) (gdiy iS5 (dipsn (595K 505 Lid> 4, 0N which stood/ sat 3l

39 =2l ey bris] Sy adog o [T that contained g ae>yo bxiy! o temple a5 aiw,oli LS> ol 40 (F) (54555 0dagei  Jondo geats Jas ol i/

ol ol 45" s0lz8] alols 5
R juuw Juad ouk sisdinlo sumj
72 1- Only after I signed the agreement .........ce.eeeee that they had deceived me. (AY (545 Sisjaia)
1) I realized 2) did I realize 3) I would realize 4) that I realized
W 2- veeereene the image of patriarchy as violence practiced by men and by male-dominated organizations
against women. @AY 5,559
1) Central to this analysis is 2) Central is the analysis of
3) This analysis is central of 4) There is central analysis that
72 3- Deep in the Rio Bec area of Mexico's Yucatan Peninsula ......... . (1) 5 yusl s - MBA)
1) a 1,250-year-old pyramid lie 2) lies a 1,250-year-old pyramid
3) is a 1,250-year-old pyramid lying 4) does a 1,250-year-old pyramid lie
72, 4- Not until a monkey is several years old ......... to exhibit signs of independence from its mother.
A+ 5 AY g il - MBA)
1) it begins 2) and begin 3) beginning 4) does it begin

o o o hisdiuds (5l cund mt:iwl;ﬁ

Alools b 1y cpe a5 pad dgie lo,18 0 Shaal 5l awy Lgas «Y» aiy 35 )
p2ls (Kigly (V) an3S g5 Jaid 0K ©j90 Ky ly Wb 0sd £9,2 ONly after L Lo alox 52 160008 Zpde?

el 2235 15 (65 adde pr Ylssye SlaplS ) g (150 dawgi oad Jlael (gts (lgie dy (5,YLud p0 ) (S 95 (guyp ) Sy yd €I 45T Y
Aoezes (V) Gu 0p8es Ojgo (Kgly cadls dlon a5 0aniS 89,8 Cio 4y oy pgaolyS zuagl

S)15 0929 Al VYO py0 S K580 B gs 0,52 and 40 S, 4>l Glas) jo «Tr aiy iFY

Ryl (F) 5 () (V) sloans 57 Gy el 5 Jad (Sg)ly sl 0,50 jp0 (Sig)ly ol dlozr &y Jol o 4y <8y o 62008 pudgd

WS ai T Ghyobe 51 Ml @5Nle 595 gt allus diz gepe a5 o b5 €Fr a5 ¥
Ao (F) Jadd uy 4y plol (g jly asly g cokagl alax Jol NOL UNtil spgp0lsS zuagr
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« (Complementary Points) (Jwosd O »

Falite oo L 3Ll (50,8 Blod 4 Jy (rah &2 dend (e 4T (ks 4lS (G0 41 (oSSl 5 57 S o7 9, S g e o 9 (eSS SIS
P9 oo b gy SlalS ol lr Lan SVl 55 Gl 9 adue Gllbgls (o8 0w Sely Calid (LI 4 SLlS cnl & (Hgone oo S5 (b
Dy 9y Qb Jl o 9590 (nl 13 (g 516 05 Lo 4y 9, SlalS (l mlys o0 5 () 95 08 Lo 105 50
&9 ok vae b atan percent .ol 53 wp b 50,5 Blda bl s wops Jee 4 o5dlge ,a fpercentage g percent o)
.10 percentage 4 10 percent .5 oo wuo 0 10 0.5 walase 451 oles sae | 23y g percentage
15 percent of the population voted.
A high percentage of students.

7%, Example 1: From 1965 to 1988, spending on food in the United States climbed 46 percent. But over that

same period, spending on food to be consumed at home-purchased mainly from supermarkets-grew ......
(A% (5ymlm - MBA)

1) up to as many as only 20 in percentage 2) only 20 in percentage terms
3) by only 20 percent 4) for as many as 20 percentage

b dauije z5le 000 e jo Lol .cdly 2ul38) o jo BF coaseie <YL o 132 | Jag e 7)ok VA Lo 14RO Jlu 5l € 458 thwls
2l SRl as s Yo s (b ge 55l < o jpgw 5l Boee 4) ails ;0 oud b pae (glid
syl (Koo (F) 5 (1) 5 (1) sloasy ;5w 0lod sue L percentage .S :igpol)S 2497

lay g lie Y

lend o0 Jotme om0l Jyrao il (s g 40j¥ (0092 008l (00l 3,0 eoap) L€ Jad

John lies on his bed for a few minutes after lunch. QLS g0 30 (I3 (59, ARBs Az e 4y ol B o 5l e ol
Thb 4xgi 3y90 (L 45 diren auly adis (pge (IS 4ty oolizud 45 (1ENSE) Jloj 1 55 (197 cArmalSSl (loJnd (2 yi0acligr 51 (Ko Job o]
S bai g halise JI Lano iy Jle iz b o, Ghilisee slacdlo jiius <Yl

lie —=* 5 Don't lie in the sun. OS5 38 olesT gel>
lay LN Mary lay on the sofa all yesterday. DS 310 allS 59, 1) 3900 b slam pled (50

lain—229** 5 The watch had lain unnoticed for several days before I found it.
g 03l (100 (59 D9l Az gie (oS ATl (39 9y e S Gty (e Scnl 1 S el
lying — bt IS A man was lying injured in the street after the accident
gy 0alzdl LS 40 g e wdolal | s (59,0
lie Joab Jto s o Jod cpl ddue oo Jogme 9 5lu Josio (Boay il ey 9 drdae (RIS 055 (3,8 1,0 0,208 (ols )3  ee a) lay Jod
O T 4 Jed cpl s (gl petul «ztdE walu slacdl> ol acl

lay —= 5 Don't lay your hand on my shoulder. S5 e il (g9, 1) cams
Jaid —£2 Mary laid her son on his bed. D)5 310 A5G oy 1y S S0

laid —£2*9** 5 The hen has laid six eggs this week. el L3NS 055 i i o) 0 0
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72 Example 2: One type of Australian frog lies up to 25 eggs at a time and then swallows them for

protection. 1 2 3
4 (A (gl s - MBA)

And oo 508 1) byl acdiblone (sl dmy g 8,108 o Cugh 2 40 035 YO I Gty ol )Tl 42l 68 £05 5 €Y 4-1;(5-""%

1ol ek 1AYS s gig) ol oY Ja8 (1) disjS giliS Lol by gunio JuS &y (2liS il g dlpnio Jlius Soygo 57 25 €S H1GIOYS guirgd

traise grise =Y

25 O jgeoty Jab ol Cilises SIS 0lg5- gad Jgnio 9 403¥ (038l (ljl el YU (iasa) KiSE Jad

rise—=* 5 The temperature rises this afternoon. oo Gl ol 5o onl Las
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7% Example 3: The value of the dollar declines as the rate of inflation raises (AY 5l - MBA)
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The tree lost its leaves when the wheather became cold. A8 Caad 51, 095 (ST S 40 i 8 5u T52 45 e
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It's a nice day. ool (995 39,

9. Example 4: As science gets closer to the intersection of biology and creativity, ......... we consider to be

the essential qualities that make art unique. QY 5,559)
1) its worth to ponder what 2) its worth is to ponder that
3) it’s worth pondering what 4) it’s worthy pondering that
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I see you as a kind person. pitige Olste 50y ) ok (e
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The aircraft were identified as American. divgy gl yel lalaglsn
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The problem is considered serious. Lo (g JSoa

7. Example 5: A new sensibility, which viewed animals and wild nature ............... and preserved,
replaced the old adversarial relationship. (40 (5,59)

1) being respected 2) respected 3) to be respected things  4) as things to be respected
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He has a large amount of money. S gl Jw
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We left before the beginning of act three.
We left before the beginning of the third act. )8 S i Tl mge g00 1 £ayd 3 i Lo
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9. Example 6: Flight nineteen from Shiraz and Mashhad is now arriving at ........... (AF (5 - MBA)
1) gate two 2) the gate two 3) the two gate 4) second gate
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He is studying hard so that he can pass his exams. Dgd Jgad (BIlleial 45 ailgss B aiS o anlllae e 4y
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He borrowed the money so that he could finish his education. A5 pled 1) (25 Maans Wilgny 58,5 (5,3 gy (5o g
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The police have taken new security measures to control the situation.
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72 Example 7: The tiger heard the splashing, rolled into ambush position, and crouched down in the grass...
(A gyl o - MBA)

1) to ready itself for the attack. 2) to ready itself and attacked.
3) made itself ready for the attack. 4) readied itself for the attack.
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To develop more accurate population forecasts, demographers would have to know a great deal more than they do
now about the social and economic determinants of fertility.
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Demographers, to develop more accurate population forecasts, would have to know a great deal more than they do
now about the social and economic determinants of fertility.
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2. Example 8: The glow from an actual black hole is too faint to see, so ......... , physicists have built

artificial black holes using quantum mechanical fluids. (AF sl - MBA)
1) they look for evidence 2) evidence to look for
3) evidence is looked for when 4) to look for evidence
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I am 30./ My brother is 30. be + number -\
I am 30 years old. / My father is 60 years old. be + number + years old -v
He is 30 years of age. / She is 16 years of age. be + number + years of age -v
72 Example 9: Homing pigeons are placed in a training program from about the time they are ......... .
(4F (g il - MBA)
1) twenty-eight days of age 2) twenty-eight days aged
3) aging twenty-eight days 4) as old as are twenty-eight days
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72 1- In contrast to instinct theories, social learning theories view aggression ............. AY 64D Suysda)
1) behavior as to learn 2) to learn behavior 3) for behavior learned 4) as a learned behavior

2. 2- People are eager to accept incontrovertible what is as printed, assuming quite without foundation
1 2
that anything printed has bona fide antecedents.
3 4
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View / regard sth as sth
The law should be viewed as a way of meeting certain social goals.
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... view aggression as a learned ....

ol oa Bl 45 azsl 184S A uS 0 oy bl LIS 5 wilglite 00t Gl & (5327 sz 5 D97 L 4 poye €1 3T Y
Byl0 ey Galges

Accept/view sth as sth o Jlie )8 4y ... g View xegard accept o ,,\S :ga0lsS guagr
&S .35 accept what is printed as incontrovertible 4 (V) au ¥ Wb ol plo




	گرامر کنکور ام‌بی‌ای به سبکی دیگر
	زبان تخصصی MBA
	گرامر کنکور0 MBA به سبکی دیگر
	MBA
	f1
	f2
	f3
	f4
	f5
	f6
	f7
	f8
	f9
	f10
	f11
	f12
	f13
	f14





